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RREHE)=&Ed [FHKRECHA) %[44 FH) | JAL/JTA[JTA/RAC 21,600 63% 65% | +:23,000, H:21,200 26,500 — 25,000
Ea% |8 (%) [JTA/RAC[JAL/JTA 22,300 62% 64% 1,600, H:24,400 26,300 — 26,700
HR(CRE) =618 |RRCHE) %[ F8 G5) [JAL/JTA[JTA/RAC 20,700 68% 69% 22,900, H:21,200 26,800 — 25,000
[RBR (BI78) | JAL JTA 28,300 60% 62% 30,500, H:28,100 32,500 — 30,900
AiEHE [ GE) [JTA/RAC|JAL/JTA 22,300 65% 67% 1,600, H:24,200 26,300 — 26,700
KR (FFH) =% B | KB (7 56 [ RE CRE) | JAL JAL 25,700 60% 62% |&+:28.800, H:27,200 32,000 — 30,800
HIRFFR) | JAL JAL 26,800 57% 60% | & +:29,100 30,700 — 29,100
ZERR [RERCHE)| JAL JAL 27,300 57% 60% | A%:27,700, +:26,600, H:30,400 31,800 — 34,400
HIRFFR) |  JAL JAL 26,800 57% 60% 8,900 28,400 — 30,800
KBx (BE7E) =% i3 | KBx (BTE) R CRA) | JAL JAL 25,700 60% 62% 28,800, H:27,200 32,000 — 30,800
HIRFFR) |  JAL JAL 26,800 57% 60% 29,100 30,700 — 29,100
ZERR [RERCHE)| JAL JAL 27,300 57% 60% ¥:27,700, £:26,600, H:30,400 31,800 — 34,400
HIRFFR) |  JAL JAL 26,800 57% 60% | H:28,900 28,400 — 30,800
K (5 =fEJI | KPR (R FH) 5| B CRE) | JAL JAL 26,000 58% 61% | H:24,600 33,000 — 28,700
BIIF [FREFECHHE)| JAL JAL 26,000 58% 61% 31,400 — 33,000
Kz (B8#) =hEJII | KPR (B97E) 5| B CHE) | JAL JAL 26,000 58% 61% | H:24,600 33,000 — 28,700
BIIFE [REFECHHE)| JAL JAL 26,000 58% 61% 31,400 — 33,000
K (7 =8IE% | ABR (B FH) 5| BECHE) | JAL JAL 24,400 60% 63% | +:26,000, H:25,600 28,800 — 29,200
SR [RFCHE)| JAL JAL 24,800 60% 62% | A:26,000. %::26,800, 1:25,600. H:28,400 29,600 — 29,600
Kz (BE7) =HIE% | ABR (B97E) 5| BR CHEH) | JAL JAL 24,400 60% 63% 5’:‘1:26,000 H:25,600 28,800 — 29,200
SR [RRCHE)| JAL JAL 24,800 60% 62% | A:26,000, & +:25.600, H:28,400 29,600 — 29,600
KR () =G | AR (PP | BRECHE) | JAL JAL 27,200 55% 58% | H:27.600, &: £:26,400, H:29,200 30,400 — 32,000
wEE |[EE(CRE)| JAL JAL 27,200 55% 58% | A:28,400. % 9,600, H:28,800 33,300 — 31,200
Kz (B#) = /5 | ABR (B97E) 5| BR CHHE) | JAL JAL 27,200 55% 58% | H:27,600, 4 6,400, H:29,200 30,400 — 32,000
HIEFE |[RECHE)| JAL JAL 27,200 55% 58% | A:28,400, £:29,600. H:28,800 33,300 — 31,200
KR (7} =B | ABR (P | BE CHE) | JAL JAL 22,700 58% 61% |&H:25, eoo 125 100 27,200 — 27,600
BEER [RECHE)| JAL JAL 24,400 55% 58% | A:25,500, %£:25,100, H:28,700 27,300 — 30,300
Kz (BE#) =B | ABR (B97E) 5| BR CHEH) | JAL JAL 22,700 58% 61% |€H:25,600, 1:25,100 27,200 — 27,600
BHEEH [RECHE)| JAL JAL 24,400 55% 58% | :25,500, £:25,100, H:28,700 27,300 — 30,300
KB (5 = 7(5&(1?&3})% RECHHE) | JAL JAL 21,400 59% 62% | H:21,000 21,000 — 21,000
HACRE) | JAL JAL 22,200 57% 61% 7&% 23,400, H:23,000 23,500 — 23,000
KR (BiFE) ==iR tﬂﬁ(ﬂéﬁ)% RECHEA)| JAL JAL 21,400 59% 62% | H:21,000 21,000 — 21,000
R |[EECHE)| JAL JAL 22,200 57% 61% | A#:23,400, H:23,000 23,500 — 23,000
KR (1) =R Mri(ﬁﬂ)% HE JAC JAC 15,100 52% 54% | K& +:15,600 17,900 — 17,500
[ETES 3 JAC JAC 15,600 50% 52% |4 ,000 18,400 — 17,900
KR () =8F5 | KREFDE| BES JAL JAC 19,200 51% 54% |4 ,600, H:20,100 22,200 — 21,900
BYEHX | BRS JAC JAL 19,600 50% 53% |£:20,300, H:21,000 21,800 — 22,300
KR () =2 | ABRGRFD | $#GR#EH) | JAL |JTA/RAC 20,400 61% 63% |&+:22,600 24,500 — 23,000
Ea%E |48 (%) [JTA/RAC]  JAL 19,100 63% 65% 21,600 — 25,000
Kz (BfE) == | ABR (B978) 5|48 (FBFR) | JTA |JTA/RAC 20,400 61% 63% 24,500 — 23,000
Eo% BB [JTA/RAC] JTA 19,100 63% 65% 21,600 — 25,000
K () =R1E | KRGRFD | $#GB#EH) | JAL |JTA/RAC 19,300 66% 68% 24,500 — 23,000
FiEH |44 GER8H) [JTA/RAC|  JAL 18,000 69% 70% 21,000 — 25,000
Kz (Bd) =R1E | ABR(B9F) 5|48 (FBFR) | JTA |JTA/RAC 19,300 66% 68% 24,500 — 23,000
RiEF |48 GRH) [JTA/RAC|  JTA 18,000 69% 70% 21,000 — 25,000
ZEE (hE) =% 5l | & E (&) 2[R FH TR | JAL JAL 27,900 52% 56% , 30,900 — 29,100
| Z@al% [URGTE| JAL JAL 28,300 52% 55% 28,900, £:28,800, £:27,700, H:31,400 29,600 — 33,500
Z2EER(PH) ==& |2aEPM @ @H)| JTA [JTA/RAC 21,400 62% 64% £:23900 26,900 — 25,000
Ea% |48 (%) [JTA/RAC]  JTA 21,300 62% 64% 20,000, H:23,100 24,300 — 26,900
2EE (P =RiE|£&EGMEFEGH)| JTA [JTA/RAC 21,400 65% 67% £:23900 26,900 — 25,000
AiEH @ GEE) [JTA/RAC]  JTA 20,800 66% 68% | 4:21,300, :19,500. H:22,600 24,300 — 26,900
AL G =/MA[ARFFR) 2[R/ CRE) | JAL JAL 25,300 54% 58% 28,900 — 33,000
MRFE  [RRCHE)| JAL JAL 24,400 56% 59% | +:25,300, H:25,000 32,300 — 28,200
R F TR =meeRE ARG TR %R CAE) | JAL JAL 27,600 56% 50% | +:28,400, H:30,800 30,800 — 32,200
FaftEES |RECHE)|  JAL JAL 26,800 57% 60% 4 £:30,400., H:27,600 32,700 — 29,200
AL G Fa%) =R FEFR) 2|/ CRE) | JAL JAL 25,600 60% 62% |4 ,800, H:27,300 28,300 — 30,500
FELFE  |[RFECHE)| JAL JAL 24,200 62% 64% |7 8,000, +:27,300, H:24,000 30,300 — 26,400
ARG TR =LB[AREFEFR E|[R/ACARE)| JAL JAL 26,800 58% 61% & 7,000, H:27,800 29,000 — 30,800
L% |[RRCHE)| JAL JAL 25,700 60% 63% | A:26,500, %::30,200, 1:28,600. H:26,100 32,200 — 27,700
R EF TR =LOFH[ ARG TR %R CAE) | JAL JAL 26,800 61% 63% | 4::27,400, 1:26,000. H:29,600 29,500 — 32,600
WOFEHE |RECHHE) | JAL JAL 25,200 63% 65% 4 . H:24,200 31,300 — 26,600
ARG TR =HEARFETR E|[R/ACAA)| JAL JAL 27,600 57% 60% & . £:27,200 33,900 — 36,900
HEX |[HRCHAE)| JAL JAL 26,000 60% 62% 426,500, % F 20,500, H:26,700 35,700 — 32,400
ARG T =EES[ARFETR E|[/ACAA)| JAL JAL 25,500 60% 62% | 1:25,700. H:28,700 30,100 — 33,900
mEH |[RRCHE)| JAL JAL 24,600 61% 63% | A:25,400, %:28,800, 1:27,800. H:24,900 32,700 — 28,900
IR TmR) == [ARETFR 2| /ACRE) |  JAL JAL 27,000 57% 60% | 4:28,400., 1:26,400. H:29,600 31,300 — 33,600
=% [RRCHE| JAL JAL 26,200 58% 61% |%::30,500, 1:29,300 33,900 — 29,400
ARG TR =mM|[ARFEFR E|[/ACRE) |  JAL JAL 26,200 60% 62% | %::27,600 5,800, H:30,800 32,400 — 36,100
=A% |[ERCHE)| JAL JAL 26,200 60% 62% | %:31,500 9,100, H:25,400 34,200 — 30,600
ALIE G F %) =LA EFFR) 2[R/ CRE) | JAL JAL 26,800 59% 62% |4::29,000, 1:26,400. H:30,600 33,600 — 33,600
MlF  [RRRCHE)| JAL JAL 27,200 58% 61% |%::30,300 9,100, H:28,000 33,300 — 31,800
ARFFR) =AM ARFFR) H([/ACAE) | JAL JAL 27,000 62% 64% | 4::28,400 6,600, H:29,700 33,400 — 36,400
A [FRRECHE)| JAL JAL 27,800 60% 63% | 2:31,000, 1:29,200, H:25,400 36,800 — 30,700
ARG FmR) =Ko [ARFEFR) 2| /ACAE) | JAL JAL 28,400 59% 61% [%:29,800, H:32,100 32,700 — 36,600
4 R CHED | JAL JAL 28,500 59% 61% | A:29,300, £:32,200, +:31,600, H:28,800 35,000 — 31,600
ARG TR =RB[ALRFEFR E([R/ACAE)| JAL JAL 26,800 63% 65% & 8,000, H:31,900 31,700 — 35,600
Rg% |[HRCHE)| JAL JAL 28,100 61% 63% |4 :31,900, £:30,500, H:28,400 34,600 — 30,800
LI Fm) =RAAEFEFR 2| R/ACAE) | JAL JAL 28,000 60% 62% 5 ,300 31,600 — 35,600
A% [FERCHE| JAL JAL 28,300 60% 62% |7 2,000, £:30,500, H:28,600 35,300 — 31,200
ARG TR) =SB LRFEFR E|[/ACRE) | JAL JAL 28,800 59% 61% | & 9,400, H:32,700 32,500 — 36,100
EIE%E |RFECHAE)| JAL JAL 28,300 60% 62% |7 :32,700, £:31,800, H:28,600 34,900 — 31,800
IR FTTR) =ERE (ARG TR %[ Ra CAE) | JAL JAL 28,400 61% 63% | & 8,600, H:32,100 32,100 — 36,400
BEREEH |[HFECRA)| JAL JAL 27,800 62% 64% |7 ,200, 1:31,100 32,900 — 31,200
AR FFR) =5 I | AR TR R CHE) | JAL [JAL/JTA 30,200 59% 62% |4 2,700, H:35,700 41,300 — 39,000
KRR (B [ JAL JTA 26,600 65% 67% |4 9,200, H:28,000 33,800 — 35,200
AEE(PE)| JAL JTA 27,500 64% 66% |4 8,700, H:31,000 32,500 — 36,900
12 JAL JTA 30,500 61% 63% |4 ,100, H:33,200 33,300 — 33,200
SR8 (FRFR) [ mE (FH) [JAL/JTA]  JAL 31,000 58% 61% A& > £:34,700, H:33,400 40,400 — 36,600
KR (BEFE) [ JTA JAL 24,600 67% 69% |4 +:27,200, H:28,600 30,200 — 31,900
AEE(PE)| JTA JAL 30,700 60% 62% | 4::34,600, 1:30,600. H:36,100 37,800 — 39,400
12 JTA JAL 30,300 61% 63% |4 1:32,.800 34,400 — 32,300
AR EF T =REAREGTR %" CAE)|  JAL JTA 33,000 64% 66% |4 +:35400, H:32,600 42,600 — 37,400
AiEH |[RRCHE)| JTA JAL 30,500 67% 69% |%:31,100, £:30,700. H:31,300 40,400 — 39,800
& = % Al EEF  [EECHHE)| JAL JAL 29,700 62% 64% | A:30,500, %::33,600. 1:32,400. H:31,600 37,600 — 35,600
AIRFFR) | JAL JAL 30,000 59% 61% |4 +:31,500 31,500 — 30,000
ZERR [RECHE)| JAL JAL 30,500 61% 63% | 4::33,100, 1:30,600. H:34,800 37,500 — 36,800
ARUFRFD[  JAL JAL — — — — — 29,200
HIRFFR) | JAL JAL 28,400 61% 63% | H: 28,400 — 29,900
&R =) @BEFE |[FERCHE| JAL JAL 28,400 63% 65% |4 34,500 — 33,500
BIN%E  [RECHE)| JAL JAL 29,000 62% 64% |4 38,000 — 36,000
12 = B % @BEFE [RRCHE| JAL JAL 28,400 62% 65% |4 ,800, 1:29,600. H:30,000 34,400 — 34,000
HIpRFE [HFECHHE)| JAL JAL 27,600 63% 66% | & 8,800, H:31,600 32,800 — 31,800
[N fEEF  [RECHE)| JAL JAL 30,000 60% 62% | A:31,200. %:32,000. 1:30,800. H:33,600 34,400 — 36,800
HEFE [ERGIHE)| JAL JAL 30,000 60% 62% | £:33,800, £:33,600, H:33,200 37,400 — 34,200
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[T FECRA)| JAL JAL 26,700 61% 63% | A:27,500, £:30,400, +:28,700, H:30,000 32,800 — 32,400
KBR (RFH|  JAL JAL 25,600 58% 61% |%:26,800, 1:28,400. H:24,700 28,400 — 27,600
HACRE) | JAL JAL 27,600 59% 62% |&+:28,400, H:31,900 31,200 — 32,500
RBR (RFH)|  JAL JAL 26,300 57% 60% | 4:27,400, £:27,800. H:27,000 27,400 — 28,100
BE=F% FRECRA)| JAL JAL 25,600 62% 64% | %::26,800, 1:24,800. H:27,800 29,000 — 29,200
KBR (RFH|  JAL JAL 22,600 61% 64% 24,200, H:23,000 25,800 — 26,200
HACRE) | JAL JAL 26,800 60% 62% 7,200, %::29,800. 1:26,400. H:28,000 31,600 — 28,800
RBR (RFH|  JAL JAL 24,200 59% 62% 24,600 26,200 — 26,600
HRCHED [ JAL JAL 24,600 63% 65% H:25,400, £:25,000 25,800 — 26,200
KBR (RFH) | JAL JAL 25,200 58% 61% | 1:26,800 26,800 — 26,800
HECHED | JAL JAL 25,000 62% 65% | 4:25,800, 1:25,400. H:26,200 27,400 — 25,400
RBR (RFH | JAL JAL 25,600 57% 60% 25,600 — 25,600
1B =1 RBR (RFH | JAL JAL 27,000 53% 56% | +:28,600 29,400 — 29,400
RBR (RFH)|  JAL JAL 25,600 55% 58% &+ H:28,200 25,600 — 27,000
&R =FE FRECRA)| JAL JAL 25,100 59% 62% | 7<:26,300, £ H:26,700, 1:25500 27,500 — 27,300
ABRRFD[  JAL JAL 20,600 62% 65% | +:22,200. A:21,000 24,000 — 24,200
R CHED | JAL JAL 25,700 58% 61% | 7A:26,900, £:28,200, 1:27,300. H:27,200 30,000 — 25,400
ABRFRFD[  JAL JAL 22,200 60% 63% | % +:22,600, H:21,800 24,200 — 24,000
&= FRECRA)| JAL JAL 23,200 58% 61% | H:24,100 23,700 — 25,000
KBR (RFH) | JAL JAL 27,000 50% 54% &+ H:29,100 30,200 — 30,200
HACRE) | JAL JAL 25,000 54% 58% | AK#£:26,400, £:25900, H:23200 27,300 — 23,200
KBR (RFH | JAL JAL 28,800 46% 51% 30,200 — 30,200
RBE=%8 KBR (RFH|  JAL JAL 19,000 63% 66% | 4::19,400, +:21,000. H:18,600 23,400 — 23,000
KBR (RFH)|  JAL JAL 22,200 56% 60% 24,600 — 24,500
&=/ FRECRA) | JAL JAL 24,500 58% 61% |4 H:25500, 1:24,800 27,600 — 28,200
[ GE)| JAL JAL 24,200 59% 62% | A:24,600, % H:25,500, 1:24,400 30,200 — 27,400
wE=E% 48 (FBF) | JTA [JTA/RAC 17,200 62% 64% |%:17,800, 1:16,900. H:16,600 19,400 — 17,900
48 (%) [JTA/RAC]  JTA 17,000 62% 65% |4 H:18,800 19,900 — 21,100
wE=H1E T8 (RF) | JTA [JTA/RAC 15,800 69% 71%  [%:17,400, £ H:16,400 19,000 — 17,600
[+ #8 GI§R) [UTA/RAC|  JTA 17,000 66% 68% |£:18,600, H:17,500 19,900 — 20,100
il =75 IR TR | JAL JAL 23,400 50% 54% 29,100 — 29,100
IR TR | JAL JAL 23,400 50% 54% 29,100 — 29,100
iRl =& IR TR | JAL JAL 23,900 52% 56% 29,600 — 29,800
IEGEFR) | JAL JAL 23,900 52% 56% 28,500 — 26,300
SR ) IR TR | JAL JAL 25,100 51% 55% 27,400 — 29,400
IECEFRE) | JAL JAL 25,100 51% 55% | H:24,300 28,200 — 27,700
ESSRIRTNA FRECRA)| JAL JAL 28,300 55% 58% | 4:28,700, 1:27,400. H:32,200 32,100 — 36,900
R CHE) | JAL JAL 28,300 55% 58% |4 0,600, H:31,000 34,600 — 34,100
Zipl =i H FaftEER |RECHE)|  JAL JAL 30,500 56% 59% |4 +:33,200, H:32,800 36,200 — 35,400
iRl = R L ZimplFE |[RECHH)| JAL JAL 28,500 60% 62% |+:27.400, H:31,600 31,700 — 34,800
FELSE |RRCHE)| JAL JAL 27,500 61% 64% | :27,900, £1:31,000, H:28,200 34,200 — 32,200
S RN ZimplF [RECHH)| JAL JAL 29,700 59% 61% 9,000, H:32,000 32,900 — 35,200
HIRFFR) | JAL JAL 27,200 59% 62% |&+:27,700, H:28,100 29,700 — 30,900
LE5% [ERGHE)| JAL JAL 28,100 61% 63% |4 +:31,200, H:29,800 34,400 — 34,000
HIRFFR) | JAL JAL 27,600 59% 61% | % +:28,500 30,500 — 30,400
ikl =HE ZimplF [RECHH)| JAL JAL 30,600 58% 60% | £:32,100, 1:29,900. H:34,200 37,300 — 40,500
ARURFD[  JAL JAC — — — — — 26,400
R CHE) | JAL JAL 28,900 60% 62% | % +:33,600. H:30,900 38,800 — 36,100
iRl =l RECHHE) | JAL JAL 29,700 59% 62% | £:31,300, 1:29,000, H:34,100 37,700 — 40,500
R CHE) | JAL JAL 28,500 61% 63% |4 +:31,200, H:31,600 35,600 — 35,600
iR =H1E FRECRA) | JAL JTA 38,300 62% 63% | 4::40,700, 1:40,000. H:41,400 48,700 — 47,000
HRCHE| JTA JAL 34,600 66% 67% |4 +:35700, H:37,300 45,800 — 46,600
BN =M R CHE) | JAL JAL 27,700 55% 58% |4 H:28,500, 1:26,200 32,800 — 35,200
HACRE) | JAL JAL 26,400 57% 60% | +:28,500, H:28,400 34,100 — 32,000
B =rmtHE RECHHE) | JAL JAL 28,400 59% 61% [£:28800, H:30,600 31,400 — 35,200
R CHE) | JAL JAL 28,600 58% 61% | 2:29,200. H:30,200 32,200 — 33,300
B =Rl FRECRA) | JAL JAL 28,200 59% 62% |4::29,000, £:27,800. H:30,600 32,200 — 34,200
HACRE)| JAL JAL 25,800 63% 65% | A:26,000, % 1:28,900, H:26,400 32,100 — 30,100
BIH=HZE FRECRA) | JAL JAL 30,200 57% 60% |4::32,600. H:34,200 37,800 — 39,900
R CHE) | JAL JAL 27,200 62% 64% |%::31,900. 1:31,500. H:28,300 37,500 — 34,000
BN =211 FRECRA) | JAL JAL 29,400 59% 61% |4::31,800. H:33,100 38,200 — 37,700
R CHE) | JAL JAL 28,800 60% 62% |4 ,900, H:29,000 35,500 — 33,500
BII=F1E FRECRA) | JAL JTA 36,000 64% 65% |4 1:38,400 46,400 — 40,700
HRCHE | JTA JAL 32,700 67% 68% | 4::33,300. H:34,700 43,400 — 44,500
EEEINA R CHE) | JAL JAL 26,600 56% 59% |4::27,800. H:30,200 30,600 — 32,200
R CHE) | JAL JAL 26,600 56% 50% |4:28,600, £:27,800. H:29,400 32,200 — 32,500
R =t e FRECRA) | JAL JAL 28,800 58% 60% |£:30,000, + H:29,600 32,200 — 32,600
R CHE) | JAL JAL 28,800 58% 60% |4 +:30,400, H:31,200 33,000 — 33,800
g ="F1L RECRHE) | JAL JAL 26,800 61% 63% |£:27,600 7,200, H:29,600 30,400 — 30,800
HACRE) | JAL JAL 26,200 62% 64% | A:26,600, 2 1:28,200, H:27,000 31,000 — 30,600
HR=15% RECRHE) | JAL JAL 26,400 62% 64% | £:28,000, 1:27,200. H:30,000 30,800 — 31,200
HACRE) | JAL JAL 26,800 62% 64% |2 +:28,400, H:28,200 31,200 — 32,400
HR=H=E RECRHE) | JAL JAL 28,800 59% 61% |£:31,200, 1:29,600, H:33,200 36,000 — 36,500
R CHE) | JAL JAL 27,600 61% 63% |4 1:30,800, H:29,300 35,600 — 34,500
g =#r1L FRECRA)| JAL JAL 28,000 60% 63% | £:30,400, 1:28,800. H:32,100 36,400 — 36,500
HACRE) | JAL JAL 26,800 62% 64% |&+:28,400, H:30,000 33,600 — 34,000
HizE="F18 R CHE) | JAL JTA 35,000 64% 66% |4 1:38200, H:35400 45,800 — 41,400
HRCHE | JTA JAL 32,900 66% 68% | 4::34,100, 1:33,300. H:35,700 43,800 — 45,000
IR =M RECRHE) | JAL JAL 29,000 52% 55% | &+ H:29,800 33,600 — 33,800
R CHED | JAL JAL 29,000 52% 55% |4 H:29,800 34,600 — 35,300
wLh=miHaE RECRHE) | JAL JAL 31,200 54% 56% |£:31,600, H:32,400 33,400 — 34,200
R CHED | JAL JAL 30,400 55% 58% |4 ,200, H:31,600 33,400 — 33,400
L =FEWl RECRHE) | JAL JAL 29,200 57% 60% 4 ,200, H:30,000 32,600 — 32,400
HACRE) | JAL JAL 27,400 60% 62% | A:27,800. % 1:28,600, H:30,200 31,000 — 33,400
Hwh=HE FRECRA)| JAL JAL 31,200 55% 58% | +:32,900, H:33,600 37,700 — 38,100
R CHED | JAL JAL 28,800 59% 61% |4 +:31,200, H:29,700 35,600 — 34,100
wIL=Hl RECHEA)| JAL JAL 30,400 57% 59% |4 37,600 — 38,100
R CHED | JAL JAL 29,200 58% 61% |4 36,000 — 36,800
wh=H1E FRECRA)| JAL JTA 36,600 63% 64% |4 50,200 — 42,200
HRCHE | JTA JAL 34,500 65% 66% |4 44,600 — 44,600
EEIRA R CHE) | JAL JAL 26,100 51% 55% |4 27,700 — 32,900
R CHED | JAL JAL 24,700 54% 57% & ,300 29,800 — 30,900
R CHE) | JAL JAL 27,100 55% 58% |4 9,500, H:31,200 31,400 — 32,200
R CHE) | JAL JAL 25,500 59% 61% |4 5,000, H:29,100 26,700 — 30,700
HACRE) | JAL JAL 24,500 60% 63% | A: :27,800, £:27,300, H:26,600 29,400 — 29,000
R CHE) | JAL JAL 26,800 57% 60% | H: 28,400 — 31,900
R CHED | JAL JAL 25,100 60% 62% & 7,500, H:28,200 29,600 — 30,800
HE=HE HRCHE [ JAL JAL 28,300 55% 58% |4 7,700, H:33,200 33,100 — 37,200
KBR (RFH|  JAL JAC 22,300 62% 64% |4 H:23,800 23,800 — 25,300
HRCHED | JAL JAL 25,900 59% 61% |4 £:29.900, H:29,300 34,000 — 32,900
KB (BFH)]|  JAC JAL 23,200 60% 62% |4 +:24,800, H:22,300 25,200 — 24,000
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=L EEEFK [RECHHE)| JAL JAL 27,500 57% 59% |& 6,800, H:32,400 33,500 -— 36,100
KBR (RFH|  JAL JAL 24,700 56% 50% |4 6,200, H:25,400 26,000 — 26,900
WilF  [RERCHEE)| JAL JAL 25,100 60% 63% |4 7,500, H:30,000 30,900 — 32,400
RBR (RFH)|  JAL JAL 25,600 54% 58% |4 1:26,800, H:24,700 27,000 — 26,400
EEE=db A EHEEHR |[HFECHE)| JAL JAL 26,800 61% 63% 32,600 — 35,800
dEAMFE |[RRERCRH)| JAL JAL 26,800 61% 63% 34,300 — 33,000
HEE=X% EEEFK [EECHH)| JAL JAL 29,600 56% 59% 4 H:31,900 32,800 — 35,900
KBR (RFH)|  JAL JAL 27,500 53% 56% |4 £:29,000, H:28,800 29,700 — 30,400
An% |[ERCHE)| JAL JAL 28,300 58% 60% |4 ,100. H:30,800 34,000 — 33,200
HE=RIK EEEFK [EECHH)| JAL JAL 28,700 59% 62% |4 9,600, H:32,500 32,000 — 34,500
KB (RFH|  JAL JAL 27,100 58% 61% |4 :28,600, H:28,800 29,600 — 30,700
K% [RERCHE)| JAL JAL 27,700 61% 63% & 8,100, H:31,600 31,900 — 34,000
KB (RFH|  JAL JAL 28,000 57% 50% |4 . H:27,100 29,600 — 28,800
EEE=REX EEEFK [EECHH)| JAL JAL 28,000 59% 61% |4 . H:31,900 32,000 — 34,900
RBR (RFH|  JAL JAL 27,300 56% 50% |4 :28,800. H:28,600 29,000 — 29,700
A% [EERCHHE)| JAL JAL 25,700 62% 65% |4 8,100, H:31,200 30,400 — 33,600
RBR (RFH|  JAL JAL 27,900 55% 58% |4 9,800, H:27,300 29,900 — 29,200
HE==IK EEEFK [EECHH)| JAL JAL 29,800 56% 59% |4 H:32,500 32,600 — 35,400
RBR (RFH|  JAL JAL 27,900 55% 58% |4 . £:29,400, H:30,200 31,400 — 31,700
BIEFE |[RECHHE)| JAL JAL 27,700 59% 62% |4 0,100, H:31,800 32,200 — 34,200
KB (RFH)|  JAL JAL 28,400 54% 57% |4 ,800, H:29,100 30,400 — 30,200
HE=ERS EEEF [EECHH)| JAL JAL 29,100 59% 61% |4 . H:32,900 32,400 — 35,700
KBR (RFH)|  JAL JAL 26,700 59% 62% |4 ,200 28,600 — 29,700
BRSH% |RECHH)| JAL JAL 27,100 61% 64% |4 t:29,700, H:31,400 32,400 — 33,800
ABRFRFD[  JAL JAL 27,200 59% 61% |4 :29,200, H:26,300 28,800 — 28,000
HEE=F1E BEER |[RECHE)| JAL JTA 35,400 61% 63% & 1:37, 44,200 — 39,400
AIEH |[RRCHE)| JTA JAL 31,000 66% 67% |%::32,600. H:35,700 41,100 — 43,400
BEHR=/MR BA¥E  [HEECHH)| JAL JAL 24,300 53% 57% |€H:25,100, £:25,000 26,800 — 27,200
% [RECHE)| JAL JAL 23,800 54% 58% |4 H:25,100 27,600 — 26,800
ER=EiBE BAE  |[EFCGHEHE)| JAL JAL 28,300 52% 55% 32,200 — 31,300
BfCEER [RRCHE)| JAL JAL 28,300 52% 55% 31,300 — 31,300
BEH=ML BA¥E  [HEECHH)| JAL JAL 24,000 60% 63% |4 26,200 — 26,200
fELFE  [RFECHE)| JAL JAL 23,400 61% 64% |4 25,800 — 25,800
BEHR=L8 BA¥E  [HEECHH)| JAL JAL 24,600 60% 62% |& 26,600 — 26,600
L% |[HRCHE)| JAL JAL 24,400 60% 63% | 4:25,200, 1:23,600. H:25,300 26,600 — 26,600
BEHA=WLOFH BA¥E [HEECHH)| JAL JAL 25,200 61% 63% |4 H:26,000, 1:23,600 26,600 — 26,600
WOFEHE |RECHHE) |  JAL JAL 23,600 64% 66% 25,000 — 25,000
EHR=HE BAE [EmGEHE)| JAL JAL 26,000 58% 61% 31,000 — 31,100
RBR (RFH)|  JAL JAC 21,000 62% 65% 23,400 — 23,800
HEXE |[ERCHHE)| JAL JAL 25,200 59% 62% 31,500 — 31,800
KB (RFH)|  JAC JAL 21,400 62% 64% 23,400 — 23,800
ER=ES BA¥E  [HEECHH)| JAL JAL 23,300 61% 64% |& 27,900 — 27,900
mEH |[HRCHE)| JAL JAL 23,300 61% 64% |4 27,900 — 27,900
EHx=mik BA¥E  [HEECHH)| JAL JAL 25,400 57% 60% | H:27,000, 1:24,800 29,200 — 29,200
=% [RRCHE)| JAL JAL 24,700 59% 61% |2 +:25800, H:26,600 28,000 — 28,500
AR=m4 BA¥E  [HEECHH)| JAL JAL 23,000 63% 65% | 4:25400, 1:24,600. H:25,600 29,200 — 27,600
= |[ERCHE)| JAL JAL 23,800 61% 64% | %::26,600, 1:24,600, H:25,800 28,400 — 30,000
BEHx=l BA¥E  [EECHH)| JAL JAL 25,200 59% 62% |£:27,600, H:27,300 31,800 — 31,800
ABRUFRFD[  JAL JAL 22,600 58% 61% & 1:23.000 24,800 — 25,400
WilF  [RRERCHE)| JAL JAL 24,800 60% 63% | %:25,200. H:27,200 29,000 — 30,000
RBR (RFH)|  JAL JAL 22,600 58% 61% | H:23,000 24,400 — 25,400
HFHR=dAMm BA¥E  [HEECHH)| JAL JAL 25,400 62% 64% [£:27,000, H:26,200 30,500 — 30,500
AN [FRRECHE)| JAL JAL 25,400 62% 64% |£:26,600, H:25.800 30,900 — 30,100
BEHR=X% BA¥E  [EECHH)| JAL JAL 26,800 59% 62% | £:28,400, 1:27,200. H:28,000 30,600 — 30,600
ABRUFRFD[  JAL JAL 25,000 55% 59% | +:25800, H:26,000 27,800 — 28,900
Xo% |[RECHE)| JAL JAL 27,200 59% 61% | H:28,000 29,400 — 29,800
RBR (RFH)|  JAL JAL 24,500 56% 50% |4 ,600. H:26,200 27,000 — 28,800
EHR=RIK BA¥E  [EECHH)| JAL JAL 25,600 63% 65% |&:27, 6,800, H:27,400 29,500 — 29,900
RBR (RFH)|  JAL JAL 24,600 61% 63% |%:25600, +:25800, H:26,000 27,600 — 29,200
K% [RERCHE)| JAL JAL 26,800 61% 63% |4 H:27,600, £:26,400 29,800 — 29,800
ABRUFRFD[  JAL JAL 24,600 61% 63% | % 1:25,000 27,000 — 27,400
BEHR=EX BAE [EmGEHE)| JAL JAL 26,800 60% 62% 29,400 — 29,800
RBR (RFH)|  JAL JAL 24,800 59% 62% | 4:25,400. H:25,800 27,000 — 28,200
EA% [ERCHHE)| JAL JAL 27,000 60% 62% | 4:28,200, 1:25,600, H:27,800 30,400 — 30,000
RBR (RFH)|  JAL JAL 25,400 58% 61% | A+:25600, £:25,300, H:26,200 27,300 — 27,800
EHR=EK BA¥E  [EECHH)| JAL JAL 26,600 60% 63% | <:27,800, 1:27,000. H:27,400 30,400 — 30,100
RBR (RFH)|  JAL JAL 25,800 57% 60% | 4:28,200, 1:26,200, H:27,400 30,200 — 30,200
BEFE |[EZECHE)| JAL JAL 26,200 61% 63% | 4::26,400, H:27,800 28,400 — 30,000
KBR (RFH|  JAL JAL 26,400 56% 50% |4:26,500, 1:26,600. H:27,600 28,500 — 29,300
EH=ERS BA¥E  [EECHH)| JAL JAL 27,000 61% 63% | H:27,800, 1:27,400 30,000 — 30,200
KBR (RFH|  JAL JAL 24,600 61% 64% |4 H:25400, £:25,000 27,400 — 28,200
BREX |[HECRA)| JAL JAL 27,000 61% 63% | 4::27,800, 1:25,800. H:28,200 29,600 — 30,600
RBR (RFH|  JAL JAL 24,200 62% 64% [+:25000, H:25,800 26,200 — 27,800
EHR=RE BA¥E  [HEECHH)| JAL JTA 32,200 64% 66% | +:34,600 41,600 — 36,800
RiEH |[RRCHE)| JTA JAL 30,100 66% 68% | H:31,700 38,400 — 38,400
ZIR=/ =R% |ERCHE)| JAL JAL 24,000 53% 57% | £:24,400, 1:23.200, H:24.800 24,000 — 25,500
MNRFE  [RRCHE)| JAL JAL 24,000 53% 57% |4 H:24,800 25,600 — 24,700
ZIR=miaE = RECHEA)| JAL JAL 28,300 52% 55% 30,200 — 30,200
HACRE)| JAL JAL 28,300 52% 55% 28,800 — 28,800
ZR=FW R CHED | JAL JAL 24,200 59% 62% | 1:23,800 23,800 — 23,800
HRCHED | JAL JAL 23,200 61% 64% | A% +:23,600. H:22,800 23,200 — 22,800
HRCHED | JAL JAL 23,800 61% 63% = H:24,600 24,600 — 24,200
HRCHED | JAL JAL 22,400 63% 65% | 4::24,200, 1:23,000. H:23,600 24,200 — 24,600
ZR=1LAFA RECHEA)| JAL JAL 25,400 60% 63% |+:23.800 25,000 — 25,000
HACRE) | JAL JAL 23,800 63% 65% 23,800 — 23,800
ZR=HE FRECRA)| JAL JAL 26,200 57% 60% |4 H:27,800 29,400 — 29,500
RBR (RFH)|  JAL JAC 21,600 62% 64% | H:22,400 22,000 — 22,800
HE HRCHE | JAL JAL 23,900 61% 63% | H:24,700 25,500 — 26,300
KRURFD[  JAC JAL 22,800 60% 62% | & 1:23.200 23,600 — 23,200
ZR=15 R CHED | JAL JAL 23,500 60% 63% 26,700 — 26,700
HACRE) | JAL JAL 23,000 61% 64% 25,000 — 25,400
ZIR==n R CHE) | JAL JAL 23,600 60% 63% | 4::24,800, 1:23,400. H:25,600 25,400 — 25,400
R CHED | JAL JAL 23,400 60% 63% | 4::24,000, H:24,400 24,800 — 25,200
ZIR==& R CHE) | JAL JAL 24,800 59% 62% |4 H:25,600 27,900 — 27,900
R CHED | JAL JAL 23,200 62% 64% |4::26,000. H:24,800 26,000 — 27,200
ZiR=# HRCHE [ JAL JAL 25,400 59% 61% |4::27,000. H:26,700 29,800 — 29,500
RBR (RFH|  JAL JAL 24,000 56% 59% 24,200 — 24,400
HRCHE [ JAL JAL 23,800 61% 64% | H:24,600 23,800 — 24,600
KBR (RFH)|  JAL JAL 25,200 54% 57% 25,400 — 25,600
ZR=de M =R% |[mEmCEE)| JAL JAL 25,600 61% 64% | 4::26,400 28,900 — 28,100
dtAMFE |[RRECRH)| JAL JAL 24,400 63% 65% 26,800 — 26,800
ZR=K% SR |[RECHE)| JAL JAL 27,000 59% 61% |%:27,800, + H:27,400 29,000 — 28,200
RBR (RFH|  JAL JAL 26,800 53% 56% | 4:27,500, H:27,400 27,900 — 27,900
Xo% [ERGHE)| JAL JAL 27,000 59% 61% |4 +:27,400, H:26,200 27,800 — 27,000




o
rF#BNSI28 EER(7TA1H~21BEES) JAL/JTA/IAC/RAG
EE#EAE 2014/3/25 ~ SERBLERS%E A
N — .
P =R0) R 11-1/17 f—;];% ';“g@fq s 7/18 LA 7/20
RED | RE i "

ZR=FI& =R% |[mmOEE)| JAL JAL 25,700 62% 65% | 4:27,200, 1:26,600. H:26,800 28,200 — 28,700
KBR (RFH|  JAL JAL 26,400 58% 61% |4 27,800 — 28,200
K% [RERCHE)| JAL JAL 24,400 64% 66% |4 26,100 — 28,000
KBR (RFH|  JAL JAL 27,600 57% 59% 28,000 — 28,000
ZIR=REX =ZR% [mmCEE)| JAL JAL 25,000 62% 65% |4 28,200 — 28,400
KBR (RFH|  JAL JAL 26,600 57% 60% (& H:2 27,200 — 27,200
BA% [EERCHH)| JAL JAL 24,400 63% 65% |4 1:24,800, H:26,600 25,000 — 27,400
ABRFRFD[  JAL JAL 27,500 55% 58% | +:28.200. H:27,800 28,300 — 28,400
ZR=El& SR |[RECHE)| JAL JAL 26,800 60% 62% % +:27,200 28,800 — 28,600
ABRRFD[  JAL JAL 27,200 56% 59% | £:29.200, H:28,800 29,600 — 29,200
BEFE |[RECHHE)| JAL JAL 26,400 60% 63% | H:27,200 26,400 — 28,000
RBR (RFH)|  JAL JAL 28,000 54% 57% | £:28,400, 1:29.200, H:29,600 28,800 — 29,400
HRCHE [ JAL JAL 27,000 61% 63% |4 H:27,200 28,600 — 29,000
RBR (RFH)|  JAL JAL 26,000 60% 62% | H:26,800 26,400 — 27,200
HACRE) | JAL JAL 26,400 61% 64% |4 1:26,000, H:26,800 26,400 — 27,600
RBR (RFH|  JAL JAL 26,800 59% 61% 27,600 27,200 — 27,200
ZR=R1E HACRE)| JAL JTA 32,400 64% 65% 34,800 40,400 — 35,600
HACRE)| JTA JAL 30,300 66% 67% ,100 37,200 — 37,200
FRE=/MA FRCRA)| JAL JAL 23,200 50% 54% |4 H:24,300, £:22500 25,200 — 24,600
R CHED | JAL JAL 22,700 51% 55% |4 H:24,300, £:22,900 25,900 — 25,000
MHE=FiaE RECHEA)| JAL JAL 25,100 53% 57% 28,000 — 26,000
HACRE) | JAL JAL 25,100 53% 57% 26,100 — 25,300
FE =R R CHED | JAL JAL 23,700 57% 60% & 3,300, H:24,000 24,600 — 23,600
R CHED | JAL JAL 22,500 59% 62% |4 1 H:23,300 24,100 — 24,100
ME=L5 RECHHE) | JAL JAL 24,300 56% 59% | %:25100, 1:24,900. H:24,400 25,400 — 24,000
R CHED | JAL JAL 23,100 58% 61% |4 H:24,100, £:23500 24,900 — 24,900
ME=LOFEH FRECRA) | JAL JAL 24,900 58% 61% |%:25.800, 1:24,100, H:25,200 25,800 — 24,800
HACRE) | JAL JAL 22,300 62% 65% |&+:22,700, H:23,100 23,500 — 23,100
ME=HE RECHEA)| JAL JAL 25,100 55% 58% | +:25,000 30,200 — 29,300
RBR (RFH|  JAL JAC 22,300 57% 60% |%:22,800, 1:21,800. H:19,400 25,300 — 22,700
HE HRCHED | JAL JAL 24,100 57% 60% &+ H:25100 29,800 — 30,100
KB (RFH)|  JAC JAL 19,400 63% 65% | H:19,800 21,400 — 21,800
ME=ES FUEF  [RFECHHE)| JAL JAL 23,000 57% 61% |£:23900, 1:23,800. H:23,300 26,500 — 25,300
mEH |[HRCHE)| JAL JAL 22,200 59% 62% |4 H:23000, £:21,900 26,200 — 26,100
ME=F0 FOEF  [REFECHHE)| JAL JAL 25,100 54% 57% | %:26,700, 1:24,500. H:26,200 27,600 — 26,600
=% [RERCHE)| JAL JAL 23,700 56% 50% |4 H:25,200 26,500 — 26,800
MHE=8 FOEF  [REFECHHE)| JAL JAL 24,300 57% 60% |4 £:23,500, H:25,400 28,700 — 27,700
=AM |[ERCHE)| JAL JAL 22,500 60% 63% |4 4,100, H:24,700 27,700 — 28,300
FE=#L MHEF [RRCEE)| JAL JAL 24,900 56% 59% |4 ,100, H:26,500 28,700 — 29,300
RBR (RFH)|  JAL JAL 20,600 59% 62% |4 22,800 — 24,300
Wil [RRERCHE)| JAL JAL 24,300 57% 60% |4 . H:26,100 27,700 — 28,200
RBR (RFH)|  JAL JAL 20,600 59% 62% 22,600 — 23,400
=L FOEF  [RFECHHE)| JAL JAL 25,100 59% 62% |& 1:24,200, H:25.400 28,900 — 27,900
AT |[RECEH)| JAL JAL 24,900 59% 62% |& :25,300, H:24,700 29,200 — 28,400
ME=X% MHEF [RRCEE)| JAL JAL 26,500 56% 59% |4 7,700, H:27,200 29,000 — 28,000
RBR (RFH)|  JAL JAL 23,000 56% 50% |4 25,800 — 26,000
Xo% |[RERCHE)| JAL JAL 26,100 57% 60% |4 +:24,900 28,500 — 28,900
RBR (RFH)|  JAL JAL 22,500 57% 60% |4 £:22,600, H:24,200 25,000 — 26,800
ME=RIE BEFE [EECHH)| JAL JAL 25,200 60% 63% |4 6,900, H:26,300 28,000 — 27,300
RBR (RFH)|  JAL JAL 22,200 62% 65% |4 3,800, H:22,900 25,000 — 25,200
Rig® |[RRHH)| JAL JAL 25,700 60% 62% |4 . £:25,000 28,100 — 28,100
RBR (RFH)|  JAL JAL 22,600 61% 64% |4 25,200 — 25,400
ME=FX FUOEF  [RFECHHE)| JAL JAL 24,500 60% 63% | £:26,900, 1:25,300. H:26,000 28,000 — 27,200
BA% [ERCHHE)| JAL JAL 25,900 58% 61% |%:27,100, £:25,500, H:26,700 28,700 — 28,300
RBR (RFH)|  JAL JAL 23,400 59% 62% | A1:23600, £:23300, H:24,200 25,500 — 25,800
ME==I MEF [RRCEHE)| JAL JAL 26,300 57% 60% |4 28,800 — 28,600
RBR (RFH)|  JAL JAL 24,200 57% 60% |4 28,200 — 29,100
BEFE |[EZECHE)| JAL JAL 25,900 58% 61% |4 28,400 — 29,100
RBR (RFH)|  JAL JAL 24,400 57% 60% |4 26,500 — 27,300
MHE=ERS FRECRA)| JAL JAL 26,700 58% 61% |4 29,000 — 27,400
RBR (RFH)|  JAL JAL 23,000 62% 64% |4 , 25,800 — 27,500
HRCHE [ JAL JAL 25,900 59% 62% |4::26,700, 1:24,100, H:27,100 27,900 — 28,900
RBR (RFH)|  JAL JAL 22,200 63% 65% | +:23,000, H:23,800 24,400 — 25,800
MEA=F1E FRECRA) | JAL JTA 31,900 62% 64% % +:35100 40,200 — 34,200
HERCHE | JTA JAL 28,200 66% 68% | H:30,400 35,900 — 36,500
EE=HE KBR(FF) | JAL JAC 25,200 54% 56% | &+ H:27.800 25,700 — 27,300
KB (RFH) | JAC JAL 27,800 49% 52% 29,100 — 30,300
e =l AR R | JAL JAL 28,600 45% 49% 29,900 — 31,800
RBR (RFH | JAL JAL 28,600 45% 49% 33,400 — 34,000
EE=X% KRB | JAL JAL 29,700 46% 50% |+ H:30,200 30,600 — 32,700
KBR (RFH) | JAL JAL 29,200 46% 50% |4 H:30,200, £:29,700 30,600 — 33,300
EE=RIKF AR (P | JAL JAL 32,600 46% 50% 34,400 — 36,300
KRUFRFD[  JAL JAL 28,800 53% 56% = 1:29,300 29,700 — 31,800
TEE=REX KRR | JAL JAL 29,900 49% 53% H:31,400 30,600 — 32,200
KBR (RFH) | JAL JAL 30,200 49% 52% 30,300 £:30,500. H:30,600 30,500 — 32,200
EE=2Ik AR (R | JAL JAL 31,400 47% 50% 36,600 — 37,200
=] JAL JAC 31,400 52% 55% 34,200 — 34,200
KB (RFH)|  JAL JAL 31,400 47% 50% 35,400 — 35,400
=] JAC JAL 31,400 52% 55% 34,200 — 34,200
EE=ERS KRR | JAL JAL 32,100 48% 52% | &+ H:32,600 33,100 — 35,300
RBR (RFH)|  JAL JAL 31,600 49% 52% |+ H:32,600 32,100 — 35,300
IR FRECRA) | JAL JAL 20,500 49% 54% | H:22,400 21,400 — 23,300
HRCHED | JAL JAL 22,500 44% 49% |4 H:23200 24,300 — 23,300
Wi =Rl RECHEA)| JAL JAL 21,400 56% 59% 21,400 — 21,400
HACRE) | JAL JAL 20,200 58% 62% 20,200 — 21,200
IR =IE5 [ RECHHE) | JAL JAL 23,500 52% 56% | H:21,400 23,500 — 21,400
I R CHED | JAL JAL 20,700 58% 61% |%::22,800, +:21,400. H:22,100 22,800 — 23,200
WWz=A=Fa | kR |BEECHHE)| JAL JAL 22,300 58% 61% 22,300 — 22,300
WOFEHE |RECHAHE) | JAL JAL 21,900 59% 62% &+ H:22,300 22,300 — 22,300
Wi =HZE W% |[RECHE)| JAL JAL 23,300 53% 57% 26,000 — 26,000
KBR (RFH|  JAL JAC 25,200 51% 54% 27,100 — 27,100
HE HRCHE [ JAL JAL 22,400 55% 59% | H:23,300 24,600 — 25,500
KB (RFH)| JAC JAL 25,700 50% 53% |4 1:26,600, H:26,300 28,000 — 27,500
Wk=#5 W% |BRECHHE)| JAL JAL 21,900 54% 58% | H:21,500 24,600 — 24,500
BmER |[RR(PH)| JAL JAL 21,900 54% 58% 24,600 — 24,600
== Wifz%  |[RRECHE)| JAL JAL 21,900 54% 58% |4 +:22.800, H:22,300 23,700 — 23,200
=% [FERCHE)| JAL JAL 21,900 54% 58% |4::22,500, H:22,900 23,400 — 23,800
Wik ==40 W% |RECHHE)| JAL JAL 21,700 56% 60% [£:22,600, H:23,200 24,400 — 25,300
=A% |[ERCHE)| JAL JAL 21,700 56% 60% |4::24,800. H:23,500 25,300 — 26,600
Wi =1l W% |[RECHE)| JAL JAL 21,400 57% 61% |4 +:22300, H:23200 23,200 — 23,200
RBR (RFH)|  JAL JAL 25,100 49% 53% 28,700 — 28,900
wilg  [ERCHEE)| JAL JAL 22,800 54% 58% |£:23,200, H:24,100 25,900 — 25,000
KBR (RFH]|  JAL JAL 25,100 49% 53% 28,700 — 29,300




o
rF#BNSI28 EER(7TA1H~21BEES) JAL/JTA/IAC/RAG
EE#EAE 2014/3/25 ~ SERBLERS%E A
N — .
P =R0) R 11-1/17 f—;];% ';“g@fq s 7/18 LA 7/20
RED | RE i "

Wiz =4t Wz%  |RECHE)| JAL JAL 22,400 59% 62% 25,700 — 25,700
dtAMFE |[RRERCREH)| JAL JAL 22,400 59% 62% | +:21,900 25,700 — 25,700
Wiz =K% W% |[mRECHE)| JAL JAL 25,500 53% 56% |4 1:26,400, H:24,600 27,300 — 25,900
KBR (RFH|  JAL JAL 28,300 45% 49% 32,800 — 32,800
Xo% |[RECHE)| JAL JAL 24,100 55% 59% |4 H:25,000 25,900 — 25,900
RBR (RFH)|  JAL JAL 28,300 45% 49% 32,000 — 33,100
iz = R W% |[mRECHHE)| JAL JAL 24,500 57% 60% | % H:25,600, £:25,500 26,400 — 26,900
KBR (RFH|  JAL JAL 29,700 48% 52% |4 32,700 — 33,200
KRR [REHH)| JAL JAL 25,900 55% 58% 26,800 — 26,800
KBR (RFH|  JAL JAL 29,700 48% 52% |4 31,600 — 31,600
LAz =REA W% |[RECHHE)| JAL JAL 23,700 57% 60% |4:25,500, H:22,900 26,400 — 26,500
KB (RFH|  JAL JAL 29,100 47% 51% 32,000 — 32,000
AR ([RERH)| JAL JAL 22,900 58% 61% |+:23400, H:25500 23,700 — 26,400
RBR (RFH|  JAL JAL 29,100 47% 51% 31,900 — 32,000
i =25 W% |[RECHE)| JAL JAL 25,600 53% 57% |4 1:26,100 27,000 — 26,800
RBR (RFH|  JAL JAL 29,100 47% 51% 34,700 — 34,300
BIEFE |[EECHHE)| JAL JAL 24,600 55% 59% | H:26,100 25,300 — 27,000
KBR (RFH|  JAL JAL 29,100 47% 51% 33,700 — 33,700
W=ERS W% |[mRECHHE)| JAL JAL 26,200 54% 57% |4 1:26,600, H:24,600 27,500 — 26,100
KB (RFH|  JAL JAL 29,700 49% 53% |4 ,700, £:29,500 32,000 — 32,500
BRSH |EECHH)| JAL JAL 25,200 56% 59% |4 ,700, H:25,600 25,200 — 26,500
KBR (RFH)|  JAL JAL 28,800 51% 54% %+ H:30,700 30,700 — 32,000
Iz =Hh1E W% |[RECHE)| JAL JTA 32,000 59% 61% |4 1:34,600 40,000 — 34,700
AIEH |[RRCHE)| JTA JAL 29,600 62% 64% 30,500 37,400 — 37,300
E=HZE EFK [KERUEFFD| JAL JAC 20,200 60% 62% | £:23,100, 1:21,500, H:20,400 26,400 — 22,400
HE KRURFD[  JAC JAL 20,100 60% 62% |4:22,600, :21,400. H:22,400 25,400 — 25,800
s =#xl EFK [ KERUFFD| JAL JAL 21,200 56% 59% |4 +:22.800, H:21,400 25,000 — 24,300
NLFE [ KBR(RFD|  JAL JAL 20,600 57% 61% |4 400, H:22,000 24,000 — 25,400
E=xX% EF [ KERUFFD| JAL JAL 23,600 53% 57% |4 5,500, H:24,800 27,500 — 27,100
KaF |[KERUFFD| JAL JAL 23,000 54% 58% |4 :22,800, H:25,400 27,400 — 28,500
s =Rix hEFE [ KERUEFFD| JAL JAL 22,800 60% 63% 4 27,400 — 27,400
RIBEE [ KERUFFD| JAL JAL 22,200 61% 64% |4 26,600 — 28,000
s =r=X EFK [ KERUEFFD| JAL JAL 23,400 57% 60% | £ 1:25.200, H:24,600 26,800 — 26,400
AR |[KREFFD| JAL JAL 21,600 60% 63% | A:21,800, £:23,500, 1:23,400. H:23,900 25,900 — 26,200
E==ix hEFK [ KERUEFFD| JAL JAL 24,800 54% 58% |&+:27,700, H:27,200 30,400 — 30,000
EiEF | KRERFD|  JAL JAL 24,400 55% 58% | H:26,900, 1:26,400 28,500 — 29,900
WE=ERS iEF [ KERUFFD| JAL JAL 24,000 58% 61% | +:26,000, H:25,600 28,000 — 28,400
BREH |KRURFD| JAL JAL 23,400 59% 62% |4 4,400, H:25,900 28,200 — 28,600
FR=HE #FinFE [ KBRUFFD| JAL JAC 18,800 61% 63% 4 ,500, H:19.000 22,800 — 21,700
HE KB (RFH)|  JAC JAL 20,300 58% 61% |4 . £:20,200, H:19.300 24,200 — 23,700
Fim=Hl FEFE | RKRUEFFD| JAL JAL 19,800 57% 61% 22,400 — 22,300
MilgE [ KERAEFFD| JAL JAL 19,800 57% 61% |4 9,400, H:20,600 22,800 — 22,900
FR=X% #FinFE [ KBRUFFD| JAL JAL 20,600 57% 61% |4 2,000, H:22,400 24,500 — 25,300
AaF |[KERUFFD| JAL JAL 22,200 54% 58% |4 :21,400, H:24,000 26,200 — 26,000
FiR=RIK #FinFE [ KBRUFFD| JAL JAL 21,400 61% 64% |4 2,600, H:22,500 24,600 — 25,600
RIBE [ KERUFFD| JAL JAL 21,400 61% 64% |4 ,800, H:23,500 25,400 — 25,500
FiR=REX #FimFE [ KBRUFFD| JAL JAL 20,400 61% 64% |4 ,800, H:22,200 23,800 — 24,600
BEAFE | KRUEFFD| JAL JAL 21,300 59% 63% |%:21,700, +:22,400, H:21,800 24,900 — 24,600
FR== #FinFE [ KBRUFFD| JAL JAL 23,400 55% 59% |&+:24,700, H:23,800 27,500 — 26,900
BIE%E | RBERURFD|  JAL JAL 23,600 55% 50% | 4:24,500, 1:23,400. H:25,500 27,300 — 27,100
FR=ERS #FinFE [ KBRUFFD| JAL JAL 21,800 61% 64% | H:22,200 25,000 — 25,700
BREH | KRR JAL JAL 23,800 57% 60% | £:24,200, 1:21,800, H:24,300 27,000 — 26,900
A=W % [RRCHE)| JAL JAL 23,200 55% 59% |4 H:23,700, £:22,800 24,800 — 24,800
MILF |[ERCHHE)| JAL JAL 22,600 57% 60% | £:23,200, 1:22,200, H:23,600 23,200 — 24,400
INR=IEE MAFE [ERFECHE)|  JAL JAL 23,000 56% 60% | < H:24,300 25,200 — 24,300
L% |[RRCHE)| JAL JAL 23,300 56% 59% |4 H:24,300, £:22,800 25,200 — 25,200
MR=I1LAFER MAFE  [HRFECHE) | JAL JAL 22,800 60% 63% | < H:24,400 25,200 — 24,300
WOFEHE |RECHHE) | JAL JAL 22,500 60% 63% | +:23.200, H:22,700 22,900 — 23,500
IMR=HZE MAFE [ERFECHE)|  JAL JAL 24,700 54% 57% 30,400 — 29,600
HE R CHE) | JAL JAL 24,100 55% 58% &+ H:24,700 29,300 — 30,000
IMNA=TES % [RRCHE)| JAL JAL 22,500 56% 60% 4 26,500 — 26,500
mE% |[HRCHE)| JAL JAL 22,500 56% 60% |4 25,700 — 26,500
INR=TEH MAFE [ERCRE)|  JAL JAL 23,200 55% 58% 27,800 — 27,800
Em%E  ([RREHE)| JAL JAL 23,200 55% 58% 26,600 — 27,100
IMA=TF % [RRCHE)| JAL JAL 22,200 58% 62% | 4::24,600, £:22,600. H:24,800 27,000 — 26,100
= |[ERCHE)| JAL JAL 23,500 56% 59% &+ H:24,900 25,800 — 28,600
A=#AL NFE  [RRCHE)| JAL JAL 24,400 55% 58% |4:25,100, H:24,800 29,000 — 29,000
L% [RERRCHE)| JAL JAL 24,500 54% 58% |4::24,800, + H:25,100 26,800 — 28,700
AN =L T MRFE  [RRCHE)| JAL JAL 24,600 58% 61% |4::26,200, H:25,400 29,900 — 29,100
dAMSE [FRRECHEE| JAL JAL 23,400 60% 63% | £:25.800, 1:24,100, H:25,000 28,700 — 28,300
IMNR=K5 MaFE  [RRCHE)| JAL JAL 25,600 55% 59% |4::27,200. H:26,800 28,800 — 28,300
An% |[HERCHE)| JAL JAL 26,100 55% 58% |4 H:27,200, £:25200 28,000 — 28,800
M= RIG MRFE [RRCHE)| JAL JAL 24,200 60% 63% | 4::27,000, 1:24,800. H:26,600 27,800 — 27,600
RIBFE [HECHH)| JAL JAL 26,000 57% 60% |< H:26,800, £:25,500 27,600 — 28,400
INR=FER % [RRCHE)| JAL JAL 24,200 59% 62% |4 H:26,000, £:24,800 27,200 — 27,300
BEA% [FER(CHE)| JAL JAL 26,200 55% 58% | 4:26,500. 1:26,000. H:27,000 27,800 — 28,600
INR=TEIE % [RRCHE)| JAL JAL 25,400 57% 60% |4::26,200. H:26,600 29,400 — 28,900
BIE%E |RRECHAE)| JAL JAL 25,900 56% 59% |4::27,100, 1:26,200, H:27,000 27,900 — 29,000
IMA=ERE NRFE  [RRCHE)| JAL JAL 24,400 60% 63% |4 H:26,600, £:25400 28,200 — 27,500
BREEX |[FECRA)| JAL JAL 26,200 57% 60% | 4::26,500, 1:24,600. H:27,400 27,000 — 29,200
IMA=ET AMAZE [REEJRER) | JTA |JTA/RAC 22,000 62% 64% &+ H:25,000 26,000 — 25,000
Ea% P48 (%) [JTA/RAC]  JTA 22,600 61% 63% &+ H:25000 26,000 — 25,000
INA=F1E AN FE RCHE)| JAL JTA 30,600 62% 64% |4 ,000, H:31,300 38,600 — 34,500
SR (R®E) | JTA [JTA/RAC 22,000 66% 67% |4 26,000 — 25,000
RiEH [RRGHE)| JTA JAL 27,500 66% 68% 35,200 — 36,900
148 (IBER) [JTA/RAC|  JTA 22,000 66% 67% 26,000 — 25,000
== ] L1 5 i8I F) | JTA |JTA/RAC 21,700 58% 61% 24,100 — 23,700
Ea% |48 (%) [UTA/RAC]  JTA 20,900 60% 62% | H:23,900 23,400 — 26,400
[ITEE=EE ] L1 5 i8I F) | JTA |JTA/RAC 20,900 63% 65% | +:23,900 23,900 — 23,400
AiEH |48 GEE) [JTA/RAC]  JTA 21,700 62% 64% | H:24,100 23,700 — 26,100
BH==k AN FE [l JAC JAC 20,600 53% 57% |+:21,400 21,000 — 21,000
EGE 1= JAC JAC 20,600 53% 57% | H:21,400 21,000 — 21,800
EEXRE=5# |EEXES | HKkBH | JAC JAC 16,500 38% 38% 19,150 — 19,150
5im% HKEE [ JAC JAC 16,500 38% 38% 19,150 — 19,150
BEERB=TKRE| EEXER 55k JAC JAC 15,500 48% 48% 17,400 — 17,400
ok RERF EE JAC JAC 15,500 48% 48% 17,400 — 17,400
PR (RER) =FFHF PR INE) F|BRE CHE) [JAL/JTA]  JAL 29,700 58% 61% |£:30,500, 1:29,000. H:32,600 35,600 — 35,600
KB (RFH)|  JAL JAL 28,300 60% 62% |4 +:27,900, H:30,200 28,400 — 31,200
EH%E [mRmEE)| JAL [JAL/JTA 29,000 59% 61% |%::32,900. 1:30,400. H:30,700 39,200 — 33,800
RBR (RFH)|  JAL JAL 28,700 60% 62% |4 +:30,800, H:28,300 32,600 — 31,000
s (GRE) = 3 R CREA) [JAL/JTA]  JAL 29,200 58% 61% | H:31,000 31,000 — 34,000
HRECRE)| JAL  [JAL/JTA] 28,000 60% 62% | #£:29,200, +:29,300, H:28,900 32,600 — 32,500
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SRR (BRER) =FNE |48 (ANER) F | R CRE) [JAL/JTA[  JAL 28,600 56% 59% | %:29,400, 1:27,700. H:31,500 33,900 -— 33,900
ABRFRFD[  JAL JAL 26,300 61% 63% | % +:25900, H:28,200 26,400 — 29,200
MEHX [EmCEE)| JAL [JAL/JTA 28,700 56% 59% |4::32,700. 1:30,900. H:29,900 37,200 — 32,000
KRUFRFD[  JAL JAL 26,700 60% 63% | % +:28,800, H:26,300 30,600 — 28,800
PR (RER) =TEE | (B | KR (BFD | JAL JAL 29,700 57% 60% | H:31,200 28,600 — 32,000
=] JTA JAL 34,600 52% 55% 5,600 38,000 — 37,400
&R ([ KREFFD| JAL JAL 30,100 57% 59% +:34,400. H:32,700 32,000 — 31,800
12 JAL JTA 34,800 52% 55% |4 H:36,000, £:34,400 38,400 — 36,800
PR (BRER) =1L |48 (INER) F | B CRIE) [JAL/JTA[  JAL 25,200 57% 60% | H:27,000 27,000 — 30,000
KBR (RFH) | JAL JAL 29,700 55% 58% |4::32,700. H:35,400 29,800 — 31,800
WWiEH  [EECHE)| JAL [JAL/JTA] 25,200 57% 60% :26,600, H:24,800 29,800 — 28,600
RBR (RFH | JAL JAL 30,100 54% 57% |4 1:31,800, H:29,500 33,200 — 31,600
PR (ERER) =LA | (INE) | KXIR(BFD | JAL JAL 21,300 67% 69% | H:25300 26,300 — 30,300
=] JTA JAL 21,300 70% 72% | H:25,300 26,300 — 30,300
EFK  [KBERUFFD| JAL JAL 21,300 67% 69% | % 1:25,300 30,300 — 26,300
120 JAL JTA 21,300 70% 72% | % 1:25,300 30,300 — 26,300
SRR (BRER) =/ |48 GIRER) 5| B CRIE) [JAL/JTA[  JAL 28,600 54% 57% | %:29,700, 1:27,400. H:31,800 33,400 — 34,200
MAFE [RECRE)| JAL [JAL/JTA 27,000 57% 60% |4::32,100, 1:28,700. H:29,900 37,500 — 31,200
) == PGB R EE JTA JAC 24,700 52% 55% 29,800 — 31,000
IS &M JAC JTA 24,700 52% 55% 29,400 — 27,400
SRR (ERE) =L PR GRE) | EE JTA JAC 23,000 52% 56% 27,400 — 27,000
[ANTIES [ JAC JTA 23,000 52% 56% 27,400 — 24,900
RRECHA) =R |RR(CFE) | XR@EEFD|  JAL JAC 19,000 58% 59% |+:19.400 25,600 — 24,800
HE JAL JAC 18,500 58% 60% |4 +:19,000 23,200 — 23,200
fRikF [KBRUFFD| JAC JAL 18,200 59% 61% |H:18,600 24,000 — 24,800
HE JAC JAL 18,300 58% 60% | H:19,100 22,100 — 22,900
R (HE) =&ZXE|RRACHE)%| ERS JAL JAC 28,000 55% 58% | 1:29,000, H:27,700 30,300 — 30,300
KBR (BFH|  JAL JAL 33,300 43% 47% | 1:33,800 39,900 — 39,400
BEXER | ERE JAC JAL 28,500 54% 57% |%::29,000, £:27,700. H:29,300 31,800 — 32,200
RBR (BFH) | JAL JAL 32,400 45% 49% | H:32,900 37,300 — 39,000
RRCPAR) =ERS|RR(FE)%| BRE JAL JAC 31,900 50% 51% |4 +:32,300, H:30,300 37,400 — 36,000
EEKRS | JAL JAC 34,200 39% 41% % +:35100 43,450 — 43,450
ERER BERE JAC JAL 30,900 51% 53% | 4::31,400. 1:30,400. H:31,900 37,200 — 37,600
EEKRS | JAC JAL 34,200 39% 41% | H:35,100 43,450 — 43,450
RRCPAR) =BzB8|RRCAE)%| BRS JAL JAC 31,700 52% 55% | £:32,500, 1:32,600 39,600 — 40,100
EEKRS | JAL JAC 36,500 39% 41% % +:37,400 45,400 — 45,400
BeBER BRS JAC JAL 31,900 51% 54% | £:31,400, 1:30,800. H:32,300 40,100 — 40,500
EEKRS | JAC JAL 36,500 39% 41% | H:37,400 45,400 — 45,400
R (CHE) =Kk RH$|RACHR #| BRS JAL JAC 32,600 52% 54% |4::33,000, 1:33,500. H:32,200 41,000 — 41,000
HKREE | BRE JAC JAL 33,500 51% 53% | %:33,700, 1:32,400. H:34,200 41,500 — 41,900
EEKRS | JAC JAL 38,700 39% 41% | H:39,600 46,450 — 46,450
RROHE) =5 [RECRR)%| BRS JAL JAC 33,100 53% 54% | +:34,000, H:31,000 42,100 — 41,400
i BRS JAC JAL 34,200 51% 53% |+:32,900, H:25,700 41,800 — 43,000
EEKRS | JAC JAL 40,400 39% 41% | H:41,300 46,800 — 46,800
KRR =&ZXE|XBRUFDHX| BERS JAL JAC 24,600 51% 55% & 1:25000 27,700 — 27,300
BEEAEX | ERE JAC JAL 25,300 49% 53% |+:25,000, H:26,400 27,300 — 28,100
KR (R =B/85|KR(FHE|_EBES JAL JAC 26,700 48% 50% |€H:27,100 31,800 — 32,700
BERE | JAL JAC 29,200 36% 39% 36,500 — 36,900
ERER BERS JAC JAL 28,900 43% 46% |+:27,100 33,600 — 34,000
BERE | JUAC JAL 29,200 36% 39% 35,700 — 36,900
KR () =@z 8| KR(FFDE|_EBES JAL JAC 27,700 48% 52% |&+:28,100, H:28,600 34,700 — 35,600
BERE | JAL JAC 31,500 36% 39% 39,600 — 40,000
BeBER BRS JAC JAL 27,800 48% 52% |£:29,800, H:29,300 36,500 — 36,000
BEKRE | JUAC JAL 31,500 36% 39% 38,800 — 40,000
KIR (7 =ik REs | KBR (FFD 5| ERES JAL JAC 28,600 49% 51% |#+:29,000, B:29,100 36,100 — 36,500
MAKEEE | BRES JAC JAL 30,300 46% 48% [+:29,000, H:30,800 37,900 — 38,300
KR () =5 [ ABR(E%| BERS JAL JAC 30,000 48% 50% |4 +:31,300, H:29,500 39,000 — 38,100
5im% BERS JAC JAL 31,300 46% 48% |+:29,500 39,000 — 39,400
[ SEPNE] [ BREE JAC JAC 20,100 52% 56% |+ H:17,400 22,600 — 20,000
BEEAER | BERE JAC JAC 22,200 47% 52% |+ H:19,600 23,100 — 20,500
RBE=ERS [EEES BRE JAC JAC 24,300 43% 46% |+ H:21,700 28,500 — 25,900
BERE | JUAC JAC 20,200 51% 54% 31,750 — 31,750
ERER BRS JAC JAC 23,900 44% 47% |+ H:21,300 28,500 — 25,900
BERE | JUAC JAC 20,200 51% 54% 31,750 — 31,750
BE=1E28 [EEES BRE JAC JAC 25,300 44% 49% |+ H:22,700 31,400 — 28,800
BERE | JUAC JAC 22,500 50% 53% 31,850 — 31,850
BeBER BRS JAC JAC 24,700 46% 50% |+ H:21,800 31,400 — 28,800
BERE | JUAC JAC 22,500 50% 53% 31,850 — 31,850
12 =k RAR [EEES BREE JAC JAC 26,200 46% 48% |+ H:23,600 32,800 — 30,200
MKREE | BRES JAC JAC 26,200 46% 48% |+ H:23,600 32,800 — 30,200
BEKRE | JUAC JAC 24,700 49% 52% 33,400 — 33,400
1B =5 [ BRE JAC JAC 26,700 46% 48% |+ H:24,100 33,800 — 31,300
Bim% BERS JAC JAC 26,700 46% 48% |+ H:24,100 33,800 — 31,300
BERE | JUAC JAC 26,400 49% 51% 33,800 — 33,800
RRCPABR) =5RE|"RRCHAE)%| #HIE JTA RAC 27,600 61% 63% |4 1:29,000 34,500 — 31,500
EMER [FEGEE) | RAC [JAL/JTA 29,400 59% 61% | H:31,200 32,900 — 35,900
AiE RAC JTA 27,600 61% 63% | H:30,000 32,800 — 32,700
AP =5RE| EMEFK [F#FH)| RAC JAL 26,900 59% 61% | H:30,400 31,300 — 34,500
A (B#E) =530 | KB (BIFE) |  FiE JTA RAC 25,500 58% 59% |&+:27,700, H:25,300 29,700 — 28,100
EMER [H#GH)| RAC JTA 26,900 59% 61% | H:30,400 31,300 — 34,500
AiE RAC JTA 25,600 57% 59% | H:28,500 27,600 — 31,500
£HE(HE=5ME| SHMEF [HHEEH)| RAC JTA 29,400 58% 60% | 4::29,800, 1:27,800. H:30,900 33,900 — 36,000
12 = 5 ARE S5MEFR | #EGRHEH)| RAC JTA 24,800 58% 61% [£:25,600, H:25.800 28,900 — 29,900
(R =5 ME h#E (RIS FIE  [ITA/RAC| RAC 15,700 55% 57% 17,900 — 17,900
E5BER | FHiE RAC _[JTA/RAC 15,700 55% 57% 17,900 — 17,900
BN CHE) =AXE R JAL/JTA[JTA/RAG 22,900 56% 59% |&+:24,300, H:22,600 28,500 — 27,300
JTA/RAG|JAL/JTA 23,600 55% 57% |+:22,900, H:25,700 28,300 — 28,300
KB (RFH) =AXE JAL _|JTA/RAG 21,700 53% 55% | & +:23,900 26,900 — 25,700
JTA/RAC| JAL 20,400 56% 58% | H:23,900 24,100 — 27,000
KB (B dE) = ARE JTA [JTA/RAC 21,700 53% 55% |4 1:23900 26,900 — 25,700
JTA/RAC| JTA 20,400 56% 58% | H:23,900 24,100 — 27,000
ZEHE (D) =AXB|EEE(PE) % JTA _|JTA/RAG 22,900 55% 57% |%:24,900, +:23,900 27,900 — 27,300
AKES |8 GBE) [JTA/RAC] JTA 22,900 55% 57% |+:21,300, H:24,400 26,700 — 28,800
BE=AXE BEE [FEEREH)| JTA [JTA/RAC 18,500 53% 56% |€+:19,100, H:17,900 21,700 — 21,300
AXEH [ FH) [JTA/RAC] JTA 18,300 53% 56% |2 H:20,100 22,200 o 23,400
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RRCHEA) =2 [RECHA) | $# GRE) |JAL/JTA|JTA/RAC 24,800 60% | A% +:26,800. H:24,600 24,800
HHE P48 GRE) [JTA/RAC|JAL/JTA 26,300 57% |+:25500, H:26,700 26,300
RRECHA)=FR1E |ERPIH) |34 G8H) |JAL/JTA|JTA/RAC 24,800 63% | K% +:26,800, H:24,500 24,800
KRR (B [ JAL JTA 30,300 60% % 1:32,500, H:30,100 30,300
RiEH |4 (RH) [JTA/RAC|JAL/JTA 26,300 61% £:25,500, H:26,700 26,300
KR (FFH) =% B | KB (7 56 [ RE CRE) | JAL JAL 28,900 57% £:32,000, H:30,800 28,900
AIRFFR) | JAL JAL 28,400 58% |4 1:30,700 28,400
ZimplF [RECHH)| JAL JAL 31,300 54% | AR#:31,800, £:31,100, H:34.400 31,300
HIRFFR) | JAL JAL 28,400 58% :30,700 28,400
A (BFE) =% B | KB (BS7E) & [ CRIE) | JAL JAL 28,900 57% £:32,000, H:30,800 28,900
HIRFFR) |  JAL JAL 28,400 58% |4 1:30,700 28,400
ZimplF [RECHH)| JAL JAL 31,300 54% | AR#:31,800, £:31,100, H:34.400 31,300
HIRFFR) | JAL JAL 28,400 58% | H:30,700 28,400
KR (5 =hEJI | KPR (R FH) 5| B CRE) | JAL JAL 30,000 55% | H:30,400, 4 1,500, H:28,700 30,000
BIIF [REFECHHE)| JAL JAL 30,200 54% |7:30,600. 4 9,500, H:32,600 30,200
Kz (B8#) =hEJIl | KPR (B97E) 5| B CHE) | JAL JAL 30,000 55% | H:30,400, 4 1,500, H:28,700 30,000
JBIN%E [RECHE)| JAL JAL 30,200 54% | 7:30,600, 3 £:29,500, H:32,600 30,200
KR (7 =8IB% | AR (FH) 5| BECHE) | JAL JAL 27,200 59% |+ H:28,800 27,200
HIpRFE [FRFECHHE)| JAL JAL 28,400 57% | 7<:28,800, #:29,600. H:31,200 28,400
Kz (BE7) =HIB% | ABR (B97E) 5| BR CHEH) | JAL JAL 27,200 59% |+ H:28,800 27,200
HIBRFE [RFECHHE)| JAL JAL 28,400 57% | 7:28,800, £:29,600, H:31,200 28,400
K () =G | ABR(RFH | BRECHE) | JAL JAL 29,600 55% | H:30,000, %:30,400, £:28,800, H:32,000 29,600
LR [RR(EHE)| JAL JAL 30,400 53% |7:30,800. % +:33,300, H:31,200 30,400
Kix (B#) = /5 | ABR (B97E) 5| BR CHEH) | JAL JAL 29,600 55% | H:30,000, %:30,400, £:28,800, H:32,000 29,600
HIEFE  |[RRCHE)| JAL JAL 30,400 53% | /A:30,800, % 1:33,300, H:31,200 30,400
K (7} =B | AR (P | BRECHE) | JAL JAL 24,300 58% |£:27,200, +:26,700, H:27,600 24,300
BEER |[RECHE)| JAL JAL 26,800 54% | A% +:27,300. H:30,300 26,800
Kz (Bi#) =B | ABR (B97E) 5| BR CHEH) | JAL JAL 24,300 58% | £:27,200, +:26,700, H:27,600 24,300
BEEH |[EECHE)| JAL JAL 26,800 54% | A% +:27,300. H:30,300 26,800
ABR (FF) %[ RR(BH) | JAL JAL 21,800 61% 21,800
ZR%E |[ERER(CREH)| JAL JAL 23,400 58% | A%:23,800, +:23,100 23,400
ABR (FA7) %[ RR (BFH) | JAL JAL 21,800 61% 21,800
=R% |[HFECRA)| JAL JAL 23,400 58% | A%:23,800, +:23,100 23,400
KB (D) =IRi% |KBR (B %] HE JAC JAC 17,500 46% | A% +:17,900 17,500
[ & u JAC JAC 17,900 45% |4 17,900
KR () =8F5 | KRFDE| BES JAL JAC 21,300 49% |4 21,300
BYEX | BRS JAC JAL 21,000 50% |:21,800, H:22,300 21,000
KR () =2 | ABRGRFD | H# %) | JAL |JTA/RAC 21,000 62% | +:24,500 21,000
Ea%E |48 (%) [JTA/RAC]  JAL 21,600 61% | H:25000 21,600
Kz (BfE) == | ABR (B978) 5| H#8 (FBFR) | JTA |JTA/RAC 21,000 62% | +:24,500 21,000
Ea% |48 (%) [JTA/RAC]  JTA 21,600 61% | H:25000 21,600
K () =R1E [ KRGEREFD | $#GR#EH) | JAL |JTA/RAC 21,000 65% | +:24,500 21,000
AiEH [ GRE) [JTA/RAC]  JAL 21,000 65% | H:25000 21,000
Kz (BdE) =H1E | AR (B9F) 5| 448 (FBF) | JTA |JTA/RAC 21,000 65% | +:24,500 21,000
AiEH @ GEE) [JTA/RAC]  JTA 21,000 65% | H:25000 21,000
ZEE (hE) =% 5l | & E (P& IR FH TR | JAL JAL 28,700 54% |#+:30,900, H:28,300 28,700
ZERIF [ARGETH | JAL JAL 29,100 54% | A:29,700, £:29,600, £:28,500, H:32,700 29,100
AEE(PE) =% |£4E P R FEGAHm | JTA [JITA/RAC 24,400 59% | % 1:26,900 24,400
Ea% |48 (%) [JTA/RAC]  JTA 24,000 60% |4:24,300, £:22,400, H:26,300 24,000
AEHE(PE) =FE|25E P R PR | JTA [ITA/RAC 24,400 62% |4 1:26,900 24,400
AiEH @ GEE) [JTA/RAC]  JTA 23,800 63% |4 . 1+:22,200, H:26,300 23,800
AL G F %) =/MA[ARFFR) 2|/ CRE) | JAL JAL 28,300 53% & 9,400, H:33,000 28,300
% [RRCHE)| JAL JAL 27,600 54% & £:31,900, H:28.200 27,600
AR EFFR) =FR R AR F TR 2|/ CRE) | JAL JAL 31,200 53% |4 H:33,600 31,200
FftEES |RRCHE)|  JAL JAL 30,400 54% |4 £:33,600, H:31,200 30,400
AL G F %) =R FEFR) 2| R/ACRE) | JAL JAL 28,000 50% |4 7,200, H:30,300 28,000
fELFE  [RRECHE)| JAL JAL 26,600 61% |7A:27,100, %:30,600, £:30,100, H:26,400 26,600
ARG FR) =LB[ARFETFR E|[R/ACAE)| JAL JAL 29,200 57% | £:29,000, +:29,400. H:30,800 29,200
L% |[RRCHE)| JAL JAL 28,100 59% | :28,900, £:32,200, F:30,900. H:27,700 28,100
R EF TR =LOFH[ ARG TR %R CAE) | JAL JAL 29,200 60% |%:29,500, £:28,400, H:32,600 29,200
WOFEHE |RECHHE) | JAL JAL 27,600 62% | +:31,300, H:26,600 27,600
ARG T =HEARFETR E|[R/ACAE)| JAL JAL 32,000 54% |%::33,900, £:31,600, H:36,900 32,000
HEX |[HRCHAE)| JAL JAL 31,800 54% | A:32,300, £:35,700, £:35,400, H:32,400 31,800
ARG T =EE[ARFETR E|[R/ACAE) | JAL JAL 30,300 55% |4:30,100, £:30,500, H:34,200 30,300
mEH |[RRCHE)| JAL JAL 29,400 56% | A:30, £:32,700, 1:31,300, H:28,900 29,400
ARG T == [AREFR 2[R/ CRE) | JAL JAL 30,200 55% %31, 9,600, H:33,600 30,200
BRFE  [REECHHE)| JAL JAL 29,400 56% |33, 3,300 29,400
ARG TR == ARFEFR 2| /ACRE) |  JAL JAL 31,300 55% | 4:32,400, +:30,900, H:35,600 31,300
=A% |[ERCHE| JAL JAL 29,800 57% | A:30,300, £:34,200, 1:34,600, H:31,000 29,800
AL G F %) =LA FFR) 2[R/ CRE) | JAL JAL 32,400 54% |4 H:33,600, +:32,000 32,400
MlF  [RRCHE)| JAL JAL 30,100 57% | 7A:30,900, £:33,300, £:32,800, H:32,000 30,100
ARFFR) =AM ARFFR) H([/ACAE)|  JAL JAL 32,300 57% |4 £:31,900, H:36.400 32,300
A [FRRERCEE| JAL JAL 33,100 56% 4 +:35,700, H:30,700 33,100
ARG TR =K7 [ARFEFR) 2| R/ACAE) |  JAL JAL 31,600 57% |4 2,400, H:36,500 31,600
4 R CHED | JAL JAL 31,700 57% |7 %:35,000, 1:34,100, H:31,200 31,700
AT =RB[ARFEFR E|[R/ACAE) | JAL JAL 30,800 60% |4 +:31,700, H:35,500 30,800
Rg% |[RRCHE)| JAL JAL 31,300 59% | A:32,100, £:34,600, £:33,600, H:30,800 31,300
ARG Fm) =RAAEFETR 2[R/ ACRE) |  JAL JAL 31,200 58% |4 1:31,600, H:34,000 31,200
A% |[FRCHE)| JAL JAL 31,600 58% | A:32,300, £:35,300, £:34,100, H:31,000 31,600
ARG FR) =SB RFETR 2| /ACRE) |  JAL JAL 31,800 57% 432,500, H:35,900 31,800
EIE%E |RRECHE)| JAL JAL 31,100 58% | A:31,900, £:34,900, £:34,300, H:31,800 31,100
ARFFR) =ERB[ARFETR E([H/ACAE)| JAL JAL 31,600 59% |%::32,100, £:32,000, H:35,600 31,600
BRS% |RECHHE)| JAL JAL 31,000 60% | 7:31,500, #:33,200, 1:32,900 31,000
AR TR =@ BB | AR FHFR [ ERHE)| JAL [JAL/JTA 35,800 54% | 7:37,200, %:38,500, £:37,400, H:41,000 35,800
KRR (B [ JAL JTA 28,600 64% | 4:33,800, +:30,100, H:30,800 28,600
AEE(PE)| JAL JTA 30,100 63% |#:33,900, £:31,300, H:33,200 30,100
12 JAL JTA 32,100 61% |£:33,300, +:31,700, H:34,800 32,100
SR8 (FRER) % mm (FH) [JAL/JTA]  JAL 37,100 53% | A:37,900, £:40,400, £:38,700, H:37,000 37,100
KR (BEF) [ JTA JAL 27,600 65% |4 1:30,200, H:30,400 27,600
£EE(PE)| JTA JAL 33,900 58% 437,800, £:33,800, H:39,000 33,900
12 JTA JAL 31,900 62% |4 4,400 31,900
IR EF T =REAREGTR %" CAE)|  JAL JTA 40,200 50% |4 2,600, H:39,800 40,200
AiEH |[RRCHE)| JTA JAL 39,700 59% |4::40,400, +:40,000, H:42,200 39,700
& = &l EEF  [EECHHE)| JAL JAL 33,700 59% | /:34,500, %:37,600, £:36,900, H:35,600 33,700
AIRFFR) |  JAL JAL 30,000 61% |4 +:31,500 30,000
ZimplF [RECHH)| JAL JAL 34,500 58% |£:37,500, +:35,000, H:38,000 34,500
KBR (RFH) | JAL JAL 27,600 63% | H:29,200 27,600
HIRFFR) |  JAL JAL 28,400 63% | H:29,900 28,400
=R =heJI @BEFE |[FRCHE| JAL JAL 31,500 61% |A:31,800, £ 1:34,600, H:33,500 31,500
BIN%E  [RRCHE)| JAL JAL 33,000 59% |%:38,000, £:33,400, H:37,000 33,000
12 = B EEFE  [RECHE)| JAL JAL 32,000 60% | /:32,800, %:34,400, £:33,700, H:33,600 32,000
HIpRFE [HFECHHE)| JAL JAL 30,800 62% |4 1:32,800, H:34,400 30,800
&R =55 fEmEFE  [RECHE)| JAL JAL 32,800 59% | /:33,600, %:34,400, £:33,700, H:36,800 32,800
HEFE [ERGIHE)| JAL JAL 33,200 58% |4:37,400, £:37,200, H:35,600 33,200
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[T fEEF  [RECHHE)| JAL JAL 29,100 60% | 7:29,900, %:32,800, £:31,600, H:32,400 29,100
KBR (RFH|  JAL JAL 27,200 58% |4 +:28,400, H:26,300 27,200
HEEH [RECHE)| JAL JAL 30,000 59% |4 +:31,200, H:33,500 30,000
KBR (RFH|  JAL JAL 26,300 60% 427,400, £:27,800, H:27,000 26,300
BE=F% EEF  [EECHHE)| JAL JAL 27,400 62% |£:28,600, +:27,100, H:29,600 27,400
KBR (RFH|  JAL JAL 25,400 60% | +:25800 25,400
EHRFE [RERGH)| JAL JAL 27,800 61% | H:29,000, £:31,200, £:28.200 27,800
KB (RFH|  JAL JAL 25,800 59% |4 1:26,200 25,800
w'EA==R wmEH [ERCHE)| JAL JAL 25,800 63% | A% H:26,600. £:26,700 25,800
KBR (RFH) | JAL JAL 26,800 58% 26,800
=ZR% [mmCEE)| JAL JAL 25,800 63% |4 +:27,000, H:26,600 25,800
RBR (RFH | JAL JAL 25,600 60% 25,600
1B =1 @EFE | RKRAEFFD| JAL JAL 29,400 52% 29,400
EEFE | KRUFFD| JAL JAL 25,600 58% |+ H:29,000 25,600
2R =FE EEF  [EECHHE)| JAL JAL 26,300 60% | /A:27,100, %:27,500, £:26,700, H:28,100 26,300
KBR (RFH)|  JAL JAL 23,600 60% |4 +:24,000 23,600
MHEFE [RRERCEHE)| JAL JAL 26,900 59% | 7:28,000, £:30,000, £:28,400, H:27,500 26,900
KB (RFH|  JAL JAL 23,800 60% |4 +:24,200, H:23,400 23,800
12k = BEF  [EECHHE)| JAL JAL 23,700 60% | H:25,000 23,700
KB (RFH) | JAL JAL 30,600 47% % H:32,600, £:31,300 30,600
W% [RERCHE)| JAL JAL 25,900 56% | A:27,200, £:27,300, £:26,800, H:23,200 25,900
KBR (RFH | JAL JAL 30,600 47% 30,600
1BRE=%8 EEFE [ KBRUFFD| JAL JAL 23,000 58% | % 1:23,400, H:22,200 23,000
#FinFE [ KBRUFFD| JAL JAL 24,600 56% 24,600
&R =Mk fEEF  [RECHE)| JAL JAL 25,700 59% |£:27,600, +:25500, H:28,400 25,700
% [RFCHE)| JAL JAL 25,600 59% | 7A:26,200, £:30,200, £:26,000, H:27,700 25,600
EE==5 [ B (IF) | JTA |JTA/RAC 18,800 61% |£:19,400, +:18,900, H:18,200 18,800
Ea% |48 (%) [JTA/RAC]  JTA 18,600 61% |£:19,900, H:19,600 18,600
B =h18 [ hH8(IBF) | JTA |JTA/RAC 17,400 68% |£:19,000, + H:18,000 17,400
AIEH [ GE®R) [JTA/RAC]  JTA 18,600 65% |#:19,900, H:19,500 18,600
iRl =Te& SRR IR TR | JAL JAL 29,100 43% 29,100
e 5 IR TR | JAL JAL 29,100 43% 29,100
Ziwhl =& SRR IR TR | JAL JAL 28,100 48%  |%:29,600, 1:27,300, H:29,800 28,100
(=3 IR TR | JAL JAL 27,100 50% |% +:28,500, H:26,300 27,100
S EE ) ESTRES IR TR | JAL JAL 27,400 50% | H:29,400 27,400
HinHk IEFHTFE) | JAL JAL 27,100 51% 428,200, £:29,000, H:25,900 27,100
ESTENN N ZimplF |[HECHH)| JAL JAL 31,900 53% |£:32,100, +:31,000, H:36,900 31,900
R CHED | JAL JAL 32,300 52% |4 4,600, H:35,000 32,300
il C SI=R RECHHE) | JAL JAL 34,900 53% | &+ H:37,200 34,900
iRl = [ L ZimplF |[HECHH)| JAL JAL 31,700 58% |+:30,600, H:34,800 31,700
fELFE |[RECHE)| JAL JAL 30,700 59% |A:31,100, #+:34,200, H:31,400 30,700
iRl =158 ZimplF [RECEH)| JAL JAL 32,900 57% | +:32,200, H:35,200 32,900
HIRFFR) | JAL JAL 29,200 50% |4 9,700, H:30,100 29,200
L% [ERGEHE)| JAL JAL 31,300 50% |4 4,400, H:33,000 31,300
AIRFFR) | JAL JAL 29,600 59% |4 +:30,500 29,600
il =HE ZimplF [RECHH)| JAL JAL 36,200 53% |£:37,300, +:35,500, H:40,400 36,200
RBR (RFH|  JAL JAC 24,800 65% | H:26,400 24,800
HEX [HRCHAE)| JAL JAL 34,100 56% |4 1:38,800, H:36,100 34,100
iRl =l ZimplF |[HECHH)| JAL JAL 36,100 53% |£:37,700, +:35400, H:40,500 36,100
MLF  [RECHE)| JAL JAL 34,100 56% |4 H:35,600, 1:35,200 34,100
iRl =H1E ZimplF |[WECHH)| JAL JTA 46,300 56% | 48,700, +:48,000, H:49,400 46,300
AiEH |[RRCHE)| JTA JAL 44,700 57% |4 +:45800, H:49,000 44,700
JETTETN BIN%E  |[RECHE)| JAL JAL 31,300 52% 432,800, 1:29,800, H:34,800 31,300
% [RRCHE)| JAL JAL 30,400 54% 434,100, £:33,700, H:32,900 30,400
BI=rmtHE BIIF [REFECHHE)| JAL JAL 32,400 55% |£:32,800, H:34,600 32,400
FaftEESR |RECHE)|  JAL JAL 33,000 55% |:33,600, H:35,100 33,000
B =Rl MBS [RECHE)| JAL JAL 31,400 58% |4::32,200, £:31,000, H:33,800 31,400
fELFE  [RFECHE)| JAL JAL 29,000 61% | A:29,200, % +:32,100, H:30,100 29,000
BIN=HE BIIF [REFECHH)| JAL JAL 35,400 53% |£:37,800, H:39,400 35,400
HEX [HRCHAE)| JAL JAL 32,800 56% |4 1:37,500, H:34,000 32,800
BN =211 JBINFE  [RECHE)| JAL JAL 35,800 53% 438,200, H:38,800 35,800
L% [RECHE)| JAL JAL 32,400 57% |4 5,500, H:33,500 32,400
BII=F1E BINFE  [RECHE)| JAL JTA 44,000 57% |4 44,000
AIEH |[RRCHE)| JTA JAL 42,800 58% |4::43,400, H:46,900 42,800
g =11k HIpRFE [HFECHHE)| JAL JAL 29,800 54% |£:30,600, H:33,800 29,800
A% [RRCHE)| JAL JAL 30,200 54% 432,200, £:31,400, H:33,000 30,200
HR=mf ek HIpRFE [HFECHHE)| JAL JAL 32,400 55% | £:33,600, + H:33,200 32,400
FaftEEFR |RECHE)| JAL JAL 32,800 55% |4 +:34,000, H:35,200 32,800
g ="F1L HIpRFE [HFECHHE)| JAL JAL 29,600 60% |£:30,400, +:30,000, H:32,400 29,600
fELFE [RFCHE)| JAL JAL 29,000 60% | 7:29,400, % +:31,000, H:29,800 29,000
HR=15% HIpRFE [RFECHHE)| JAL JAL 29,200 61% |£:30,800, +:30,000, H:32,800 29,200
L% |[HERRCHE)| JAL JAL 29,600 60% |4 +:31,200, H:31,000 29,600
HR=H=E HIpRFE [HFECHHE)| JAL JAL 33,600 55% | £:36,000, +:34,400, H:38,000 33,600
HE R CHED | JAL JAL 32,400 57% |4 +:35600, H:34,100 32,400
g =#r1L HIpRFE [HFECHHE)| JAL JAL 34,000 55% | £:36,400, 1:34,800, H:37,500 34,000
MWL [RRRCHE)| JAL JAL 32,000 57% |4 H:33,600, 1:32,400 32,000
HIE=R1E HIpRFE [HFECHHE)| JAL JTA 42,600 58% |<+:45,800, H:43,000 42,600
AIEH |[RRCHE| JTA JAL 42,600 58% 443,800, 1:43,000, H:47,000 42,600
IR =M wmhFE  [HEECHHE)| JAL JAL 31,800 51% |£:33,600, +:33,200, H:33,800 31,800
% [RRCHE)| JAL JAL 32,200 50% |%:34,600, H:36,200 32,200
wh=mfRE wmhFE  [HEECHE)| JAL JAL 34,400 52% |:34,800, H:35,600 34,400
FaftEEFR |RECHE)|  JAL JAL 34,000 53% |4 4,800, H:35,200 34,000
L =FEW whFE  [HEECHE)| JAL JAL 31,600 57% |4 1:32,600, H:32,400 31,600
FELL%E [RERCHE)| JAL JAL 29,800 59% :30,200, % +:31,000, H:32,600 29,800
wh=HE whFE  [HEECHE)| JAL JAL 35,600 52% 7,700, H:38,000 35,600
HE FRECRA)| JAL JAL 33,200 55% £:35,600, H:34,100 33,200
wIL=Hl wmhFE  [HEECHE)| JAL JAL 36,000 52% 7,600, H:38,100 36,000
MIFE  [REFECHHE)| JAL JAL 34,000 54% 6,000, H:36,800 34,000
HLh=h1E whFE  [HECHHE)| JAL JTA 43,800 57% 0,200, H:44,600 43,800
RIEH |[RRCHE)| JTA JAL 43,800 57% H:47,000 43,800
=R BEfEF [HECHHE)| JAL JAL 28,100 51% £:27,200, H:32,900 28,100
% [RRCHE)| JAL JAL 27,100 53% 9,300, H:31,800 27,100
HEE=FEiCEE | mitEUER [RR(BHE)| JAL JAL 29,700 54% 1,900, H:34,000 29,700
EEE=RL BEfEF [HECHHE)| JAL JAL 27,100 59% 6,600, H:30,700 27,100
L% |[RRECHE)| JAL JAL 26,100 60% | A:26,500, £:29,400, £:28,900, H:28,200 26,100
HE=LS BEER |[RRCHE)| JAL JAL 28,400 57% 28,400
L% |[RERCHE)| JAL JAL 26,700 60% |4 9,100, H:29,800 26,700
HE=HE EEEFK [EECHH)| JAL JAL 31,900 53% |4 1,700, H:37,100 31,900
RBR (RFH)|  JAL JAC 22,700 63% |4 H:24,200 22,700
HEX [EZRCHHE)| JAL JAL 29,500 56% |4 £:33,500, H:32,900 29,500
KB (D] JAC JAL 23,600 62% % 1:25200. H:22,700 23,600

JAL/JTA/JAC/RAC
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=L EEEFK [RECHHE)| JAL JAL 32,300 52% |£:33,500, +:30,100, H:36,100 32,300
KBR (RFH|  JAL JAL 24,900 59% |4:26,000, £:26,400, H:25,600 24,900
WilF  [RERCHEE)| JAL JAL 28,900 57% |4:30,900, £:29,100, H:32,400 28,900
KBR (RFH|  JAL JAL 25,800 57% |4 +:27,000, H:24,900 25,800
EEE=dL LM BEEEF [HECHHE)| JAL JAL 32,200 56% | £:32,600, +:31,400, H:35,800 32,200
AT |[RECEH)| JAL JAL 31,400 57% |£:34,300, +:33,800, H:33,000 31,400
HEE=X% EEEFK [EECHH)| JAL JAL 32,000 55% |4 +:32,800, H:35,500 32,000
KB (RFH|  JAL JAL 27,900 55% 429,700, £:29,400, H:29,200 27,900
An% |[ERCHE)| JAL JAL 30,700 57% 434,000, £:33,500, H:33,200 30,700
HE=RI& EEEFK [EECHH)| JAL JAL 31,100 58% |4 1:32,000, H:34,100 31,100
RBR (RFH)|  JAL JAL 27,500 60% |4 H:29,600, 1:29,000 27,500
K% [RERCHE)| JAL JAL 30,100 60% |%:31,900, £:30,500, H:34,000 30,100
KBR (RFH|  JAL JAL 28,400 59% |4 +:29,600, H:27,500 28,400
HEE=REX EEEF [EECHH)| JAL JAL 30,400 58% |£:32,000, H:33,900 30,400
KB (RFH|  JAL JAL 27,300 50% & +:28,800, H:28,600 27,300
A% [EERCHHE)| JAL JAL 27,500 62% |%::30,400 9,900, H:33,200 27,500
RBR (RFH|  JAL JAL 28,700 57% |4:29,900, £:30,000, H:27,300 28,700
HE==IK EEEF [EECHH)| JAL JAL 31,400 57% |£:32,600. ,800, H:34,900 31,400
KB (RFH)|  JAL JAL 28,300 58% | 4:31,400, £:29,800, H:30,600 28,300
BIEFE |[RECHHE)| JAL JAL 29,300 60% | %:32,200, ,700, H:34,200 29,300
RBR (RFH|  JAL JAL 28,800 57% |%:30,400, ,200, H:29,500 28,800
HE=ERS EEEFK [EECHH)| JAL JAL 31,500 58% | +:32,400, H:35,300 31,500
KB (RFH|  JAL JAL 27,100 61% |4+ H:28,600 27,100
BRSH% |EECHH)| JAL JAL 29,100 61% |£:32,400, +:32,100, H:33,000 29,100
KB (RFH)|  JAL JAL 27,600 61% 428,800, £:29,600, H:26,700 27,600
HEE=R1E BREEF [HECHHE)| JAL JTA 41,800 56% | +:44,200 41,800
AIEH |[RRCHE)| JTA JAL 39,500 58% 441,100, H:45,800 39,500
BHR=/MR BA¥E  [HEECHH)| JAL JAL 25,700 54% |£:26,400, 1:26,800, H:27,200 25,700
% [RRCHE)| JAL JAL 25,600 55% & H: 25,600
ER=EiBE HHa% |[ERGHE)| JAL JAL 32,200 49% & 32,200
FaftEEF |RECHE)|  JAL JAL 32,200 49%  |£:33,100, H:33,800 32,200
EH=RL BA¥E  [EECHH)| JAL JAL 25,000 61% | H:25,800, 1:24,600 25,000
FELFE  [RFCHE)| JAL JAL 24,400 62% |4 H:25,400 24,400
BEHR=L5 BA¥E  [HEECHH)| JAL JAL 25,600 61% | < H:26,200 25,600
L% |[HRRCHE)| JAL JAL 25,400 61% 426,200, £:24,600, H:26,300 25,400
BEHA=WLOFH BA¥E [HEECHH)| JAL JAL 26,200 62% | H:27,000, 1:24,600 26,200
WOFEHE |RECHAHE) | JAL JAL 24,600 64% | H:25,400 24,600
EHR=HE BA¥E  [EECHH)| JAL JAL 29,500 55% | < H:31,400 29,500
RBR (RFH)|  JAL JAC 23,000 61% |4 1:23,400 23,000
HEX [EZRCHHE)| JAL JAL 29,600 55% 431,100, H:31,400 29,600
ARURFD|[  JAC JAL 23,400 60% |4 H:23,800 23,400
EHR=ES BA¥E  [HEECHH)| JAL JAL 26,700 58% | & H:27,500 26,700
mEFE [HEECHH)| JAL JAL 26,700 58% |&H: 26,700
EHx=mik BA¥E  [HEECHH)| JAL JAL 27,200 58% | H:28,800, 1:26,600 27,200
=% [RRCHE)| JAL JAL 26,500 59% |4 +:27,600, H:28,400 26,500
AR=m4 BA¥E  [HEECHH)| JAL JAL 27,200 59% |4 +:28,800, H:28,000 27,200
= |[ERCHE)| JAL JAL 27,600 58% |4:28,000, £:28,400, H:30,000 27,600
BEHx=ML BA¥E  [EECHH)| JAL JAL 29,400 56% | < H:31,300 29,400
RBR (RFH)|  JAL JAL 24,400 58% |4 1:24,800 24,400
Wilg  [ERERCHEE)| JAL JAL 27,400 50% 428,600, H:29,800 27,400
RBR (RFH)|  JAL JAL 24,400 58% | H:24,800 24,400
HFH=dAMm BA¥E  [HEECHH)| JAL JAL 29,300 59%  |£:30,900, H:30,100 29,300
AT |[RECEH)| JAL JAL 29,300 59% |£:30,500, H:29,700 29,300
BEHR=X% BA¥E  [EECHH)| JAL JAL 28,600 59% |£:30,200, +:29,000, H:29,800 28,600
RBR (RFH) | JAL JAL 27,000 55% |4 1:27,800, H:28,000 27,000
KoF [HEECHH)| JAL JAL 29,000 59% | H:29,800 29,000
KB (RFH|  JAL JAL 26,500 56% 427,400, 1:26,600, H:28,200 26,500
EHR=RIK BA¥E  [EECHH)| JAL JAL 28,200 62% | +:29,100, H:28,800 28,200
KB (RFH)|  JAL JAL 26,600 60% |%:27,600, £:27,800, H:28,400 26,600
RBFE [EECHH)| JAL JAL 28,600 61% |< H:29,400, 1:28,200 28,600
RBR (RFH)|  JAL JAL 26,600 60% |+:27,000, H:27,400 26,600
BEHR=EX BA¥E  [EECHH)| JAL JAL 28,600 60% | +:29,000 28,600
RBR (RFH) | JAL JAL 26,400 50% 427,000, H:27,400 26,400
A% [ERCHE)| JAL JAL 28,800 60% | 4:30,000, £:27,800, H:29,600 28,800
RBR (RFH|  JAL JAL 27,200 58% |4:27,300, £:27,400, H:27,800 27,200
EHR=EK BA¥E  [EECHH)| JAL JAL 27,600 61% |£:30,000, +:28,000, H:29,200 27,600
RBR (RFH|  JAL JAL 27,800 57% |%:30,200, £:28,200, H:29.400 27,800
BEFE |[RZECHE)| JAL JAL 27,200 62% 428,000, H:29,600 27,200
RBR (RFH|  JAL JAL 28,400 56% |4:28,900, 1:28,600, H:29,600 28,400
EH=ERS BA¥E  [EECHH)| JAL JAL 28,800 61% | H:29,600, £:29,200 28,800
RBR (RFH|  JAL JAL 26,600 61% |4 H:27,400, £:27,000 26,600
BRSH% |EZECHH)| JAL JAL 28,800 61% |£:29,600, +:27,600, H:30,000 28,800
RBR (RFH|  JAL JAL 26,200 61% |+:27,000, H:27,800 26,200
EHR=RE BA¥E  [HEECHH)| JAL JTA 38,000 59% |&+:40,400 38,000
RiEH |[RRCHE)| JTA JAL 38,000 59% | H:41,200 38,000
ZIR=/ ZR% |[ERER(CREH)| JAL JAL 24,800 56% | 1:24,000, H:26,000 24,800
% [RRCHE)| JAL JAL 25,200 55% |4 H:26,000 25,200
ZIR=miaE = FRECRA) | JAL JAL 30,800 51% |< H:31,300 30,800
R CHED | JAL JAL 31,300 50% | H:31,700 31,300
ZR=FW R CHED | JAL JAL 24,600 62% | +:24,200 24,600
R CHED | JAL JAL 23,600 63% | A% +:24,000. H:23,200 23,600
R CHED | JAL JAL 24,200 63% |4 H:25,000 24,200
R CHED | JAL JAL 22,800 65% |4:24,600, £:23,400, H:24,000 22,800
ZiR=1LAFA RECHEA)| JAL JAL 25,800 62% |+:24,200 25,800
RECHEA)| JAL JAL 24,200 65% 24,200
ZR=HE FRECRA)| JAL JAL 28,600 56% |4 H:30,200 28,600
KBR (RFH)|  JAL JAC 22,000 64% | H:22,800 22,000
HE FRECRA)| JAL JAL 26,300 60% |H:27,100 26,300
ARRFD|[  JAC JAL 23,200 62% |4 1:23,600 23,200
ZR=15 R CHED | JAL JAL 26,300 59% 26,300
RECHEA)| JAL JAL 25,800 59% 25,800
ZIR==#n R CHED | JAL JAL 24,800 61% 426,000, £:24,600, H:26,800 24,800
R CHED | JAL JAL 24,600 61% | %:25200, H:25,600 24,600
ZiR="% FRECRA) | JAL JAL 27,900 57% |< H:28,700 27,900
R CHED | JAL JAL 26,800 59% | H:28,400 26,800
ZiR=# FRECRA)| JAL JAL 29,000 56% |4::30,600, H:30,300 29,000
KBR (RFH)|  JAL JAL 24,200 59% 24,200
HRCHED | JAL JAL 24,200 63% | H:25000 24,200
KBR (RFH)|  JAL JAL 25,400 57% 25,400
ZiR=dc M =R% |[mEmCEE)| JAL JAL 28,900 59% 429,700 28,900
AT |[RECEH)| JAL JAL 27,600 61% 27,600
ZR=KX% =R% [mmCEE)| JAL JAL 28,200 59% 429,000, + H:28,600 28,200
KBR (RFH)|  JAL JAL 27,200 56% |4:27,900, H:27,800 27,200
Xo% [ERGIHE)| JAL JAL 28,200 59% |4 +:28,600, H:27,400 28,200
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=R% |[mmOEE)| JAL JAL 26,900 63% |4 +:27,800, H:28,000 26,900
KBR (RFH|  JAL JAL 26,800 61% 427,800, H:28,200 26,800
K% [RERCHE)| JAL JAL 25,600 65% |4:26,500, H:26,800 25,600
KBR (RFH|  JAL JAL 28,000 59% 28,000
ZIR=REX =ZR% [mEmCEE)| JAL JAL 26,200 63% 427,800, H:27,000 26,200
KBR (RFH|  JAL JAL 26,600 60% |4 H:27,200 26,600
AR ([RREH)| JAL JAL 25,400 64% 5,600, H:27,400 25,400
KB (RFH|  JAL JAL 28,300 57% |+:28,400, H:27,800 28,300
ZR=El& =ZR% [mmCEE)| JAL JAL 27,200 61% 428,800, £:27,600, H:28,000 27,200
KBR (RFH) | JAL JAL 27,600 58% |4::29,600, H:29,200 27,600
EEH  |RECHHE)| JAL JAL 26,800 62% | H:28,400 26,800
KB (RFH)|  JAL JAL 28,400 57% 428,800, £:29,600, H:30,000 28,400
ZR=ERS SR |[RECHE)| JAL JAL 28,200 61% |< H:28,400 28,200
KBR (RFH)|  JAL JAL 26,400 62% | H:27,200 26,400
BRSH |RECHH)| JAL JAL 26,800 63% |£:27,000, + H:27,200 26,800
KBR (RFH)|  JAL JAL 27,200 61% | +:28,000 27,200
ZR=R1E =R% |[mEmCEE)| JAL JTA 37,600 60% |4 +:40,000 37,600
AIEH |[RRCHE| JTA JAL 37,600 60% | H:40,000 37,600
BEA=/ML FOEF  [RFECHHE)| JAL JAL 24,000 53% | %:25,200, F:23,200, H:25,300 24,000
MRFE  [RRCHE)| JAL JAL 24,300 52% |4 H:25,900, 1:24,500 24,300
MHE=EiaE FUEF [RFECHHE)| JAL JAL 27,700 52% |4 +:29,200, H:27,300 27,700
FaftEES |RECHE)|  JAL JAL 26,700 54% &+ H:27,100 26,700
FE=MRL FUEF  [RFECHHE)| JAL JAL 24,100 59% |£:24,600, +:23,600, H:24,300 24,100
fELFE  [RFECHE)| JAL JAL 23,300 61% |A:23,700, £+ H:24,100 23,300
ME=L5 FOEF  [RFECHHE)| JAL JAL 24,700 59% |4 +:25400 24,700
L% |[RRCHE)| JAL JAL 23,900 60% |4 H:24,900, 1:24,300 23,900
ME=LOFEH BOEF  [RFECHHE)| JAL JAL 25,300 60% |£:25800, +:24,400, H:25,500 25,300
WOFEHE |RECHAHE) |  JAL JAL 23,100 64% |4 +:23500 23,100
ME=HZE BEF [EZECHH)| JAL JAL 28,100 53% |4 7,700, H:29,900 28,100
KBR (RFH)|  JAL JAC 24,800 55% |4 4,300, H:21,400 24,800
HEX [EZECHHE)| JAL JAL 28,300 53% & +:28,700, H:30,100 28,300
ARRFD|  JAC JAL 21,400 61% | H:21,800 21,400
ME=ES FUEF  [RFECHHE)| JAL JAL 25,800 56% |4 1:26,500, H:26,000 25,800
mEH |[HRCHE| JAL JAL 25,400 57% |4 H:26,200, 1:24,600 25,400
ME=F0 FOEF  [RFECHHE)| JAL JAL 26,300 55% | £:27,600, +:25,600, H:27,300 26,300
=% [RRCHE)| JAL JAL 25,300 57% % 1:26,500, H:26,800 25,300
ME=" FOEF  [RFECHHE)| JAL JAL 27,000 55% | 4:28,700, £:26,200, H:28,400 27,000
=AM |[ERCHE)| JAL JAL 26,500 56% | 4:27,700, £:28,100, H:28,700 26,500
FE=#L BEF [EZECHH)| JAL JAL 27,700 55% | £:28,700, +:27,300, H:29,700 27,700
RBR (RFH)|  JAL JAL 22,400 50% |4+ H:22,800 22,400
WilF  [ERERCHE)| JAL JAL 26,100 57% |%:27,700, £:25,900, H:28,900 26,100
RBR (RFH)|  JAL JAL 22,400 59% |4 +:22,600, H:22,800 22,400
FE =L FOEF  [RFECHHE)| JAL JAL 28,400 57% |4 . £:27.400, H:28,600 28,400
AN [RECHE| JAL JAL 28,600 56% |- 9,000, H:28,400 28,600
ME=X% BEF [EECHH)| JAL JAL 27,700 57% |&: t:28,800, H:28,300 27,700
RBR (RFH)|  JAL JAL 25,000 56% |4 25,000
Xo% |[RERCHE)| JAL JAL 27,700 57% |4 H:28,500, 1:26,500 27,700
RBR (RFH)|  JAL JAL 24,500 57% |%:25000, £:24,600, H:26,200 24,500
ME=RIE BEF [EECHH)| JAL JAL 26,400 61% |4 1:28,000, H:27,300 26,400
RBR (RFH | JAL JAL 24,200 62% 425000, £:25,800, H:24,900 24,200
K% [RRCHE)| JAL JAL 27,300 60% |4 H:28,100, :26,100 27,300
RBR (RFH)|  JAL JAL 24,800 61% % 1:25200, H:25400 24,800
ME=FX FUEF  [RFECHHE)| JAL JAL 25,700 61% |£:28,000, +:26,400, H:27,100 25,700
A% [ERCHE)| JAL JAL 27,500 58% 428,700, H:28,300 27,500
RBR (RFH)|  JAL JAL 25,200 59% |4:25500, £:25,600, H:25,800 25,200
ME==I BEF [EECHH)| JAL JAL 27,100 59% | £:28,800, £:27,800. H:28,700 27,100
KB (RFH)|  JAL JAL 26,200 57% |4:28,200, £:27,900, H:27,800 26,200
BIE&E |[EECHHE)| JAL JAL 27,100 50% %28, 6,900, H:29,100 27,100
KB (RFH|  JAL JAL 26,400 57% |4:26,500, £:26,800, H:27,600 26,400
MHE=ERS BEF [EECHH)| JAL JAL 27,900 59% | +:29,000, H:28,100 27,900
RBR (RFH) | JAL JAL 25,000 61% 425800, H:26,200 25,000
BRSH% |EZECHH)| JAL JAL 27,500 59% |£:28,300, +:25500, H:28,700 27,500
RBR (RFH)|  JAL JAL 24,200 62% |£:24,400, 1:25200, H:25.800 24,200
MEH=R1E FOEF  [RFECHHE)| JAL JTA 37,100 58% |<+:40,200, H:36,700 37,100
AIEH |[RRCHE)| JTA JAL 35,900 50% |H 35,900
EE=HE EEFE [ KBRUFFD| JAL JAC 25,700 55% |4 25,700
HE KRUFRFD[  JAC JAL 28,600 50% |4 , 28,600
e =l EEFK | KERUFFD| JAL JAL 29,900 47% € +:34,100, H:33,400 29,900
g [ KBRUFFD| JAL JAL 33,400 41% % H:34,600 33,400
EE=X% EEFE | KRUFFD| JAL JAL 30,200 49% |#&+ H:34,400 30,200
AnF [ KERUFFD| JAL JAL 29,600 50% |:30,600, +:30,200, H:31,100 29,600
EE=RIA | fEEH% | KERUFFD| JAL JAL 33,100 49%  |%:37,100, 1:37,300, H:36,600 33,100
RIEF | KIRERFD|  JAL JAL 29,300 55% |4 +:29,700, H:30,200 29,300
TEE=REX EEFE [ KERUFFD| JAL JAL 29,900 53% | H:34,400, 1:33,700 29,900
REARFE [ KBRUFFD| JAL JAL 30,300 52%  |£:30,500, H:30,600 30,300
EE=2Ik EEFK [ KBRUFFD| JAL JAL 34,100 46%  |%:37,600, 1:35,400, H:37,200 34,100
=] JAL JAC 34,200 51% 34,200
EER | KREEFD|  JAL JAL 34,900 45% € H:35,400 34,900
=] JAC JAL 34,200 51% 34,200
EE=ERS EEFK [ KERUFFD| JAL JAL 32,600 51% |£:37,300, 1:36,800, H:36,300 32,600
BREH¥ | KRR JAL JAL 32,100 52% 3,100, H:33,600 32,100
Wife =/ W% |BRECHHE)| JAL JAL 21,000 53% |£:21,400, H:23,300 21,000
MRFE [RRCHE)| JAL JAL 23,400 47% £ H:24,300 23,400
Wi =Ha Wifz%  |[RRECHE)| JAL JAL 21,400 59% 21,400
RS |RRCHE)| JAL JAL 20,200 62% 20,200
IR =IE5 | W%  [EECHE)| JAL JAL 23,500 56% | H:21,400 23,500
L% |[HRCHE)| JAL JAL 20,700 61% 422,800, £:21,400, H:22,100 20,700
WWz=A=Fa | kR |BEECHHE)| JAL JAL 22,300 61% 22,300
WOFEHE |RECHAHE) |  JAL JAL 21,900 62% | &+ H:22,300 21,900
W =HZE W% |[mRECHHE)| JAL JAL 26,000 52% 26,000
RBR (RFH)|  JAL JAC 27,500 49% 27,500
HE FRECRA)| JAL JAL 24,600 54% | H:25,500 24,600
ARRFD|[  JAC JAL 27,900 49% |%:30,300, 1:28,400, H:28,300 27,900
Wk =#5 W% |BRECHHE)| JAL JAL 24,600 53% | H:24,200 24,600
BmER |[RR(EH)| JAL JAL 24,600 53% 24,600
== W% |RECHHE)| JAL JAL 22,800 56% |4 1:23,700, H:23,200 22,800
=% [RRCHE)| JAL JAL 22,800 56% |4:23,400, H:23,800 22,800
Wik ==40 W% |BRECHHE)| JAL JAL 21,700 60% |£:24,400, H:24,800 21,700
EEF [HECHHE)| JAL JAL 25,300 53% |H:27,100 25,300
Wi =1l W% |BRECHHE)| JAL JAL 22,300 59% |< H:23,200, 1+:24,100 22,300
KBR (RFH)|  JAL JAL 29,100 45% 29,100
Wilg  [RRERCHE)| JAL JAL 25,500 53% 425900, H:25000 25,500
KBR (BFH]|  JAL JAL 29,100 45% |%:32,000, +:29,800, H:31,100 29,100
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Wiz =4t Wiz %  |RRECHE)| JAL JAL 25,700 57% 25,700
AT |[RECEH)| JAL JAL 25,700 57% |+:25,300 25,700
Wiz =K% W% |["RECHHE)| JAL JAL 26,400 55% |4 +:27,300, H:25,900 26,400
ABRFRFD[  JAL JAL 32,400 42% |%:33,200, H:33,100 32,400
KoF [HEECHH)| JAL JAL 25,000 57% |% H:25,900 25,000
ARRURFD[  JAL JAL 31,400 44% %:33,100, +:32,700, H:32,200 31,400
iz = R W% |["RECHE)| JAL JAL 25,400 59% |4 +:26,400, H:26,500 25,400
ABRRFD[  JAL JAL 32,000 48% |%:33,100, 1:32,400, H:33,600 32,000
KRR [REHH)| JAL JAL 26,800 56% | +:26,400 26,800
KB (RFH)|  JAL JAL 32,000 48% |%:34,400, 1:32,700, H:34,300 32,000
LAz =REA W% |[RECHE)| JAL JAL 24,600 50% |4::26,400, H:23,800 24,600
KBR (RFH|  JAL JAL 31,700 47% % H:32,400 31,700
AR ([RERH)| JAL JAL 23,700 60% |+:23,800, H:25,900 23,700
KB (RFH|  JAL JAL 32,300 46% |3 3,100, H:34,000 32,300
L =25 W% |["RECHHE)| JAL JAL 25,600 57% & 6,100, H:25,900 25,600
ABRFRFD[  JAL JAL 33,300 44% % . £:34,700, H:35,600 33,300
EEH  |RECHHE)| JAL JAL 25,300 57% | H:27,000 25,300
KB (RFH|  JAL JAL 33,600 44% % H:36,800, £:34,500 33,600
W =ERS W% |[mRECHHE)| JAL JAL 27,100 56% |4 1:27,500, H:25,500 27,100
KB (RFH) | JAL JAL 32,000 49% |%:33,300, 1:31,500, H:33,800 32,000
BREHX |[HECHH)| JAL JAL 25,200 59% 4,700, H:25,600 25,200
KBR (RFH)|  JAL JAL 31,100 51% 434,000, £:32,700, H:33,300 31,100
I =Fh1E W% |[RRECHE)| JAL JTA 37,400 54% |4 +:40,000 37,400
AIEH |[RRCHE)| JTA JAL 37,400 54% | H:40,000 37,400
E=HZE EFK [ KERUFFD| JAL JAC 23,600 56% | £:26,400, 1:24,900, H:22,500 23,600
HE KBR (RFH)|  JAC JAL 23,500 56% | H:25,400, 1:24,100 23,500
s =#xl hEFK [ KERUEFFD| JAL JAL 23,400 55% |4 1:25,000, H:23,900 23,400
Mg [ RKERAEFFD| JAL JAL 22,300 57% |4 H:24,000, :23,000 22,300
E=xX% EF [ KERUFFD| JAL JAL 25,800 53% | &+ H:27,500 25,800
KaF |[KERUFFD| JAL JAL 24,900 54% | %:27,400, £:25600. H:27.600 24,900
e =Rz hEFK [ KERUEFFD| JAL JAL 25,000 59% | %:27,400, £:26,.900. H:27.900 25,000
K% | RKRAFFD| JAL JAL 24,200 60% | 4:26,600, £:25,600, H:27.200 24,200
s =r=X EFK [ KERUEFFD| JAL JAL 25,500 57% |4 1:26,800, H:26,900 25,500
AR |[KREFFD| JAL JAL 24,300 59% |4 . £:26,000, H:26,200 24,300
E== hEFE [ KERUFFD| JAL JAL 27,200 54% |4 0,100, H:30,000 27,200
EEF | KRGERFD|  JAL JAL 26,400 55% | %:28500, £:28,600. H:29,100 26,400
WeE=ERS iEF [ KERUFFD| JAL JAL 26,000 58% |4 1:28,000, H:28,400 26,000
BREH |KRURFD| JAL JAL 24,900 60% | %:28,200, F:26,600, H:28,600 24,900
FR=HE #FinFE [ KBRUFFD| JAL JAC 22,300 57% | %:22,800, £:24,000. H:21,800 22,300
HE KB (RFH)|  JAC JAL 23,800 54% |£:24,200, +:23,000, H:22,800 23,800
Fim=Hl FEFE | RKRUEFFD| JAL JAL 22,400 56% 22,400
MLFE [ RKERAEFFD| JAL JAL 22,400 56% |4 2,000, H:23,200 22,400
FR=X% #FinFE [ KBRUFFD| JAL JAL 23,400 56% 4 4,800, H:25,200 23,400
A% | RKREFFD| JAL JAL 25,000 53% |4 4,200, H:26,800 25,000
FiR=RIK #FinFE [ KBRUFFD| JAL JAL 24,200 59% |4 5,400, H:25,600 24,200
RIBE [ KERUFFD| JAL JAL 24,200 59% |4 4,600, H:26,400 24,200
FiR=REX #FimFE [ KBRUFFD| JAL JAL 22,800 60% |& 4,200, H:24,600 22,800
REARFE [ KBRUFFD| JAL JAL 24,500 57% |4 5,000, H:24,200 24,500
FR== #FinFE [ KBRUFFD| JAL JAL 26,200 54% |&+:27,500, H:26,600 26,200
=R | KRGERFD|  JAL JAL 26,400 54% | %:27,300, 1:26,200, H:28,300 26,400
FR=ERS #FinFE [ KBRUFFD| JAL JAL 24,600 59% |< H:25,000 24,600
BREH | KRR JAL JAL 26,600 56% | £:27,000, +:24,600, H:27,400 26,600
A= % [RRCHE)| JAL JAL 24,000 57% |4 H:24,800, 1:23,600 24,000
FELFE [RFECHE)| JAL JAL 23,000 59% | £:23,200. H:24,400 23,000
IMNA=IRE MAFE [HRFECHE)|  JAL JAL 23,800 58% | < H:25,200 23,800
LES% |[HERRCHE)| JAL JAL 23,700 58% |4 H:25,200, :23,600 23,700
MR=ILAFER MAF  [RFECHE)| JAL JAL 23,600 61% |% H:25200 23,600
WOFEHE |RECHHE) |  JAL JAL 22,900 62% |+:24,000, H:23,500 22,900
INA=HE MAFE  [ERFECHE)| JAL JAL 28,000 51% | < H:30,400 28,000
HE R CHED | JAL JAL 27,900 52% 429,300, £:28,400, H:30,000 27,900
IMNA=TES MAFE [ERFECHE)| JAL JAL 25,700 54% | & H:26,500 25,700
mEH |[HRCHE)| JAL JAL 25,300 55% 425,700, F:24,500, H:26,500 25,300
INR=F MRAFE [RFECHE)|  JAL JAL 26,200 53% | H:27,800, 1:25,600 26,200
=% [RRCHE)| JAL JAL 24,800 56% |4 +:26,600, H:27,100 24,800
IMA=TF % [RRCHE)| JAL JAL 24,400 58% |4 H:27,000, 1:26,600 24,400
=A% |[ERCHE)| JAL JAL 26,200 55% % 1:25800, H:29,000 26,200
A =HAL NFE  [RRCHE)| JAL JAL 28,000 52% |4 H:29,000, :27,000 28,000
L%  [RRRCHE)| JAL JAL 26,000 55% |4:26,800, 1:26,300, H:28,200 26,000
AN =dE T MRFE  [RRCHE)| JAL JAL 28,300 55% |4:29,900, H:29,100 28,300
AT [RECEH)| JAL JAL 26,700 58% | £:28,700, +:27,800, H:28,300 26,700
IMR=K5 MAFE [ERFECHE)| JAL JAL 26,400 57% | A:27,600, ¥ H:28,800, 1:27,200 26,400
An% |[ERCHE| JAL JAL 27,300 56% |4:28,000, £:26,800, H:28,400 27,300
IMR=RIG MAFE [HRFECHE)|  JAL JAL 25,500 61% | £:27,800, £:26,.900. H:27.400 25,500
RIBFE [RECHH)| JAL JAL 27,200 58% |£:27,600, +:26,300, H:28,400 27,200
IMNA=FEX MAFE [ERFECHE) | JAL JAL 25,800 59% | H:27,200, 1:26,800 25,800
BEA% |[HRCHE)| JAL JAL 27,300 57% |%:27,800, H:28,600 27,300
INR=E I MRAFE [ERFECHE)|  JAL JAL 28,200 55% | £:29,400, +:27,500, H:29,800 28,200
BIE%E |RRECHAE)| JAL JAL 26,700 58% |4:27,900, £:27,000, H:29,000 26,700
IME=ERS MAF  [RFECHE) | JAL JAL 26,000 60% |< H:28,200, 1:27,000 26,000
BRSH¥ |RECHHE)| JAL JAL 27,300 58% | £:27,400, +:25,600, H:29,000 27,300
IMA=EH g [HEBEREH) | JTA |[JTA/RAC 23,000 63% |4 23,000
EoH [ GREH) [JTA/RAC]  JTA 23,400 62% |4 23,400
IMA=F1E MAFE [mRmECRE)| JAL JTA 36,200 58% |4 36,200
SR (R®) | JTA [JTA/RAC 23,000 66% |4 23,000
RiEH [RRGH)| JTA JAL 34,800 50% |4 34,800
48 (%) [JTA/RAC]  JTA 23,000 66% |4 23,000
== ] L 5 hHB(IF) | JTA |JTA/RAC 26,900 51% |4 26,900
et 8 (IRE) [JTA/RAC|  JTA 26,900 51% 26,900
[ITEE=EE ] L 5 hHB(IF) | JTA |JTA/RAC 26,900 56% 26,900
AiEH |8 GEE) [JTA/RAC]  JTA 26,900 56% | H:29,900 26,900
BAH== EEFE [l JAC JAC 21,000 56% |+:21,800 21,000
EGE [T JAC JAC 21,000 56% | H:21,800 21,000
BEEXRE=5# |EEXES | HKkBEH | JAC JAC 19,150 29% 19,150
5im% K EE | JAC JAC 19,150 29% 19,150
BEERB=TKRE| EBEXER 55 JAC JAC 17,400 41% 17,400
ok RERF 55 JAC JAC 17,400 41% 17,400
R (RER) =FFHF PR EE) F|BRE CHE) [JAL/JTA]  JAL 34,400 54% |£:35,200, +:33,800, H:35,600 34,400
RBR (RFH|  JAL JAL 28,800 62% 8,400, H:31,200 28,800
EHRE [mRmCEE)| JAL [JAL/JTA 33,200 56% | 1:34,600, £:36,000, H:34,300 33,200
RBR (RFH)|  JAL JAL 28,800 62% |4 +:32,600, H:28,400 28,800
s (GRE) = i HR CRE) [JAL/JTA]  JAL 31,400 58% | H:33,600 31,400
HACRE)| JAL  [JAL/JTA] 31,000 58% |%::32,200, £:32,300, H:31,900 31,000
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SRR (BRER) =FNE |48 (ANER) F | R CRE) [JAL/JTA[  JAL 33,100 53% |£:33,900, +:31,700, H:34,300 33,100
KBR (RFH|  JAL JAL 26,800 63% |4 1:26,400, H:29,200 26,800
MEHX [EmCEE)| JAL [JAL/JTA 32,300 54% | A:33,700, £:34,800, 1:34,400, H:32,800 32,300
RBR (RFH|  JAL JAL 26,800 63% |4 1:30,600, H:26,400 26,800
PR (BRER) =TE% PR (VB | KR (BFD | JAL JAL 28,600 61% | H:30,600 28,600
=] JTA JAL 37,000 52% |4 1:38,000 37,000
EEFK [ KBRUFFD| JAL JAL 28,600 61% | +:35400, H:32,000 28,600
12 JAL JTA 37,200 52% |4 H:38,400, 1:36,800 37,200
PR (BRER) = LT |48 (IRER) F | B CRIE) [JAL/JTA[  JAL 27,000 57% | H:29,200 27,000
KBR (RFH) | JAL JAL 30,200 57% |%::32,800, H:34,800 30,200
WWiEH  [EECHE)| JAL [JAL/JTA] 28,400 55% | A% +:29,800, H:28,200 28,400
RBR (RFH | JAL JAL 30,200 57% |4 1:33,600, H:29,400 30,200
PR (RER) =LA | (INE) | KR (BFD | JAL JAL 26,300 62% | H:30,300 26,300
=] JTA JAL 26,300 65% | H:30,300 26,300
EFK  [KBERUFFD| JAL JAL 26,300 62% | +:30,300 26,300
12 JAL JTA 26,300 65% |4 1:30,300 26,300
SRR (BRER) =/ |h#8 GIRER) 5| B CRIE) [JAL/JTA[  JAL 33,000 51% |£:33,400, +:31,600, H:34,600 33,000
MAFE [RECRE)| JAL [JAL/JTA 30,400 55% | 7A:31,800, £:35,000, £:32,400, H:33,300 30,400
R RE) == PREGEE) R EE JTA JAC 29,000 48% |%:29,800, H:30,800 29,000
IS 1= JAC JTA 27,800 50% |4:29,400, £ H:29,000 27,800
SRR (ERE) =L PR GRE) | EE JTA JAC 26,200 50% |4:27,400, H:26,500 26,200
ALLF =] JAC JTA 26,200 50% |4:27,400, £ H:25,400 26,200
RRECHA) =[RE |RRCHE) F| KR EEFD|  JAL JAC 25,600 45% | 1:26,000, H:24,800 25,600
HE JAL JAC 22,700 51% |%:23,200, £:23,600 22,700
fRukF [ KBRUFFD| JAC JAL 24,000 49% | H:24,800 24,000
HE JAC JAL 22,100 52% | H:22,900 22,100
R (HE) =&ZXE|RRACHE)%| ERS JAL JAC 30,300 54% | +:31,000 30,300
KB (RFH | JAL JAL 39,900 37% |1:40,400, H:39,000 39,900
BEXER | ERE JAC JAL 30,300 54% |< H:31,800, 1:29,800 30,300
RBR (RFH|  JAL JAL 38,100 40% | H:38,600 38,100
RRCPAR) =ERS|RR(FE)%| BRE JAL JAC 37,000 43% € +:37,400, H:35,400 37,000
EEXS [ JAL JAC 43,450 25% 43,450
ERER BRS JAC JAL 36,500 44%  |%:37,200, 1:35,200, H:37,400 36,500
EEXE [ JAC JAL 43,450 25% 43,450
RRCPAR) =BzB8|RRCAE)%| BRS JAL JAC 38,700 45% € +:39,600 38,700
EEXS [ JAL JAC 45,400 26% 45,400
BeBER BRS JAC JAL 39,400 44%  |%:40,100, 1:38,400, H:40,300 39,400
EEXE [ JAC JAL 45,400 26% 45,400
R (CHE) =Kk RH$|RACHE #| BRS JAL JAC 40,100 43% % +:41,000, H:39,200 40,100
MKREE | BREE JAC JAL 41,200 42%  |%:41,500, 1:39,900, H:41,700 41,200
EEXE [ JAC JAL 46,450 29% 46,450
RROHE) =5 [RECRR)%| BRS JAL JAC 41,200 43% € +:42,100, H:39,100 41,200
Bim% BRS JAC JAL 42,300 41% | +:41,000, H:42,800 42,300
EEXE | JAC JAL 46,800 31% 46,800
KRR =&ZXE|XBRUFDHE| BERS JAL JAC 26,300 52% |4 +:27,700, H:26,800 26,300
BEEAEX | BERE JAC JAL 27,300 50% |+:26,400, H:27,700 27,300
KR (R =ERE|KR(FHE|_EBES JAL JAC 31,300 41% £ H:31,800 31,300
EEXS | JAL JAC 36,500 24% 36,500
ERER BERS JAC JAL 33,600 37% [+:31,800 33,600
EEXE [ JAC JAL 36,500 24% 36,500
KR () =@z 8| KR(FFDE|_EBES JAL JAC 34,200 41% € +:34,700, H:35,100 34,200
EEXS [ JAL JAC 39,600 23% 39,600
BEeBER BRS JAC JAL 34,700 40%  |£:36,500, H:36,000 34,700
EEXE [ JAC JAL 39,600 23% 39,600
KIR () =ik RES | KBR (FFD | ERE JAL JAC 35,600 39% |4 +:36,100, H:36,500 35,600
MABEEE | BRES JAC JAL 37,900 35% |+:36,100 37,900
KR () =5 [ ABR(B%| BERS JAL JAC 37,600 37% | +:39,000, H:37,200 37,600
5im% BERS JAC JAL 39,000 35% |+:37,200 39,000
[ SEPNE] [ BREE JAC JAC 22,600 51% |+ H:20,000 22,600
BEEXER | BERE JAC JAC 23,100 50% |+ H:20,500 23,100
RBE=ERS [EEES BRE JAC JAC 28,500 37% |+ H:25900 28,500
EEXE [ JAC JAC 31,750 28% 31,750
ERER BRS JAC JAC 28,500 37% |+ H:25900 28,500
EEXE [ JAC JAC 31,750 28% 31,750
BE=1E28 [EEES BRE JAC JAC 31,400 37% |+ H:28,800 31,400
EEXE [ JAC JAC 31,850 33% 31,850
BEeBER BRS JAC JAC 31,400 37% |+ H:28,800 31,400
EEXE [ JAC JAC 31,850 33% 31,850
12 =k RAR [EEES BREE JAC JAC 32,800 35% |+ H:30,200 32,800
HKREE | BRE JAC JAC 32,800 35% |+ H:30,200 32,800
EEXE [ JAC JAC 33,400 35% 33,400
1B =5 [ BREE JAC JAC 33,800 35% |+ H:31,300 33,800
Bim% BRS JAC JAC 33,800 35% |+ H:31,300 33,800
EEXE | JAC JAC 33,800 37% 33,800
RRCPABR) =5E|RRCHAE)%| #HIE JTA RAC 31,500 57% | +:34,500 31,500
S5MESH [PHEGHFH) | RAC [JAL/JTA 32,900 57% | H:35,100 32,900
AiE RAC JTA 32,800 56% | H:35,700 32,800
AP =5RE| EMEFE [H#FBH)| RAC JAL 31,300 55% | H:34,500 31,300
KPR (B87E) =530 E [ KBR (BFE) | FHiE JTA RAC 27,500 56% | +:29,700, H:27,300 27,500
5MEFR |[#EGEHEH) | RAC JTA 31,300 55% | H:34,500 31,300
RiE RAC JTA 27,600 56% | H:30,500 27,600
£HE(RE=5ME| SIMEHF [HHEEH)| RAC JTA 33,500 55% |4:33,900, £:31,900, H:35,500 33,500
120 = 5 ARE S5MEFR | #EGRHEH) | RAC JTA 28,100 55% |£:28,900, H:29,100 28,100
RS =5MEPEGR;FE| FIE |JTA/RAC| RAC 17,900 51% 17,900
S5AER | A\ RAC [JTA/RAC 17,900 51% 17,900
RR(PH) =AKE | RECHE) 3| 948 (BBH) | JAL/JTA|JTA/RAC 27,100 51% | A% +:28700. H:26,900 27,100
KB% |48 (ABFR) [JTA/RAC|JAL/JTA 28,300 49% | +:27,700, H:28,700 28,300
KB (RFH) = AKX S| KPR (RFD) 4@ (&) | JAL _|JTA/RAC 24,100 51% |4 1:26,900 24,100
AKES |8 BE) [JTA/RAC| JAL 24,100 51% | H:27,000 24,100
KBx (BAE) = AXK 5| KPR (BFE) % 4@ (A& | JTA |JTA/RAC 24,100 51% |4 1:26,900 24,100
AKES [ [JTA/RAC| JTA 24,100 51% | H:27,000 24,100
LZHE(PE) =AKE|ZHE (P& EPEAE) | JTA [JTA/RAC 26,400 50% |4:27,900, 1:26,900 26,400
AKES [ [JTA/RAC] JTA 26,300 50% |£:26,700, +:24,700, H:28,300 26,300
BE=AXE BE%E [FEER®)| JTA [JTA/RAC 21,100 50% | +:21,700, H:20,500 21,100
AKXEH [ FE) [JTA/RAC] JTA 20,900 50% | £:22,200, H:21,900 20,900
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RREHE)=5d [FHRECHA) %[44 FH) | JAL/JTA[JTA/RAC 37,700 39% — 38,100 38,100 38,100 —
HHE P48 GRE) [JTA/RAC|JAL/JTA 37,600 39% — 37,900 37,900 37,900 —
RRECHA)=FR1E |ERPIH) |34 G8H) |JAL/JTA|JTA/RAC 39,000 42% — 39,400 39,400 39,400 —
KRR (BEF) [ JAL JTA 33,900 55% |4 1:34,500 — 33,900 33,900 33,900 —
RiEH |48 (RF) [JTA/RAC|JAL/JTA 38,900 42% — 39,200 39,200 39,200 —
KR (FRFH) =% B | KB (7 56 [ RE CRE) | JAL JAL 32,800 52% | A% +:33,600, H:32,300 — 33,600 33,600 33,600 —
HIRFFR) | JAL JAL 35,100 48% — 38,500 35,100 35,100 —
ZiERR [RERCHE)| JAL JAL 36,000 47% | A% +:34,700 — 36,200 34,700 34,700 —
HIRFFR) | JAL JAL 35,100 48% | H:35,300 — 35,300 35,100 35,100 —
KBx (BE7E) =% i3 | KBx (BTE) R CRA) | JAL JAL 32,800 52% | A% +:33,600, H:32,300 — 33,600 33,600 33,600 —
HIRFFR) |  JAL JAL 35,100 48% — 38,500 35,100 35,100 —
ZiERR [RECHE)| JAL JAL 36,000 47% | A% +:34,700 — 36,200 34,700 34,700 —
HIRFFR) | JAL JAL 35,100 48% | H:35,300 — 35,300 35,100 35,100 —
KR (5 =HEJI | KPR (R FH) 5| B CRE) | JAL JAL 34,000 49% | A:34,800, H:32,800 — 34,800 34,100 34,100 —
JBIN%E  [RECHE)| JAL JAL 35,100 47% | A%::34,200, £:34,000 — 34,900 35,100 35,100 —
Kz (B8#) =hEJIl | KPR (B97E) 5| B CHE) | JAL JAL 34,000 49% | A:34,800, H:32,800 — 34,800 34,100 34,100 —
JBIN%E |[RECHE)| JAL JAL 35,100 47% | A%:34,200 — 34,900 35,100 35,100 —
KR (7 =8IB% | AR (FH) 5| BECHE) | JAL JAL 32,500 51% |A:33,200, & — 33,600 33,200 33,200 —
HIpRFE [RFECHHE)| JAL JAL 34,300 48%  |%:32,800, — 34,100 34,300 34,300 —
Kz (BE7) =HIB% | ABR (B97E) 5| BR CHEH) | JAL JAL 32,500 51% | 7:33,200. 4 — 33,600 33,200 33,200 —
HIpRFE [FHFECHHE)| JAL JAL 34,300 48% |%:32,800, *+: — 34,100 34,300 34,300 —
K () =G | ABR(RFH | BRECHE) | JAL JAL 33,200 49% | A% $:34,800 — 34,800 33,200 33,200 —
HILEFE  |[RRCHE)| JAL JAL 33,600 48% % +:33,900, H:34,700 — 34,500 34,400 34,400 —
Kix (B#) = /5 | ABR (B97E) 5| BR CHEH) | JAL JAL 33,200 49% | A% $:34,800 — 34,800 33,200 33,200 —
HIEFE  |[RRCHE)| JAL JAL 33,600 48% % +:33,900, H:34,700 — 34,500 34,400 34,400 —
K (7} =B | AR (P | BRECHE) | JAL JAL 30,700 47% — 30,700 30,700 30,700 —
BEER [RR(PH)| JAL JAL 31,500 46% | A#£:30,800, £:30,600, H:32,200 — 32,000 31,500 31,500 —
Kz (Bi#) =B | ABR (B97E) 5| BR CHEH) | JAL JAL 30,700 47% — 30,700 30,700 30,700 —
BEER [RR(PH)| JAL JAL 31,500 46% | A#£:30,800, £:30,600, H:32,200 — 32,000 31,500 31,500 —
ABR (FF) %[ RR(BH) | JAL JAL 22,600 60% — 23,800 23,800 23,800 —
ZR%E |[ERER(CREH)| JAL JAL 24,200 57% | +:24,000 — 25,200 25,400 25,400 —
ABR (FA7) %[ RR (BFH) | JAL JAL 22,600 60% — 23,800 23,800 23,800 —
=R% |[HFECRA)| JAL JAL 24,200 57% | +:24,000 — 25,200 25,400 25,400 —
KB (D) =IRi% |KBR (B %] HE JAC JAC 20,000 39% — 20,000 20,000 20,000 —
[ECES = JAC JAC 20,000 39% — 20,000 20,000 20,000 —
KR () =8EF5 | KRFDE| BES JAL JAC 25,500 39% — 26,400 25,500 25,500 —
BYEX | BRS JAC JAL 25,500 39% — 26,000 25,500 25,500 —
KR () =2 | ABRGRFD | H# %) | JAL |JTA/RAC 34,000 38% — 34,000 34,000 34,000 —
Ea% |48 (%) [JTA/RAC]  JAL 34,000 38% — 34,000 34,000 34,000 —
Kz (BfE) == | ABR (B978) 5| H#8 (FBFR) | JTA |JTA/RAC 34,000 38% — 34,000 34,000 34,000 —
Ea% |48 (%) [JTA/RAC]  JTA 34,000 38% — 34,000 34,000 34,000 —
K () =R1E | KBRGRFD | $#GREH) | JAL |JTA/RAC 32,300 47% — 32,300 32,300 32,300 —
FiEH |48 GER8H) [JTA/RAC|  JAL 35,300 42% — 35,300 35,300 35,300 —
Kz (BdE) =R1E | ABR(BF) 5|44 (FBF) | JTA |JTA/RAC 32,300 47% — 32,300 32,300 32,300 —
RiEF A8 GRH) [JTA/RAC|  JTA 35,300 42% — 35,300 35,300 35,300 —
ZEE (hE) =%l | & E (&) IR FH TR | JAL JAL 33,800 46% | A% +:33,900, H:33,500 — 33,500 33,800 33,800 —
ZERIF [ARGETH | JAL JAL 34,600 45% | H:35,400 — 35,400 34,600 34,600 —
2EER(PEH) ==& |2aEPMxFE@H)| JTA [JTA/RAC 33,700 43% £ +:35,000 — 33,700 33,700 33,700 —
Ea% |48 (%) [JTA/RAC]  JTA 33,800 43% | H:36,400 — 36,400 34,100 34,100 —
2EE (P =RiE|25E M FE@H)| JTA [JTA/RAC 35,000 46% % +:36,300 — 35,000 35,000 35,000 —
AiEH [HEGE) [JTA/RAC]  JTA 35,100 46% | H:37,700 — 37,700 35,400 35,400 —
AL G F ) =/MA[ARFFR) 2[R/ CRE) | JAL JAL 33,800 43% | A H:34,900, % +£:34,100 — 34,900 34,600 34,600 —
MRFE  [RRCHE)| JAL JAL 34,800 42% | A% +£:34,400, H:35200 — 35,800 34,800 34,800 —
AR EFFR) =R R AR F TR E|[ /A CRE) | JAL JAL 38,600 42% | A:39,700, H:40,400 — 40,500 40,400 40,400 —
FaftEESR |RECHE)| JAL JAL 38,000 43% | A% $:39,000 — 40,500 40,500 40,500 —
AL G F %) =R FEFR) 2| /ACRE) | JAL JAL 33,000 51% |A:33,600, #1:32,800, H:34,300 — 34,300 33,800 33,800 —
FELFE  |[RFCHE)| JAL JAL 32,800 52% | A% 1:34,400, H:32,700 — 34,400 33,600 33,600 —
ARG FR) =LB[ARFEFR E|[R/ACAE)| JAL JAL 33,600 51% | A:36,000, £ +:35200, H:35,100 — 35,100 35,200 35,200 —
L% |[RRCHE)| JAL JAL 33,900 51% | A# +:35000, H:34,200 — 35,400 35,000 35,000 —
HREF TR =LOFH[ ARG TR %R CAE) | JAL JAL 36,200 50% | /A:38,400, % +:37,000, H:37,700 — 37,700 37,800 37,800 —
WOFE% [RRCHE)| JAL JAL 36,100 50% | A% +:37,400. H:36,400 — 39,200 37,700 37,700 —
ARG TR =HEARFETFR E|[R/ACAE)|  JAL JAL 41,200 40% | A:42,000, H:42,700 — 42,700 42,000 42,000 —
EX |ERCHAE)| JAL JAL 42,000 39% A% +:42,100 — 42,800 42,000 42,000 —
AT =EES[ARFETR E|[/ACAE)| JAL JAL 38,600 43% | A H:39,900, % +:38,700 — 39,900 39,500 39,500 —
mEH |[RRCHE)| JAL JAL 40,100 40% | A:40,200, £ +:40,000, H:40,600 — 40,700 40,200 40,200 —
ARG T =mR[ARETR) 2|/ CRE) | JAL JAL 37,800 44% [ A:39,400, £ +:38,600, H:38,500 — 39,500 38,700 38,700 —
=% [RRCHE)| JAL JAL 38,900 42% | A% +:38,600, H:40,100 — 40,900 39,300 39,300 —
ARG TR =mM|[ARFEFR 2| /ACRE) |  JAL JAL 40,600 41% [ A:40,700, £ +:39,900, H:42,900 — 42,900 42,200 42,200 —
=A% |[ERCHE)| JAL JAL 41,400 40% | A:41,700, 4 — 43,000 41,500 41,500 —
AL G F %) =LA FFR) 2[R/ CRE) | JAL JAL 40,800 41% | A:40,900. 4 — 42,600 41,900 41,900 —
MLF  [RRRCHE)| JAL JAL 40,900 41% | A:41,700, & — 43,100 42,300 42,300 —
ARFFR) =AM ARFFR) H([R/ACAE)|  JAL JAL 35,900 52% | A%:36,700, H:37,400 — 44,100 43,400 43,400 —
LS |[RECEH)| JAL JAL 37,400 50% |A=+:37,500, H:35,700 — 37,100 36,300 36,300 —
ARG TR =K7 [AEFEFR E|[R/ACAE) |  JAL JAL 40,300 45% | A:41,700, £ +:40,900, H:42,300 — 42,300 41,500 41,500 —
4 R CHED | JAL JAL 41,500 43% | A% £:41,900 — 42,500 41,500 41,500 —
ARG T =RB[ARFETFR 2| /ACAE)|  JAL JAL 40,400 47% | A:42,000, £ +:41,200, H:41,900 — 43,000 43,300 43,300 —
Rg% |[HRCHE)| JAL JAL 41,300 46% [ A1:41,400, £:41,700, H:41,900 — 43,600 42,400 42,400 —
ARG Fm) =RAAEFEFR E|[H/ACAE) | JAL JAL 40,700 45% | A:41,500, H:42,200 — 42,400 42,100 42,100 —
A% |[FRCHE)| JAL JAL 42,200 43% | A% +£:42,300 — 42,900 42,200 42,200 —
R FmR) =SB RFETR 2| R/ACRE) |  JAL JAL 40,700 45% | A:41,500, H:42,200 — 42,800 42,100 42,100 —
EIE%E |RRECHAE)| JAL JAL 41,700 44% | A% +£:42,300, H:42,200 — 42,900 41,700 41,700 —
ARFFR) =ERB[ARFETR E([H/ACAE)| JAL JAL 41,200 46% | A:42,300, H:43,100 — 43,400 43,000 43,000 —
BEREEHX |[HFECRA)| JAL JAL 42,300 45% | A% +£:42,400, H:42,700 — 43,800 42,500 42,500 —
AR TR =@ BB | AR FHFR R ERHE) | JAL [JAL/JTA 44,600 43% | A:45,400, 1:43,900, H:46,100 — 47,000 46,100 46,100 —
KRR (B [ JAL JTA 41,300 48% | A#%:42,000, £:41,600, H:43,000 — 43,000 42,700 42,700 —
AEE(PE)| JAL JTA 40,400 50% | A:42,600, £ 1:42,000, H:43,200 — 44,600 43,100 43,100 —
12 JAL JTA 37,000 55% | H:39,400 — 41,600 39,400 39,400 —
SR8 (FRER) 5 mm (FH) [JAL/JTA]  JAL 45,200 42% | A1£:46,200, £:46,500 — 47,200 47,100 47,100 —
KRR (BEF) [ JTA JAL 41,100 49% | A% +£:42,600, H:39,300 — 42,000 41,700 41,700 —
£EE(PE)| JTA JAL 43,800 45% | A% +:43,900, H:46,100 — 46,100 44,100 44,100 —
12 JTA JAL 37,000 55% |4 1:39,400 — 40,200 39,400 39,400 —
ARG T =REEFETR X[/ ACAE)| JAL JTA 46,600 52% | A:47,700, H:48,400 — 49,300 48,400 48,400 —
AiEH |[RRCHE)| JTA JAL 47,600 51% A%+ H:48200 — 50,400 47,600 47,600 —
& = & Rl EEF  [REECHHE)| JAL JAL 43,200 47% | A% +:44,000, H:43,000 — 44,000 44,200 44,200 —
HIRFFR) | JAL JAL 34,400 55% &+ — 37,600 36,800 36,800 —
ZimplF |[RECHH)| JAL JAL 46,600 43% |4 — 46,900 45,300 45,300 —
KBR (RFH) | JAL JAL 33,800 55% — 33,800 33,800 33,800 —
HIRFFR) | JAL JAL 32,800 57% | H:35,200 — 37,400 35,200 35,200 —
=R =heJI @EFE |[FRCHE| JAL JAL 42,400 47% | A:44,000, £ +:43,200, H:43,000 — 44,000 44,700 44,700 —
BNIF  [EECHH)| JAL JAL 44,300 45% | K% +:43,300 — 44,600 44,600 44,900 —
KBR (RFH)|  JAL JAL 33,700 53% 18/1:ZFHEL — 35,300 35,300 35,300 —
12 = B EEFE  [REECHE)| JAL JAL 42,900 46% | A H:43,600, % +:44,000 — 44,000 43,800 43,800 —
gz [RRCEHE)| JAL JAL 44,100 45% | 7K:44,400, £ 1:42,900 — 44,400 44,100 44,100 —
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[N fEEFE  [RFECHE)| JAL JAL 42,400 47% | A% +:44,000, H:43,600 -— 44,000 44,200 44,200 —
HILFE  |[RR(HHE)| JAL JAL 43,400 45% | A:43,700, £ 1:44,800, H:44,200 — 44,500 44,200 44,200 —
[T BEF% [ERCEE)| JAL JAL 41,100 43% — 41,100 41,300 41,300 —
KBR (RFH|  JAL JAL 34,600 47% — 34,600 34,600 34,600 —
HEER ([REHH)| JAL JAL 40,600 44% | K% +:40,500, H:41,300 — 41,300 41,000 41,300 —
RBR (RFH|  JAL JAL 34,600 47% — 34,600 34,600 34,600 —
BE=F% BEF  [REECHHE)| JAL JAL 34,900 51% |% H:35700 — 36,100 36,100 36,100 —
RBR (RFH)|  JAL JAL 32,400 49% — 32,400 32,400 32,400 —
EHRE (REH)| JAL JAL 35,200 51% |A=+:35500, H:35300 — 36,700 36,400 36,400 —
RBR (RFH)|  JAL JAL 32,400 49% — 32,400 32,400 32,400 —
R ([RE(HHE)| JAL JAL 33,000 53% — 34,200 34,900 34,900 —
KBR (RFH|  JAL JAL 33,000 49% — 33,000 33,000 33,000 —
SR |[RECHE)| JAL JAL 34,000 52% | A% +:34,300 — 35,500 35,200 35,200 —
RBR (RFH)|  JAL JAL 31,800 50% — 31,800 31,800 31,800 —
1EhE =1 @EFE | KRAEFFD| JAL JAL 31,000 50% — 33,400 33,400 33,400 —
EEFE | KRUFFD| JAL JAL 29,100 53% | &+ H:29,900 — 32,700 32,700 32,700 —
&R =FE BEF  [EECHHE)| JAL JAL 34,700 47% | A+:35000, %:35400, H:35,100 — 35,400 35,400 35,400 —
KBR (RFH|  JAL JAL 30,800 48% — 30,800 30,800 30,800 —
MERE [(RREH)| JAL JAL 34,700 47% | A% +:35000, H:35,300 — 35,600 35,000 35,100 —
KB (RFH|  JAL JAL 29,200 51% — 30,100 30,100 30,100 —
12k =L BEF% [ERCEE)| JAL JAL 32,200 46% — 33,500 34,300 34,300 —
KBR (RFH)|  JAL JAL 33,800 42% — 35,100 33,800 33,800 —
W% |[RECHE)| JAL JAL 33,300 44% | K% +:33,600 — 34,900 34,600 34,600 —
RBR (RFH) | JAL JAL 33,800 42% — 35,100 35,100 35,100 —
1BRE=%8 @EFE | RKRAEFFD| JAL JAL 29,000 48% — 29,000 29,000 29,000 —
i AR | JAL JAL 29,400 47% — 29,400 29,400 29,400 —
&R =Mk ¥ |[EECHHE)| JAL JAL 34,700 45% | AR +:35000, H:34,300 — 34,300 34,700 34,700 —
NRFE  [RECHE)|  JAL JAL 34,900 45% | A% +:34,300, H:35,800 — 35,700 35,100 35,400 —
EE==0 [ hHB(IBF) | JTA |JTA/RAC 28,200 41% — 28,200 28,200 28,200 —
=2hE h#8 (IBE) [JTA/RAC|  JTA 28,400 41% — 28,400 28,400 28,400 —
1B =h18 [ i8I F) | JTA |JTA/RAC 29,700 45% — 29,700 29,700 29,700 —
FRiE%H |48 GR8H) [JTA/RAC|  JTA 29,700 45% — 29,700 29,700 29,700 —
il =Te& SRR IR TR | JAL JAL 30,600 40% — 33,200 33,200 33,200 —
e IR TR | JAL JAL 30,600 40% — 33,200 33,200 33,200 —
Ziwhl =& SRR IR TR | JAL JAL 30,800 43% — 30,800 30,800 30,800 —
= IR TR | JAL JAL 30,800 43% |$+:31,400 — 31,400 30,800 30,800 —
SR ) SRR IR TR | JAL JAL 31,100 44% | H:31,700 — 31,700 31,100 31,100 —
i IR TR | JAL JAL 31,100 44% — 31,700 31,700 31,700 —
ESTENN N ZimplF |[WECHH)| JAL JAL 39,400 42% | A% +:38,400, H:39,000 — 39,000 38,100 38,100 —
R CHED | JAL JAL 36,900 45% | A ,800. £:37,300. H:37,600 — 38,200 37,300 37,300 —
Xl = Fa L B SI=P: FRECRA) | JAL JAL 40,000 46% |4 :40,800, H:39,500 — 44,400 47,000 47,000 —
iRl = R L ZimplF |[RECHHE)| JAL JAL 38,200 49% |4 7,100, H:37,900 — 37,900 36,900 36,900 —
fEL%E  |[RECHE)| JAL JAL 36,000 52% |7 6,800, H:35,800 — 36,800 36,800 36,800 —
S RN ZimplF |[RECHH)| JAL JAL 39,200 49% | A% $:39,500 — 39,200 38,700 38,700 —
HIRFFR) | JAL JAL 32,400 55% | H:33,200 — 33,200 33,200 33,200 —
L% [ERGHE)| JAL JAL 37,000 52% | A% +:37,800. H:37,300 — 37,800 38,100 38,100 —
HIRFFR) | JAL JAL 33,200 54% | A% +:33,600, H:32,800 — 33,600 33,600 33,600 —
iRl =HE ZimplF |[RECHHE)| JAL JAL 45,200 41% | 7K:45,500, % +:44,500 — 46,800 44,500 44,500 —
RBR (RFH|  JAL JAC 38,700 45% — 38,700 38,700 38,700 —
R CHE) | JAL JAL 44,400 42% | A% +:45200, H:44,200 — 45,200 44,500 44,500 —
iRl =l RE(CHHE) | JAL JAL 45,700 41% |4 5,100 — 47,100 44,700 44,700 —
R CHE) | JAL JAL 44,000 43% |4 144,800, H:44,500 — 45,500 44,400 44,400 —
TR =H1E FRECRA) | JAL JTA 54,400 48% |4 :53,100 — 54,400 53,100 53,100 —
HERCHE [ JTA JAL 51,200 51% |4 :52,000, H:51,800 — 52,800 51,000 51,000 —
JETTETN FRECRA)| JAL JAL 37,300 43% | A% +:36,800, H:37,000 — 37,000 37,300 37,300 —
R CHED | JAL JAL 36,500 44% | A:36,800, 1:36,000, H:37,600 — 38,200 37,700 37,700 —
BI=rmteHE RECHHE) | JAL JAL 40,900 44% | A% +:39,600, H:41,200 — 43,200 42,900 42,900 —
R CHED | JAL JAL 38,800 47% | A:40,800, £ +:40,000, H:39,800 — 44,400 48,000 48,000 —
B =Rl FRECRA) | JAL JAL 36,500 51% | A% +:35400, H:36,700 — 36,700 36,500 36,500 —
R CHED | JAL JAL 34,800 53% | /A:36,800, % 1:36,000, H:35,800 — 36,800 36,800 36,800 —
BIN=HE RECHHE) | JAL JAL 45,100 40% | A% 1:44,200 — 45,100 45,100 45,100 —
KBR (RFH)|  JAL JAC 38,600 43% 8/1:S/FLHL — 40,200 40,200 40,200 —
HEXR |[RRCHHE)| JAL JAL 43,700 42% | A:45,200, £ 1:44,400, H:44,200 — 45,200 45,200 45,200 —
JETTE NIT BINFE  [RECHE)| JAL JAL 44,300 41% | A% +:42,800, H:45,400 — 45,000 45,000 45,000 —
KBR (RFH)|  JAL JAL 31,400 53% [8/1::EGL — 33,000 33,000 33,000 —
Mg [RECHE)| JAL JAL 42,800 43% | A:44,800, £ +:44,000, H:44,500 — 45,500 45,100 45,100 —
BII=F1E BINFE  [RECHE)| JAL JTA 52,100 49% | A% +£:50,800 — 52,100 52,100 52,100 —
AIEH |[RRCHE| JTA JAL 50,000 52% | A:52,000, £ +:51,200, H:51,800 — 52,800 52,000 52,000 —
SN HIpRFE [RFECHHE)| JAL JAL 36,900 43%  |7k:37,200, £ +:35,700, H:36,500 — 36,500 36,900 36,900 —
% [RRCHE)| JAL JAL 36,600 44% | A:36,400, £:37,300, 1:36,800, H:38,200 — 37,800 36,900 36,900 —
Hpg=raf HIpRFE [HFECHHE)| JAL JAL 40,700 44% % — 42,700 42,700 42,700 —
FaftEEFR |RECHE)|  JAL JAL 39,700 45% |4 t:40,800. H:40,000 — 44,000 46,900 46,900 —
g ="F1L HIpRFE [HFECHHE)| JAL JAL 35,700 51% |7 & +:34,400 — 35,900 35,700 35,700 —
FELFE [RFECHE)| JAL JAL 35,700 51% |4 ® — 36,800 36,400 36,400 —
HR=1L5% HIpRFE [HFECHHE)| JAL JAL 36,700 50% | /:38,300, & — 36,700 37,500 37,500 —
LE% [WECHH)| JAL JAL 36,700 50% | /:37,400, % 1 — 37,800 37,700 37,700 —
HR=H=E BRFE |RECHHE)| JAL JAL 44,300 41% €& +:42,800 — 44,300 44,300 44,300 —
R CHE) | JAL JAL 44,100 41% | A H:44,800, % £ :45,200 — 44,800 44,100 44,100 —
g =#x1L RECHHE) | JAL JAL 43,500 42% | A:43,900, £ 1:42,400, H:44,600 — 44,600 44,200 44,200 —
R CHE) | JAL JAL 43,700 42% | A:44,400, £ +:44,800, H:45,100 — 45,100 44,000 44,000 —
HIE=F1E R CHED | JAL JTA 51,900 49% £ +:50,400 — 51,900 51,900 51,900 —
HRCHE | JTA JAL 50,900 50% | 7A:51,600, % +:52,000, H:52,400 — 52,400 50,900 50,900 —
HIR=MR FERECRA) | JAL JAL 36,200 44% [ A:36,500, £ +:37,600, H:36,900 — 36,900 37,000 37,000 —
R CHED | JAL JAL 36,100 44% [ A+:36,800, £:37,300, H:38,200 — 38,200 37,200 37,200 —
wLh=mfHaE wmhFE  [HEECHHE)| JAL JAL 40,000 44% | H:41,100 — 43,100 42,800 42,800 —
FaftEES |RECHE)|  JAL JAL 39,200 45% | A% +:40,800 — 44,400 46,400 46,400 —
L =FEW whFE  [HEECHHE)| JAL JAL 35,400 51% | 7:35200, £ +:36,300, H:36,600 — 36,600 36,200 36,200 —
FELFE  [RFCHE)| JAL JAL 35,200 52% | A% 1:36,800. H:36,400 — 36,800 36,300 36,300 —
wh=HE whFE  [HEECHHE)| JAL JAL 43,600 41% |4 3,700, H:44,700 — 44,700 44,400 44,400 —
HE R CHED | JAL JAL 43,600 41% |4 — 45,200 43,600 43,600 —
wIL=Hl wmhFE  [HEECHHE)| JAL JAL 43,200 42% |% ,300, H:45,000 — 44,700 44,300 44,300 —
MlF  [RERCHE)| JAL JAL 43,200 42% | A% +£:44,800, H:45,100 — 45,100 44,600 44,600 —
wh=HhiE whFE  [RECHHE)| JAL JTA 51,200 50% |% +:52,300, H:52,000 — 52,000 52,000 52,000 —
AIEH |[RRCHE)| JTA JAL 50,400 51% A% 152000, H:51,200 — 52,800 50,400 50,400 —
EEIRA BEER |[RRCHE)| JAL JAL 34,100 41% |4 :33,700, H:34,400 — 34,400 34,100 34,100 —
% [RRCHE)| JAL JAL 34,400 40% | A% +:33,900, H:34,800 — 34,800 34,400 34,400 —
HEE=FEfCEE | mitEUER [RR(BHE)| JAL JAL 37,900 42% — 40,700 43,400 43,400 —
EEE=RL BEfEF [HECHHE)| JAL JAL 33,300 49% A% +:32,400, H:34,100 — 34,100 33,300 33,300 —
L% [RFECHE)| JAL JAL 33,900 49% | H:33,300 — 33,900 33,900 33,900 —
HE=LS BEfEF [WECHHE)| JAL JAL 33,900 49% | K% +:34,400, H:34,600 — 34,600 34,300 34,300 —
LE% [EZECHH)| JAL JAL 34,500 48% | H:35700 — 34,900 35,200 35,200 —
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HE=HE EEEFK [RECHH)| JAL JAL 41,500 38% |A=+:40,800, H:42,200 -— 42,200 41,500 41,500 —
KBR (RFH|  JAL JAC 38,800 37% — 38,800 38,800 38,800 —
HEXE |[ERCHHE)| JAL JAL 41,600 38% — 41,600 41,600 41,600 —
KB (RFH)|  JAC JAL 35,800 42% — 35,800 35,800 35,800 —
=L EEEFK [EECHH)| JAL JAL 41,100 39% |AR#+:40,000, H:42,500 — 42,100 41,400 41,400 —
RBR (RFH)|  JAL JAL 31,600 48% — 31,600 31,600 31,600 —
Wil [RERCEE)| JAL JAL 41,200 39% | H:41,900 — 41,900 41,500 41,500 —
RBR (RFH)|  JAL JAL 31,600 48% — 31,600 31,600 31,600 —
EEE =L A BEEEF [HECHHE)| JAL JAL 36,200 50% A& +:35500, £:36,300, H:36,900 — 43,600 42,900 42,900 —
AT |[RECHH)| JAL JAL 37,000 49% | H:35,300 — 34,900 34,900 34,900 —
HEE=X% EEEFK [EECHH)| JAL JAL 40,600 43% | A% +:40,500, H:41,000 — 41,900 40,600 40,600 —
KBR (RFH|  JAL JAL 37,200 41% — 37,200 37,200 37,200 —
An% |[ERCHE)| JAL JAL 41,400 42% | A% +£:42,000, H:41,100 — 41,400 41,400 41,400 —
HE=RIE HEEH [RECHE)| JAL JAL 40,000 46% | A:40,800, £ +:40,200, H:40,400 — 41,800 40,600 40,600 —
ABRRFD[  JAL JAL 38,600 44% | A% +£:40,300, H:37,800 — 39,400 39,400 39,400 —
K% [RERCHE)| JAL JAL 40,900 45% | A% +:40,600, H:41,500 — 41,500 41,000 41,000 —
ABRRFD[  JAL JAL 38,400 44% | H:40,300 — 40,300 39,700 39,700 —
HEE=RX EEEFK [EECHH)| JAL JAL 41,000 43% | A% +:40,300, H:41,700 — 41,900 41,000 41,000 —
KB (RFH|  JAL JAL 34,800 48% — 35,400 34,800 34,800 —
AR ([RERH)| JAL JAL 41,800 42% — 41,800 41,800 41,800 —
KBx (RFH|  JAL JAL 34,600 48% — 34,600 34,600 34,600 —
HE==IK EEEFK [EECHH)| JAL JAL 41,000 43% | A% +:40,300, H:41,700 — 42,300 41,600 41,600 —
KB (RFH)|  JAL JAL 39,500 41% — 43,500 39,500 39,500 —
EEH  |RECHHE)| JAL JAL 41,800 42% | H:42,400 — 42,400 41,800 41,800 —
RBR (RFH|  JAL JAL 38,800 42% | A% +:37,800. H:39,500 — 39,500 38,800 38,800 —
HE=ERS EEEFK [EECHH)| JAL JAL 41,500 44% | AK:41,100, £ 1:40,800, H:42,200 — 42,600 42,500 42,500 —
RBR (RFH|  JAL JAL 36,600 48% — 37,400 36,600 36,600 —
BERSH |EECHH)| JAL JAL 41,100 45% | H:42,300 — 42,300 41,700 41,700 —
RBR (RFH)|  JAL JAL 36,600 48% — 36,600 36,600 36,600 —
EfE=R1E EEEH |[HEFECHE)| JAL JTA 48,000 50% — 48,000 48,000 48,000 —
AIEH |[RRCHE)| JTA JAL 46,800 51% | A% +:47,400, H:47,900 — 48,200 47,400 47,400 —
BH=/MR BA¥E  [HEECHH)| JAL JAL 28,400 50% ,800, £:29,100 — 28,800 29,200 29,200 —
% [RRCHE)| JAL JAL 28,400 50% £:28,000, £:28,300, H:29,600 — 29,600 29,100 29,100 —
ER=EiBE BAE |[EFECGEHE)| JAL JAL 39,300 38% — 41,500 39,400 39,400 —
FftEESR |RECHE)| JAL JAL 37,200 41% | H:38,100 — 39,400 41,500 41,500 —
BEH=MEL BHA¥E  [HEECHH)| JAL JAL 27,200 58% | A1:27,000, £:27,800, H:28,100 — 28,200 28,000 28,000 —
FELFE  [RFECHE)| JAL JAL 27,000 58% |4 H:27,800 — 28,200 28,200 28,200 —
BEHR=L8 BA¥E  [HEECHH)| JAL JAL 28,200 57%  A1:29,400, £:30,200, H:28,600 — 29,000 29,800 29,800 —
LES% |[HERRCHE)| JAL JAL 28,000 57% 428,300, H:29,800 — 28,900 28,800 28,800 —
BEHA=WLOFH BA¥E [HEECHH)| JAL JAL 30,400 56% | /:31,800, £:32,000, & H:31,200 — 30,800 31,600 31,600 —
WOFEHE |RECHHE) | JAL JAL 29,600 57% | A% +:30,000, H:31,800 — 33,000 31,600 31,600 —
EHR=HE BA¥E  [EECHH)| JAL JAL 35,400 46% | € H:36,200 — 35,800 35,800 35,800 —
KBR (RFH)|  JAL JAC 36,600 38% — 36,600 36,600 36,600 —
HE HRCHE | JAL JAL 35,400 46% % H:36,200 — 36,600 36,600 36,600 —
KB (RFH)|  JAC JAL 33,600 43% — 34,400 34,400 34,400 —
ER=ES BA¥E  [HEECHH)| JAL JAL 32,800 49% | A:33,300, £:33,700, £:32,900, H:33,400 — 34,500 34,100 34,100 —
mEH |[HRCHE| JAL JAL 32,800 49% |%:33,400, +:32,600, H:34,100 — 34,500 34,100 34,100 —
EHx=mik BA¥E  [HEECHH)| JAL JAL 32,100 50% | A+:32,800, £:33,600, H:32,000 — 33,600 33,300 33,300 —
=% [RRCHE)| JAL JAL 32,000 50% 432,800, H:33,600 — 34,000 33,300 33,300 —
EHR=mH BA¥E  [HEECHH)| JAL JAL 35,000 47% | A% +:35600, H:35,100 — 36,000 35,600 35,600 —
= |[ERCHE)| JAL JAL 34,900 47% |%:35,300, H:35,800 — 36,800 36,100 36,100 —
BEHx=l BA¥E  [EECHH)| JAL JAL 35,000 47% | A% +:35700, H:36,500 — 36,900 36,500 36,500 —
KBR (RFH)|  JAL JAL 29,400 49% — 29,400 29,400 29,400 —
Wil [RRERCEE)| JAL JAL 35,700 46% |%:35800, H:36,500 — 36,900 36,500 36,500 —
KBR (RFH)|  JAL JAL 29,400 49% — 29,400 29,400 29,400 —
HFH=1AMm BA¥E  [HEECHH)| JAL JAL 30,100 58% |£:31,700, H:30,900 — 38,000 38,000 38,000 —
AT |[RECHH)| JAL JAL 30,100 58% |£:31,300, H:30,500 — 30,900 30,900 30,900 —
BEHR=X% BA¥E  [EECHH)| JAL JAL 34,900 50% A +:35,100, £:35,900, H:35,800 — 36,300 36,100 36,100 —
KBR (RFH)|  JAL JAL 35,000 42% — 35,000 35,000 35,000 —
Ao [RREEH)| JAL JAL 34,900 50% | A+:35,100, £:35,600, H:35,900 — 36,300 36,100 36,100 —
KBR (RFH)|  JAL JAL 34,100 44% — 35,000 35,000 35,000 —
EHR=RIK BA¥E  [EECHH)| JAL JAL 35,000 52% | 7%:35,600, £:36,200, & H:35.400 — 37,900 37,900 37,900 —
ABRFRFD[  JAL JAL 36,400 46% | A% +£:38,100, H:35,600 — 38,100 37,200 37,200 —
K% [RRCHE)| JAL JAL 35,400 52% |%::36,200, H:36,600 — 37,400 37,000 37,000 —
ABRFRFD[  JAL JAL 36,200 46% | H:38,700 — 39,600 37,800 37,800 —
BEHR=EX BA¥E  [EECHH)| JAL JAL 34,900 51% |% H:35700 — 36,700 36,700 36,700 —
RBR (RFH|  JAL JAL 32,600 50% — 33,200 32,600 32,600 —
HRCHE [ JAL JAL 34,900 51% 435,700, H:36,300 — 36,700 36,300 36,300 —
KB (RFH)|  JAL JAL 32,400 50% — 32,700 32,600 32,600 —
EHR=EK RECHHE) | JAL JAL 34,900 51% |% H:35,700 — 36,700 36,700 36,700 —
KB (RFH)|  JAL JAL 37,300 42% — 41,300 37,300 37,300 —
HRCHE [ JAL JAL 35,100 51% |[A1:34,900, £:35,700, H:36.300 — 36,700 36,300 36,300 —
ABRFRFD[  JAL JAL 36,600 43% | A% £:35600, H:37,300 — 37,300 36,600 36,600 —
EH=ERS RECHHE) | JAL JAL 35,700 51% |£:36,200, +:35400, H:36,600 — 37,600 37,600 37,600 —
KB (RFH)|  JAL JAL 34,400 49% — 35,200 34,400 34,400 —
HRCHE [ JAL JAL 35,000 52% |%::35,800, H:37,200 — 37,600 37,000 37,000 —
KB (RFH)|  JAL JAL 34,400 49% — 34,900 34,400 34,400 —
EH=RE R CHED | JAL JTA 43,000 54% — 44,200 44,200 44,200 —
HERCHE|[ JTA JAL 42,200 55% | H:43,800 — 43,400 42,600 42,600 —
ZIR=/MR HACRE) | JAL JAL 26,800 52% | A% +:27,100. H:26,400 — 27,600 28,000 28,000 —
HACRE) | JAL JAL 26,700 52% |AK1:25800, £:26,300, H:27.600 — 28,400 27,900 27,900 —
ZIR=miaE RECHEA)| JAL JAL 34,400 45% — 38,100 38,100 38,100 —
HACRE) | JAL JAL 33,100 47% — 39,000 41,500 41,500 —
ZR=FW R CHED | JAL JAL 25,600 60% | A%+ H:25800 — 27,000 26,800 26,800 —
HACRE) | JAL JAL 25,800 60% — 27,000 27,000 27,000 —
ZIR=IE5 R CHED | JAL JAL 26,600 50% |k 1:28.200 — 27,800 28,600 28,600 —
HACRE) | JAL JAL 26,800 59% — 28,000 28,000 28,000 —
ZiR=1LAFA FRECRA) | JAL JAL 29,200 57% |7:30,600, £ +:30,000 — 30,400 31,200 31,200 —
R CHE) | JAL JAL 28,400 58% A= 1:28,800, H:29,800 — 31,000 30,500 30,500 —
ZR=HE HECHE [ JAL JAL 34,200 48% — 35,400 35,400 35,400 —
RBx (RFH)|  JAL JAC 36,000 40% — 36,000 36,000 36,000 —
HE RECHEA)| JAL JAL 34,200 48% — 35,400 35,400 35,400 —
KB (RFH)|  JAC JAL 34,200 43% — 34,200 34,200 34,200 —
ZR=15 FRECRA)| JAL JAL 31,600 50% | A:32,100, #+:31,700, H:31,400 — 33,300 32,900 32,900 —
R CHE) | JAL JAL 31,600 50% |4 1400, H:32,100 — 33,300 32,900 32,900 —
ZIR==#n R CHED | JAL JAL 30,800 51% |4 :31,600, H:29,800 — 33,200 32,400 32,400 —
R CHE) | JAL JAL 30,400 52% |7 129,600, H:31,600 — 32,800 32,000 32,000 —
ZIR=="& R CHED | JAL JAL 33,600 49% A% +:32,900. H:34,400 — 35,600 35,600 35,600 —
R CHED | JAL JAL 33,700 48% |%:33,300, 1:33,100, H:33,800 — 35,600 34,900 34,900 —
ZiR=# FRECRA)| JAL JAL 33,400 49% | A% +£:33,800. H:34,500 — 35,700 35,300 35,300 —
RBx (RFH)|  JAL JAL 28,800 51% — 28,800 28,800 28,800 —
HRCHED | JAL JAL 33,100 50% | H:33,800 — 35,000 34,600 34,600 —
KBR (BFH]|  JAL JAL 30,000 49% — 30,000 30,000 30,000 —
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ZR=dc M =R% |EmCEE)| JAL JAL 28,900 59% 429,700 — 36,800 36,800 36,800 —
dtAMFE |[RRECRH)| JAL JAL 27,600 61% — 29,700 29,700 29,700 —
ZiR=X% ZiR%F [EECHH)| JAL JAL 33,600 52% A= +:33900, H:33,800 — 35,100 34,900 34,900 —
KBR (RFH|  JAL JAL 34,400 44% — 34,400 34,400 34,400 —
A9% |[EECHE)| JAL JAL 33,700 52% |7 H:33,900 — 35,100 34,900 34,900 —
ZR=FI& =ZR% [mmCEE)| JAL JAL 33,800 54% |7 4,200 — 36,700 36,700 36,700 —
RBR (RFH)|  JAL JAL 35,800 47% £ +:37,500, H:35,000 — 36,600 36,600 36,600 —
K% [RERCHE)| JAL JAL 34,200 53% | H:34,600 — 36,200 35,800 35,800 —
RBR (RFH)|  JAL JAL 36,800 46% | H:38,700 — 38,700 38,100 38,100 —
ZR=REX ZR% [EER(CRHE)| JAL JAL 33,700 52% — 35,500 34,900 34,900 —
RBR (RFH)|  JAL JAL 32,000 51% — 32,600 32,000 32,000 —
A% [EERGHH)| JAL JAL 33,700 52% | H:34,300 — 35,500 35,100 35,100 —
KBR (RFH|  JAL JAL 33,000 50% — 33,000 33,000 33,000 —
ZR=El& ZR% [EER(CRHE)| JAL JAL 33,700 52% — 35,500 35,500 35,500 —
KBx (RFH|  JAL JAL 36,700 44% — 40,700 36,700 36,700 —
BEFE |[EECHHE)| JAL JAL 33,900 52% | A% +:33,700. H:34,300 — 35,500 35,100 35,100 —
ABRRFD[  JAL JAL 37,200 43% | A% +£:36,200, H:37,900 — 37,900 37,200 37,200 —
ZR=ERS =ZR% [mmCEE)| JAL JAL 34,200 53% | A:34,500, H:34,600 — 36,400 36,400 36,400 —
KB (RFH|  JAL JAL 33,800 51% — 34,300 33,800 33,800 —
BRSH |EECHH)| JAL JAL 33,000 55% | H:35,200 — 36,400 35,600 35,600 —
KBx (RFH|  JAL JAL 35,000 49% — 35,000 35,000 35,000 —
ZR=R1E ZR% |[ERE(CREH)| JAL JTA 41,800 55% — 43,000 43,000 43,000 —
AIEH |[RRCHE)| JTA JAL 41,000 56% | H:41,800 — 43,000 42,200 42,200 —
A=/ FOEF  [RFECHHE)| JAL JAL 27,500 46% | K%+ H:27,800 — 27,800 27,800 27,800 —
MRFE [RRCHE)| JAL JAL 27,700 46% [ A+:27,100, £:28,000, H:29,000 — 28,900 28,400 28,400 —
MHE=FiaE FUEF [RFECHHE)| JAL JAL 34,500 41% | H:35,100 — 36,500 34,400 34,400 —
FaftEESR |RECHE)|  JAL JAL 30,500 47% | 7:31,100, % +:30,800 — 34,700 36,500 36,500 —
FE=MRL FUEF  [RFECHHE)| JAL JAL 26,300 55% | A% +:26,500, B:27,500 — 27,500 26,700 26,700 —
L% [RRECHE)| JAL JAL 26,800 55% |AK+:27,100, £:27,500, H:27.200 — 27,500 27,500 27,500 —
ME=L5 FOEF  [RFECHHE)| JAL JAL 27,700 54% | A% +:28900. H:28,300 — 28,300 28,600 28,600 —
L% |[HRCHE)| JAL JAL 27,300 54% | A:27,800, £:28,000, £:27,600, H:28,300 — 28,100 28,400 28,400 —
ME=LOFEH BOEF [HFECHHE)| JAL JAL 29,800 53% |7:31,200, € +:30,600, H:30,900 — 30,900 31,100 31,100 —
WOFEHE |RECHAHE) |  JAL JAL 28,300 55% | 7:29,800, € +:29,100, H:29,700 — 31,900 30,600 30,600 —
ME=HE BEF [EECHH)| JAL JAL 34,800 42% | A:34,900, H:35,900 — 35,900 35,300 35,300 —
KBR (RFH)|  JAL JAC 35,000 37% — 35,000 35,000 35,000 —
HEXE |[ERCHHE)| JAL JAL 35,200 42% | A+:35500, %:35900, H:35,600 — 35,900 35,900 35,900 —
XBR (RFH)|  JAC JAL 32,000 42% — 32,800 32,800 32,800 —
ME=ES FUOEF  [RFECHHE)| JAL JAL 32,300 45% |7:32,800, £ 1:32,400, H:33,100 — 33,400 32,800 32,800 —
mEH |[RRCHE| JAL JAL 32,600 44% | A:32,900. £:33,100, £:32,700. H:33,500 — 33,800 33,400 33,400 —
ME=F0 FOEF  [RFECHHE)| JAL JAL 31,500 46% A% +:32,300, H:31,700 — 33,300 32,000 32,000 —
=% [RRCHE)| JAL JAL 31,800 46% [ A1:32,100, £:32,500, H:33,000 — 33,600 32,600 32,600 —
ME="% FOEF  [RECHHE)| JAL JAL 34,200 43% | A% +:33,600, H:36,100 — 36,100 35,500 35,500 —
=AM |[EECHE)| JAL JAL 34,700 43% | A%:35,000, H:35200 — 36,100 35,400 35,400 —
FE=#L BEFE [EECHH)| JAL JAL 34,000 44% | A% +:34,500, H:36,200 — 35,800 35,200 35,200 —
KBR (RFH)|  JAL JAL 27,800 49% — 27,800 27,800 27,800 —
il [RRCHHE)| JAL JAL 35,500 42% | A1:35800, %:36,200, H:35,900 — 36,200 36,200 36,200 —
KBR (RFH)|  JAL JAL 27,800 49% — 27,800 27,800 27,800 —
=L FOEF  [RFECHHE)| JAL JAL 29,500 55% | £:29,600, +:29,100, H:30,600 — 37,300 36,700 36,700 —
AN [RRECHE| JAL JAL 29,600 55% | /A:30,200, £:31,000, £ H:29,900 — 30,200 30,200 30,200 —
ME=X% BEFE [EECHH)| JAL JAL 34,300 47% | A% +:34,600, H:35,500 — 35,500 34,800 34,800 —
KBR (RFH)|  JAL JAL 32,500 43% — 33,400 33,400 33,400 —
Ao |[RREH)| JAL JAL 34,700 46% | A+:34,900, & H:35,300 — 35,600 35,400 35,400 —
KBR (RFH)|  JAL JAL 32,500 43% — 33,400 33,400 33,400 —
ME=RIE BEFE [EECHH)| JAL JAL 34,500 49% | 7:34,900, £ 1:34,800, H:35.100 — 36,800 36,600 36,600 —
ABRFRFD[  JAL JAL 33,900 46% | A% +£:35600, H:33,100 — 36,500 35,600 35,600 —
K% [RRERCHE)| JAL JAL 35,200 48% | A1:35,500, £:35,900, H:36,000 — 36,700 36,300 36,300 —
KBR (RFH)|  JAL JAL 34,600 45% | H:37,100 — 38,000 36,200 36,200 —
ME=FX FUEF  [RFECHHE)| JAL JAL 34,400 48% | H:35,400 — 35,600 35,400 35,400 —
BARE |[RRH)| JAL JAL 34,700 47% | A+:35000, %:35400, H:35700 — 36,000 35,600 35,600 —
KBR (RFH)|  JAL JAL 30,800 49% — 31,100 31,000 31,000 —
ME==I BEF [EECHH)| JAL JAL 34,300 48% | A% +:34,400, H:35,400 — 36,000 35,400 35,400 —
ABRFRFD[  JAL JAL 35,000 43% | A% +:35700, H:34,800 — 35,700 35,700 35,700 —
BEFE |[EECHE)| JAL JAL 34,900 47% [ A£:35,000, £:35,400, H:35,700 — 36,000 35,600 35,600 —
ABRFRFD[  JAL JAL 35,000 43% | A% +£:34,000, H:35,700 — 35,700 35,000 35,000 —
MHE=ERS BEF [EECHH)| JAL JAL 35,200 48% € 1:34,900, H:36,300 — 36,500 36,300 36,300 —
KBR (RFH)|  JAL JAL 32,800 49% — 33,600 32,800 32,800 —
BREHX |[HECHH)| JAL JAL 34,800 49% | A+:35100, %:35500, H:36,600 — 36,900 36,300 36,300 —
KB (RFH)|  JAL JAL 32,800 49% — 33,300 32,800 32,800 —
MHE=RE FOEF  [RFECHHE)| JAL JTA 42,500 52% | H:43,100 — 43,100 42,800 42,800 —
AIEH |[RRCHE)| JTA JAL 40,900 54% | A:42,000, £ +:41,300, H:41,700 — 43,100 42,300 42,300 —
EE=HE EEFE [ KERUFFD| JAL JAC 38,300 34% &+ H:39,200 — 41,700 41,700 41,700 —
HE KR (B[ JAC JAL 39,300 32% — 41,700 41,700 41,700 —
e =l EEFK [ KERUFFD| JAL JAL 33,100 42% € +:34,100, H:33,400 — 35,200 35,200 35,200 —
g [ KERUFFD| JAL JAL 33,400 41% % H:34,600 — 35,200 35,200 35,200 —
EE=X% EEFK [ KBRUFFD| JAL JAL 36,400 38% | &+ H:37,300 — 40,500 40,500 40,500 —
AoF | RKREFFH| JAL JAL 36,400 38% — 40,500 40,500 40,500 —
EE=RIA | fEEH% | KERUFFD| JAL JAL 41,200 37% |A:43,100, £ +:44,400, H:40,300 — 44,900 43,900 43,900 —
RIEF | KIRERFD|  JAL JAL 37,800 42% | H:41,600 — 45,700 43,600 43,600 —
TEE=REX EEFE [ KRUFFD| JAL JAL 33,700 47% |$&+ H:34,600 — 38,500 37,800 37,800 —
BAR |[KREFFD| JAL JAL 33,700 47% — 38,000 37,800 37,800 —
EE=2k EEFK [ KBRUFFD| JAL JAL 39,700 37% |AR=+:40400, H:39,900 — 45,300 43,100 43,100 —
=] JAL JAC 35,600 49% — 37,400 37,400 37,400 —
EER | KREEFD|  JAL JAL 38,500 39% | H:39,000 — 43,100 42,400 42,400 —
=] JAC JAL 35,600 49% — 35,600 35,600 35,600 —
EE=ERS EEFK [ KERUFFD| JAL JAL 38,500 42% € +:39,800 — 41,700 40,300 40,300 —
BREH | KRR JAL JAL 39,000 41% £ H:39,300 — 41,300 40,800 40,800 —
[ITT2INA Wiz %  |RECHE)| JAL JAL 25,200 43% | A% +:25500, H:24,700 — 26,000 26,500 26,500 —
NRFE [RRCHE)| JAL JAL 25,100 44% [ A1:24,100, £:24,600, H:26,100 — 27,000 26,400 26,400 —
Lz =Pl Wifiz%  |RRECHE)| JAL JAL 23,800 55% | A% +:24,100, H:23,600 — 24,900 25,100 25,100 —
RS |RRCHE)| JAL JAL 24,100 54% — 25,400 25,400 25,400 —
IR =155 | W%  [EECHE)| JAL JAL 25,500 52% | K% 1:26,800 — 26,800 27,500 27,500 —
LE® [RREH)| JAL JAL 25,200 53% — 26,500 26,500 26,500 —
WWRz=uA=Fa | kR  |BWECHHE)| JAL JAL 27,100 53% |A:27,700, £ +:27,400 — 29,000 28,700 28,700 —
WOFEHE |RECHAHE) | JAL JAL 27,100 53% | A% +:27,500, H:28,600 — 29,900 29,400 29,400 —
W =HZE W% |BRECHHE)| JAL JAL 31,200 42% | A:33,600, £ +:32,500 — 34,900 33,800 33,800 —
RBx (RFH)|  JAL JAC 37,500 31% — 37,500 37,500 37,500 —
HEXE |[ERCHHE)| JAL JAL 33,600 38% — 34,900 34,900 34,900 —
KB (RFH)|  JAC JAL 36,100 34% — 37,400 36,100 36,100 —
Wk=#5 W% |BRECHHE)| JAL JAL 30,600 41% | 7:31,200, £ £:30,800, H:30.400 — 32,500 32,100 32,100 —
mEF¥ [HEECHH)| JAL JAL 30,600 41% |4 0,400, H:31,200 — 32,500 32,100 32,100 —
== W% |BRECHHE)| JAL JAL 29,800 43% |4 :30,700, H:28,300 — 32,000 31,100 31,100 —
=% |[ERCHE)| JAL JAL 29,300 44% |4 :28,300, H:30,700 — 32,000 31,100 31,100 —
Wi ==40 W% |BRECHHE)| JAL JAL 32,200 40% A% +:32,100, H:32,300 — 35,000 33,500 33,500 —
ma%E  [ERGIHE)| JAL JAL 33,000 39% 432,600, £:32,300, H:33,100 — 35,000 34,300 34,300 —
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LAz =HA1l W% |[RECHHE)| JAL JAL 32,300 41% | A% +:33,100 — 35,200 34,000 34,000 —
KBR (RFH|  JAL JAL 30,500 43% — 31,800 31,800 31,800 —
Wilg  [RERCHE)| JAL JAL 33,100 39% | H:33,900 — 35,200 34,800 34,800 —
KBR (RFH|  JAL JAL 30,500 43% — 31,800 30,500 30,500 —
Wiz =4t W% |RECHE)| JAL JAL 25,700 57% — 36,500 36,500 36,500 —
dtAMFE |[RRERCRH)| JAL JAL 25,700 57% | +:25300 — 28,500 28,500 28,500 —
Wiz =K% W% |[mRECHHE)| JAL JAL 32,800 44% | A% +:33,200, H:32,600 — 34,500 34,100 34,100 —
RBR (RFH)|  JAL JAL 36,700 34% — 38,000 38,000 38,000 —
Xo% |[RECHE)| JAL JAL 33,000 43% A% 1:32,800, H:33,200 — 34,500 34,300 34,300 —
RBR (RFH)|  JAL JAL 36,700 34% — 38,000 36,700 36,700 —
Lz = R W% |[RECHHE)| JAL JAL 33,100 46% | A:33,600, % +:33,400 — 36,300 34,900 34,900 —
KBR (RFH|  JAL JAL 38,300 38% | A% +:40,200, H:37,400 — 41,500 40,500 40,500 —
K% [RERCHE)| JAL JAL 33,600 45% | H:34,000 — 35,800 35,300 35,300 —
ABRRFD[  JAL JAL 38,100 39% | H:41,900 — 43,200 39,800 39,800 —
Wi =8e&x W% |[RECHE)| JAL JAL 33,000 44% — 34,900 34,300 34,300 —
KB (RFH)|  JAL JAL 34,000 43% — 36,000 35,300 35,300 —
EA% [EERCHHE)| JAL JAL 33,000 44% | H:33,600 — 34,900 34,500 34,500 —
KBR (RFH|  JAL JAL 34,000 43% — 35,500 34,000 34,000 —
Wi ==18 W% |BRECHHE)| JAL JAL 32,700 45% | AR +:33,000, H:31,800 — 34,900 34,000 34,000 —
KB (RFH|  JAL JAL 39,300 34% — 42,600 40,600 40,600 —
BIEFE |[RECHHE)| JAL JAL 33,200 44% | A% +:33,000, H:33,600 — 34,900 34,500 34,500 —
ABRFRFD[  JAL JAL 38,600 35% | A% +:37,400. H:39,300 — 40,600 38,600 38,600 —
W=ERS W% |[mRECHHE)| JAL JAL 33,900 45% % +:33,600, H:34,000 — 35,900 35,300 35,300 —
KBR (RFH|  JAL JAL 36,100 43% — 38,300 37,400 37,400 —
BRSH |EECHH)| JAL JAL 32,200 48% | H:34,600 — 35,900 35,100 35,100 —
RBR (RFH) | JAL JAL 36,100 43% — 37,900 36,100 36,100 —
IRz =H1E W% |RECHE)| JAL JTA 42,100 49% — 43,400 43,400 43,400 —
AEHE |[ERCRE)| JTA JAL 41,200 50% | H:42,100 — 43,400 42,500 42,500 —
E=HZE (= RBR (RFH) | JAL JAC 34,200 36% — 34,200 34,200 34,200 —
HE AR (R | JAC JAL 34,200 36% — 34,200 34,200 34,200 —
s =#xl (= KBR (RFH)|  JAL JAL 27,000 48% — 27,000 27,000 27,000 —
g [ KBR(BF)|  JAL JAL 27,000 48% — 27,000 27,000 27,000 —
E=xX% (= RBR (RFH)|  JAL JAL 32,600 40% — 32,600 32,600 32,600 —
An%E | RKREFFH| JAL JAL 32,600 40% — 32,600 32,600 32,600 —
s =Rz (= ABR(FF)|  JAL JAL 34,000 44% | K% +:35700, H:33,200 — 35,700 34,800 34,800 —
RIBEE [ KERUFFD| JAL JAL 33,800 44% | H:37,200 — 37,200 35,400 35,400 —
s =r=X (= RBR (RFH) | JAL JAL 30,200 49% — 30,800 30,200 30,200 —
AR |[KREFFD| JAL JAL 30,200 49% — 30,300 30,200 30,200 —
E== (= RBR (RFH) | JAL JAL 34,900 41% — 38,900 34,900 34,900 —
HEE | KERUEFFD| JAL JAL 34,200 42% | A1:33200, %:33,400, H:34,900 — 34,900 34,200 34,200 —
WE=ERS = RBR (RFH) | JAL JAL 32,300 48% — 32,800 32,200 32,200 —
BREHX |KRURFD| JAL JAL 32,000 48% — 32,500 32,000 32,000 —
FR=HE F;BFE | RKRUEFFD| JAL JAC 33,200 36% — 33,200 33,200 33,200 —
HE AR | JAC JAL 33,200 36% — 33,200 33,200 33,200 —
Fim=Hl FEFE | RKRUEFFD| JAL JAL 26,000 48% — 26,000 26,000 26,000 —
mIFE [ KERUFFD| JAL JAL 26,000 48% — 26,000 26,000 26,000 —
FR=X% FBFE | RKRUEFFD| JAL JAL 31,600 40% — 31,600 31,600 31,600 —
A% | RKREFFH| JAL JAL 31,600 40% — 31,600 31,600 31,600 —
FR=RIK #FinFE [ KBRUFFD| JAL JAL 33,000 44% | K% +:34,700, H:32,200 — 34,700 33,800 33,800 —
RIBE [ KERUFFD| JAL JAL 32,800 45% | H:36,200 — 36,200 34,400 34,400 —
FiR=RX FEFE | RKRUEFFD| JAL JAL 29,200 49% — 29,800 29,200 29,200 —
BAR |[KREFFD| JAL JAL 29,200 49% — 29,300 29,200 29,200 —
FR== FBFE | RKRUEFFD| JAL JAL 33,900 40% — 37,900 33,900 33,900 —
HEE | KERUEFFD| JAL JAL 33,200 42% | A+:32,200, %:32,400, H:33,900 — 33,900 33,200 33,200 —
FR=ERS FBHE | RKRUEFFD| JAL JAL 31,000 49% — 31,800 31,000 31,000 —
BREH | KRR JAL JAL 31,300 48% — 31,500 31,000 31,000 —
A= % [RRCHE)| JAL JAL 27,000 52% A% 1:26,400, H:27,900 — 27,500 27,000 27,000 —
FELF [RFECHE)| JAL JAL 26,800 52% |7 — 26,400 26,800 26,800 —
INR=ILE MAFE  [ERFECHE)| JAL JAL 27,500 52% A3 128, — 28,000 28,100 28,100 —
LE% [HECHH)| JAL JAL 27,800 51% A% +:28,100, H:28,200 — 27,600 28,100 28,100 —
MR=ILAFER MAFE  [HRFECHE)|  JAL JAL 29,300 52% |7:29,000, +:28,800, H:30,200 — 30,200 29,700 29,700 —
WOFEHE |RECHHE) |  JAL JAL 29,400 52% A= +:30,100. H:30,400 — 31,600 30,600 30,600 —
IMA=HE MRFE  [RRCHE)| JAL JAL 35,100 39% |AK1:34,200, £:34,700, H:36,000 — 35,600 35,100 35,100 —
HE R CHED | JAL JAL 35,200 39% A% +:35500, H:34,800 — 34,800 35,200 35,200 —
INA=1EE % [RRCHE)| JAL JAL 33,000 41% | A:33,100, % +£:32,700. H:33,200 — 33,500 33,100 33,100 —
mEH |[HRCHE| JAL JAL 33,000 41% | A:33,400, £ +:33,200, H:33,100 — 33,100 33,100 33,100 —
INA=TEH % [RRCHE)| JAL JAL 31,700 43% |4 ,600., £:32,100, H:31,800 — 33,400 32,300 32,300 —
=% [RRCHE)| JAL JAL 31,800 43% |4 :32,100, H:32,900 — 32,900 32,200 32,200 —
IMA=TF % [RRCHE)| JAL JAL 34,300 41% |4 4,400, H:34,900 — 35,800 34,500 34,500 —
= |[ERCHE)| JAL JAL 34,700 40% |4 :35,000, H:34,400 — 35,000 34,700 34,700 —
A =HAL NRFE [RRCHE)| JAL JAL 34,700 40% |4 :34,500, H:36,300 — 35,900 35,000 35,000 —
MlF  [RRERCHE)| JAL JAL 35,100 40% | A:35,500, % +:35,600 — 35,100 35,100 35,100 —
AN =L T % [RRCHE)| JAL JAL 30,300 52% | A:29,900, £:30,200, £:29,500, H:30,700 — 37,000 37,000 37,000 —
dAMSE [RECHE| JAL JAL 29,900 53% |A1:30,200, £:30,300, H:28,800 — 29,100 29,500 29,500 —
IMR=K5 Mg [RRCHE)| JAL JAL 34,500 44% |4 ,900, £::34,400, H:35,100 — 35,300 34,500 34,500 —
An% |[HERCHE)| JAL JAL 34,700 44% | A% +:35200, H:34,500 — 34,500 34,700 34,700 —
M= RIG % [RRCHE)| JAL JAL 34,700 47% | A:34,400, £ +:34,000, H:35,600 — 36,900 35,100 35,100 —
RIBFE [HEECHH)| JAL JAL 35,200 46% | A% +:35500 — 35,600 35,600 35,600 —
INR=FER % [RRCHE)| JAL JAL 34,600 45% | A ,700. £:34,200, H:35,500 — 35,700 34,600 34,600 —
A% |[FER(HE| JAL JAL 35,100 44% | A% +£:35500, H:34,900 — 34,900 35,100 35,100 —
INR=TEIR % [RRCHE)| JAL JAL 34,600 45% | A1:33,700, £:34,200, H:35,500 — 35,700 34,600 34,600 —
EUEF  |RECHHE)| JAL JAL 34,900 45% | A% $:35000 — 34,900 34,900 34,900 —
IMY=ERE MRFE  [RRCHE)| JAL JAL 35,100 46% | A:34,500. £:34,700, 1:34,200, H:36,400 — 36,600 35,500 35,500 —
BEREX |[FHFECRA)| JAL JAL 35,200 46% | A% +:35600, H:35,800 — 35,800 35,600 35,600 —
IMA=ETH | /aze  [#BERE)| JTA |JTA/RAC 26,900 56% |+ H:29,300 — 31,700 31,700 31,700 —
EoH | EREH) [JTA/RAC]  JTA 30,000 51% | &+ H:32,400 — 34,800 34,800 34,800 —
INA=F1E NRFE [RECHE)| JAL JTA 42,700 50% | A% +:41,800. H:43,600 — 43,200 42,700 42,700 —
SR (R®) | JTA [JTA/RAC 28,300 58% |4+ H:30,700 — 33,100 33,100 33,100 —
RIEHX [EmCEE)| JTA JAL 42,000 51% | A% +:42300, H:42,400 — 42,400 42,000 42,000 —
48 (%) [JTA/RAC]  JTA 28,300 58% |4+ H:30,700 — 33,100 33,100 33,100 —
== ] L1 5 i8I F) | JTA |JTA/RAC 35,500 35% |4 ,600 — 37,600 37,600 37,600 —
s 8 (IBE) [JTA/RAC|  JTA 35,500 35% | H:37,600 — 37,600 37,600 37,600 —
[ITEE=EE ] L 5 B (IBF) | JTA |JTA/RAC 36,800 39% | +:38,900 — 38,900 38,900 38,900 —
AiEH |48 GEE) [JTA/RAC]  JTA 36,800 39% | H:38,900 — 38,900 38,900 38,900 —
BH== BT [l JAC JAC 26,800 44% — 26,800 26,800 26,800 —
EGE [l JAC JAC 26,800 44% — 26,800 26,800 26,800 —
BEEXRE=5# |EEXER | HKkBH | JAC JAC 19,150 29% — 19,150 19,150 19,150 —
5im% HKEE [ JAC JAC 19,150 29% — 19,150 19,150 19,150 —
BEERB=TKRE| EEXER 55 JAC JAC 18,650 37% — 18,650 18,650 18,650 —
ok RERF 55 JAC JAC 18,650 37% — 18,650 18,650 18,650 —
R (RER) =FFHF PR ENE) F|BRE CHE) [JAL/JTA]  JAL 40,200 47% £ H:41,000 — 41,700 41,700 41,700 —
ABRFRFD[  JAL JAL 39,300 48% | H:39,800 — 40,700 40,500 40,500 —
EHRE [EE@HE)| AL [JAL/JTA 40,300 46% — 41,100 41,100 41,100 —
KBR (BFH]|  JAL JAL 41,100 45% — 42,000 42,000 42,000 —
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PR (ERER) = =R |48 GIRER) 5| B CRE) [JAL/JTA[  JAL 36,500 51% — 37,700 37,700 37,700 —
% |mA(CHE)| JAL [JAL/JTA 35,400 53% — 36,600 36,600 36,600 —
PR (BRER) =FNE |48 (INER) F | R CRE) [JAL/JTA]  JAL 40,000 43% | A1:40,300, %:40,700, H:40,400 — 41,000 41,000 41,000 —
ABRFRFD[  JAL JAL 37,700 47% | H:38,200 — 39,100 38,900 38,900 —
WHEE [RRCAE)| JAL [JAL/JTA 39,800 43% | H:40,400 — 40,800 40,500 40,500 —
RBR (RFH | JAL JAL 39,500 45% — 40,400 40,400 40,400 —
PR (BRER) =TEE | (B | KXIR(BFD | JAL JAL 37,600 49% | H:38,100 — 41,700 41,500 41,500 —
=] JTA JAL 39,200 49% — 39,200 39,200 39,200 —
EEFK [ KBRUFFD| JAL JAL 42,200 43% € +1:43,400 — 43,800 43,800 43,800 —
12 JAL JTA 39,200 49% — 40,800 40,800 40,800 —
PR (BRER) =1L | 4B (IER) F | B CRIE) [JAL/JTA[  JAL 32,100 49% — 33,300 33,300 33,300 —
ABRRFD[  JAL JAL 37,800 46% | H:38,300 — 39,500 38,100 38,100 —
W% ["RERGIE)| JAL [JAL/JTA 34,700 45% — 36,300 36,300 36,300 —
RBR (RFH)|  JAL JAL 39,600 44% — 40,800 39,600 39,600 —
PR (ERER) =LA | (INE) | KR (BFD | JAL JAL 31,100 55% | H:31,900 — 31,100 31,900 31,400 —
=] JTA JAL 31,100 59% | H:31,900 — 31,100 31,900 31,400 —
EFK  [KBRUFFD| JAL JAL 31,100 55% |4 +:31,400 — 31,900 31,400 31,400 —
12 JAL JTA 31,100 50% |4 +:31,400 — 31,900 31,400 31,400 —
SRR (BRER) =/ |48 GIRER) 5| B CRIE) [JAL/JTA[  JAL 40,000 40% A% 0,300, H:39,600 — 39,900 40,300 40,300 —
NAFE [RECRE)| JAL [JAL/JTA 39,600 41% | A% £:39,100, H:40,000 — 40,400 40,000 40,000 —
RS == PGB R EE JTA JAC 31,900 42% — 31,900 31,900 31,900 —
IS &M JAC JTA 31,900 42% — 31,900 31,900 31,900 —
SRR (ERER) =L PEGRE) | EE JTA JAC 33,000 37% — 33,000 33,000 33,000 —
ALLFE [ JAC JTA 33,000 37% — 33,000 33,000 33,000 —
RRECHA) =R |RR(CHE) F|XRAEEFD|  JAL JAL 27,300 42% — 27,300 27,300 27,300 —
HE JAL JAC 28,600 38% — 29,000 29,000 29,000 —
[k % [ KERGFFD| JAL JAL 24,900 47% — 24,900 24,900 24,900 —
] JAC JAL 30,400 34% — 30,400 30,400 30,400 —
R (HE) =&ZXE|RRACHE)%| ERS JAL JAC 45,300 32% — 45,300 45,300 45,300 —
KBR (RFH|  JAL JAL 40,800 35% — 45,300 44,900 44,900 —
BEXER | ERE JAC JAL 45,300 32% — 45,300 45,300 45,300 —
AR UFRFD[  JAL JAL 40,800 35% 441,300, H:41,100 — 44,400 44,100 44,100 —
RRCPAR) =ERS|RR(FE)%| BRE JAL JAC 44,850 31% — 44,850 44,850 44,850 —
BERE | JAL JAC 44,500 23% — — — — —
ERER BERS JAC JAL 44,850 31% — 44,850 44,850 44,850 —
BEKRE | JUAC JAL 44,500 23% — — — — —
RRCPAR) =BzB8|RRCAE)%| BRS JAL JAC 46,450 34% — 46,450 46,450 46,450 —
BERE | JAL JAC 47,300 23% — 47,300 47,300 47,300 —
BeBER BERS JAC JAL 46,450 34% — 46,450 46,450 46,450 —
BERE | JUAC JAL 47,300 23% — 47,300 47,300 47,300 —
R (CHE) =Kk RH$|RACHR #| BRS JAL JAC 47,850 32% — 47,850 47,850 47,850 —
HKREE | BREE JAC JAL 47,850 32% — 47,850 47,850 47,850 —
BERE | JUAC JAL 47,850 27% — 47,850 47,850 47,850 —
RROHBE) =5 [RECRR)%| BRS JAL JAC 48,250 33% — 48,250 48,250 48,250 —
B ERS JAC JAL 48,250 33% — 48,250 48,250 48,250 —
BERE | JUAC JAL 48,200 29% — 48,200 48,200 48,200 —
KR(FFD =&ZXE|XRUFDHE| BERS JAL JAC 37,300 31% — 37,900 37,100 37,100 —
BEEAEE | BERE JAC JAL 37,300 31% — 37,500 37,000 37,000 —
KR (R =E/85| KRG E|_EBES JAL JAC 35,600 33% — 37,000 35,600 35,600 —
BERE | JAL JAC 36,800 23% — 40,100 40,100 40,100 —
ERER BERS JAC JAL 36,400 32% — 36,600 36,100 36,100 —
BERE | JUAC JAL 36,800 23% — 40,100 40,100 40,100 —
KR () =@z 8| KR(FD | EBES JAL JAC 40,300 31% — 41,200 40,300 40,300 —
BERE | JAL JAC 40,200 22% — 42,400 42,400 42,400 —
BeER BERS JAC JAL 40,300 31% — 40,800 40,300 40,300 —
BEKRE | JUAC JAL 40,200 22% — 42,400 42,400 42,400 —
KB (RFD =k RES | KBRRFD | BRS JAL JAC 40,800 30% — 41,700 40,800 40,800 —
MKREE | BRE JAC JAL 41,100 30% — 41,300 40,800 40,800 —
BEKRE | JUAC JAL 42,750 23% — 42,750 42,750 42,750 —
KR () =5 [ ABR(BH%| BERS JAL JAC 42,400 29% — 43,000 42,200 42,200 —
Bim% BERS JAC JAL 42,400 29% — 42,600 42,100 42,100 —
BEKRE | JUAC JAL 43,150 26% — 43,150 43,150 43,150 —
[ SEPNE] 12 7 BRES JAC JAC 32,250 30% — 32,250 32,250 32,250 —
BEEXER | BERE JAC JAC 32,250 30% — 32,250 32,250 32,250 —
RBE=ERS [EEES BERE JAC JAC 33,150 26% — 33,150 33,150 33,150 —
BEKRE | JUAC JAC 33,300 24% — 33,300 33,300 33,300 —
ERER BERS JAC JAC 33,150 26% — 33,150 33,150 33,150 —
BEKRE | JUAC JAC 33,300 24% — 33,300 33,300 33,300 —
BE=1E28 [EEES BERE JAC JAC 33,650 32% — 33,650 33,650 33,650 —
BEKRE | JUAC JAC 33,650 29% — 33,650 33,650 33,650 —
BeBER BERS JAC JAC 33,650 32% — 33,650 33,650 33,650 —
BEKRE | JUAC JAC 33,650 29% — 33,650 33,650 33,650 —
12 =k RAR [EEES BRES JAC JAC 34,800 31% — 34,800 34,800 34,800 —
MAKREE | BRE JAC JAC 34,800 31% — 34,800 34,800 34,800 —
BEKRE | JUAC JAC 34,800 32% — 34,800 34,800 34,800 —
1B =5 [ BRES JAC JAC 35,200 32% — 35,200 35,200 35,200 —
Bim% BERS JAC JAC 35,200 32% — 35,200 35,200 35,200 —
BERE | JUAC JAC 35,200 35% — 35,200 35,200 35,200 —
RRCPABR) =5E|"RRCHAE)%| #HIE JTA RAC 42,000 43% | K% +:48,500 — 39,000 38,000 38,000 —
EMEH [FEGEH)| RAC [JAL/JTA 39,300 48% — 39,300 39,300 39,300 —
RiE RAC JTA 37,000 50% | H:38,000 — 38,000 37,000 37,000 —
AP =5RE| SMEFK |[H#FH)| RAC JAL 38,200 45% — 38,200 38,200 38,200 —
A (B#E) =530 | ABr (BIFE) |  FiE JTA RAC 29,500 53% |4 1:30,100 — 29,500 29,500 29,500 —
EMESR [H#GH)| RAC JTA 38,200 45% — 38,200 38,200 38,200 —
RiE RAC JTA 29,500 53% | H:30,900 — 30,900 29,500 29,500 —
£HE(RE=5ME| SIMEHF [HEEH)| RAC JTA 38,000 49% | H:40,600 — 40,600 38,300 38,300 —
12 = 5 ARE S5MESR [H#GH)| RAC JTA 32,600 48% — 32,600 32,600 32,600 —
R E) =5HMEPEGRHFE| FIE |JTA/RAC| RAC 19,500 46% — 19,500 19,500 19,500 —
5RER RiE RAC _[JTA/RAC 19,500 46% — 19,500 19,500 19,500 —
BRCHA) =AXE 2 JAL/JTA[JTA/RAC 33,400 39% — 33,800 33,800 33,800 —
JTA/RAC|JAL/JTA 33,300 40% — 33,600 33,600 33,600 —
KR () =AKRE JAL _[JTA/RAC 29,700 39% — 29,700 29,700 29,700 —
JTA/RAC| JAL 29,700 39% — 29,700 29,700 29,700 —
KR (B dE) = ARE JTA [JTA/RAC 29,700 39% — 29,700 29,700 29,700 —
JTA/RAC| JTA 29,700 39% — 29,700 29,700 29,700 —
ZHEE(PE) =AKE JTA _|JTA/RAG 29,400 45% % +:30,700 — 29,400 29,400 29,400 —
JTA/RAC| JTA 29,500 44% | H:32,100 — 32,100 29,800 29,800 —
BE=AKE E: JTA _|JTA/RAC 24,100 42% — 24,100 24,100 24,100 —
b8 (A& [UTA/RAC]  JTA 24,100 42% —— 24,100 24,100 24,100 -—
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RREHE)=5d [FHRECHA) %[44 FH) | JAL/JTA[JTA/RAC 32,200 48% | H:31,800 32,200 28,200
HHE P48 GRE) [JTA/RAC|JAL/JTA 33,000 46% 33,000 28,600
RR(HE) =AE :ﬁm:ﬂm)%_yﬁ(ﬁﬂ?‘s) JAL/JTA[JTA/RAC 33,200 50% | H:33,000 33,200 28,500
KBz (B8FE) | JAL JTA 30,300 60% % 1:32,500, H:30,100 30,300 28,700
RiEH |4 (RH) [JTA/RAC|JAL/JTA 34,200 49% 34,200 29,800
KR (FFH) =% B | KB (7 56 [ RE CRE) | JAL JAL 30,000 56% |4:32,800, £:32,500, H:29,200 30,400 26,000
HIRFFR) | JAL JAL 27,700 59% |4 +:30,000 27,700 27,700
ZimplF [RECHH)| JAL JAL 32,400 52% | A#£:32,800, 1:31,600, H:34,800 32,400 28,400
HIRFFR) | JAL JAL 27,700 59% | H:30,000 27,700 27,700
A (BFE) =% Bl | KB (BS7E) & [ CRIE) | JAL JAL 30,000 56% |4:32,800, £:32,500, H:29,200 30,400 26,000
HIRFFR) | JAL JAL 27,700 59% |4 +:30,000 27,700 27,700
ZimplF [RECHH)| JAL JAL 32,400 52% | AR#:32,800, 1:31,600, H:34,800 32,400 28,400
HIRFFR) | JAL JAL 27,700 59% | H:30,000 27,700 27,700
KR (5 =hEJI | KPR (R FH) 5| B CRE) | JAL JAL 31,000 53% |£:33,400, H:28,900 31,400 27,400
JBIN%E [RECHE)| JAL JAL 30,500 54% | 7:31,700, £:32,100, H:33,700 30,500 26,500
Kz (B8#) =hEJIl | KPR (B97E) 5| B CHE) | JAL JAL 31,000 53% |£:33,400, H:28,900 31,400 27,400
JBIN%E [RECHE)| JAL JAL 30,500 54% | 7:31,700, £:32,100, H:33,700 30,500 26,500
KR (7 =8IB% | AR (FH) 5| BECHE) | JAL JAL 27,200 59% |+ H:28,800 27,600 24,000
SR [RFCHE)| JAL JAL 28,000 57% | A:29,200, £:29,600, £:28,400, H:31,200 28,400 24,800
Kz (BE7) =HIB% | ABR (B97E) 5| BR CHEH) | JAL JAL 27,200 59% |+ H:28,800 27,600 24,000
SIBRFE [RRCHE)| JAL JAL 28,000 57% | A:29,200, £:29,600, £:28,400, H:31,200 28,400 24,800
K () =G | ABR(RFH | BRECHE) | JAL JAL 31,500 52% |+:29,100, H:29,600 31,900 27,900
HILEFE  |[RRRCHE)| JAL JAL 30,700 53% | A#:31,900, H:32,400 30,700 27,500
Kix (B#) = /5 | ABR (B97E) 5| BR CHEH) | JAL JAL 31,500 52% |+:29,100, H:29,600 31,900 27,900
HIEFE  |[RRCHE)| JAL JAL 30,700 53% | A%:31,900, H:32,400 30,700 27,500
K (7} =B | AR (P | BRECHE) | JAL JAL 26,300 55% | £:29,900, +:29,400, H:27,000 26,700 23,200
BEER |[RECHE)| JAL JAL 27,600 53% | 7%:28,100, £:28,000, H:31,300 27,600 24,400
Kz (Bi#) =B | ABR (B97E) 5| BR CHEH) | JAL JAL 26,300 55% | £:29,900, +:29,400. H:27,000 26,700 23,200
BEEH |[EECHE)| JAL JAL 27,600 53% | A:28,100, £:28,000, H:31,300 27,600 24,400
KB (RFH) | RR CHE) | JAL JAL 21,800 61% | H:21,400 23,400 21,800
ZR%E |[ERE(CREH)| JAL JAL 22,600 60% | A%:23,800, H:23,400 23,800 22,600
KBx (RA7E) 5| R CHEH) | JAL JAL 21,800 61% | H:21,400 23,400 21,800
=R% |[HFECRHA)| JAL JAL 22,600 60% | A%:23,800, H:23,400 23,800 22,600
KB (D) =IRi% |KBR (B %] HE JAC JAC 18,400 44% | A% +:18,800 18,400 18,400
[ & u JAC JAC 18,800 42% & 18,800 18,800
KR () =8F5 | KRFDE| BES JAL JAC 21,700 48% |4 21,700 21,700
BYEX | BRS JAC JAL 21,400 49%  |£:22,000, 1:22,300, H:22,800 21,900 21,400
KR () =2 | ABRGRFD | H# %) | JAL |JTA/RAC 26,300 52% |4 +:29,400 26,300 23,300
Ea%E |48 (%) [JTA/RAC]  JAL 28,600 48% | H:31,800 28,600 26,200
Kz (BfE) == | ABR (B978) 5| H#8 (FBFR) | JTA |JTA/RAC 26,300 52% |4 +:29,400 26,300 23,300
Ea% |48 (%) [JTA/RAC]  JTA 28,600 48% | H:31,800 28,600 26,200
K () =R1E [ KRGEREFD | $#GR#EH) | JAL |JTA/RAC 26,500 56% | +:29,300 26,500 24,100
AiEH [ GRE) [JTA/RAC]  JAL 27,500 55% | H:30,000 27,500 24,500
Kz (BdE) =H1E | AR (B9F) 5| 448 (FBF) | JTA |JTA/RAC 26,500 56% | +:29,300 26,500 24,100
AiEH @ GEE) [JTA/RAC]  JTA 27,500 55% | H:30,000 27,500 24,500
ZEE (hE) =% 5l | & E (P& IR FH TR | JAL JAL 27,600 56% |4::30,500, £:30,100, H:28,000 27,600 27,600
| Z@als [URGITE| JAL JAL 27,900 56% | /A:28,500, %:28,400, £:28,000, H:31,500 27,900 27,900
AEE(PE) =% |£4E P R FEGAHm | JTA [JITA/RAC 29,200 51% | %:32,200, 1:29,300 29,200 25,200
Eos | F@EGBEH) |[JTA/RAC]  JTA 33,000 44% |%:32,200, 1:31,400, H:34,200 33,000 29,500
2EE (P =RiE|25E M FE@H)| JTA [JTA/RAC 30,400 53% |%::33,400 30,400 26,400
AiEH @ GEE) [JTA/RAC]  JTA 30,900 52% | H:32,400 30,900 26,900
AL G F %) =/MA[ARFFR) 2|/ CRE) | JAL JAL 30,100 50% |4:30,200, £:29,300, H:33,000 30,900 28,300
% [RRCHE)| JAL JAL 29,000 51% |4::33,000, £:32,800, H:29,200 29,000 27,200
AR EFFR) =FR R AR F TR 2|/ CRE) | JAL JAL 33,700 50% |4+ H:34,500 34,500 32,800
FftEES |RRCHE)|  JAL JAL 33,500 50% |4 H:34,300 34,500 32,200
AL G F %) =R FEFR) 2| R/ACRE) | JAL JAL 28,700 58% |4 +:28,300, H:31,400 29,500 26,900
fELFE  [RRECHE)| JAL JAL 27,400 60% | +:31,100, B:27,300 27,400 26,000
ARG FR) =LB[ARFETFR E|[R/ACAE)| JAL JAL 29,300 57% & 9,500, H:33,700 30,100 28,100
L% |[RRCHE)| JAL JAL 29,900 56% | 4,100, +:32,100, H:29,500 29,900 28,600
R EF TR =LOFH[ ARG TR %R CAE) | JAL JAL 31,500 56% & £:31,200, H:36,200 32,300 29,700
WOFEHE |RECHHE) | JAL JAL 30,400 58% | +:33,300, H:30,500 31,400 28,600
ARG T =HEARFETR E|[R/ACAE)| JAL JAL 34,200 51% 435,900, H:36,900 35,000 30,800
EX |ERCHAE)| JAL JAL 34,000 51% |A:34,100, % 1:36,900, H:34,500 34,000 31,000
ARG T =EE[ARFETR E|[R/ACAE) | JAL JAL 32,800 51% 432,900, H:37,400 33,600 28,700
mEH |[RRCHE)| JAL JAL 32,400 52% |4 +:36,100, H:32,100 32,400 28,400
ARG T == [AREFR 2[R/ CRE) | JAL JAL 33,200 51% |4::34,000, H:37,900 34,000 29,800
=% [RRCHE)| JAL JAL 32,600 52% |4 +:37,200, H:32,100 32,600 29,200
ARG TR == ARFEFR 2| /ACRE) |  JAL JAL 35,100 49% |%:36,000, H:40,500 35,900 30,100
=A% |[ERCHE| JAL JAL 36,400 47% _|%:40,200, 1:40,000, H:35,000 36,400 29,800
AL G F %) =LA FFR) 2[R/ CRE) | JAL JAL 35,600 49% |%:36,500, 1:35,300, H:39,700 36,400 31,400
MlF  [RRCHE)| JAL JAL 36,500 48% % +:39,400, H:36,300 36,500 33,100
ARFFR) =AM ARFFR) H([/ACAE)|  JAL JAL 32,800 56% 433,700, H:37,200 32,700 31,000
AT |[RECHH)| JAL JAL 34,500 54% |£:37,400, +:36,400, H:31,400 38,800 32,700
ARG TR =K7 [ARFEFR) 2| R/ACAE) |  JAL JAL 35,300 52% 435,800, £:35,000, H:40,300 36,100 30,300
4 R CHED | JAL JAL 36,100 51% |7:36,200, %:39,700, £:39,100, H:35,500 36,500 31,600
AT =RB[ARFEFR E|[R/ACAE) | JAL JAL 35,300 54% | 4:36,400, +:36,600, H:39,300 36,100 30,200
Rg% |[RRCHE)| JAL JAL 36,700 52% | 7%:36,800, %:40,300, £:38,900, H:36,200 37,100 31,000
ARG Fm) =RAAEFETR 2[R/ ACRE) |  JAL JAL 34,700 53% |4 £:34,800, H:39,100 35,500 30,400
A% |[FRCHE)| JAL JAL 35,000 53% & 7,700, H:33,900 35,800 31,200
ARG FR) =SB RFETR 2| /ACRE) |  JAL JAL 35,000 53% & 4,300, H:38,400 35,800 30,600
EIE%E |RRECHE)| JAL JAL 36,000 52% |/:36,100, %:39,400, £:38,100, H:35,800 36,600 30,600
ARFFR) =ERB[ARFETR E([H/ACAE)| JAL JAL 34,900 54% 435400, £:33,900, H:39,500 35,700 30,600
BRS% |RECHHE)| JAL JAL 36,200 53% |&+:39, 100, H:35,100 37,000 30,200
AR FFR) =5 I | AR TR R CE) | JAL [JAL/JTA 38,300 51% & t:38,400, H:41,900 39,100 34,200
KRR (B [ JAL JTA 29,800 63% |4 1,200, H:32,000 30,900 28,900
AEE(PE)| JAL JTA 32,500 60% & :34,200, H:34,900 32,500 30,900
12 JAL JTA 33,100 60% & £:32,700, H:35.900 33,100 32,600
SR8 (FRER) % mm (FH) [JAL/JTA]  JAL 39,100 50% | 7%:39,200, %:42,700, £:39,900, H:38,500 39,100 34,600
KRR (BEFE) [ JTA JAL 28,900 64% |4 +:31,400, H:32,900 30,000 28,000
£EE(PE)| JTA JAL 36,600 54% 435,800, £:35,000, H:40,000 36,600 35,000
12 JTA JAL 32,900 60% |4 5,500 32,900 32,400
IR EF T =REAREGTR %" CAE)|  JAL JTA 41,900 57% |4 4,300, H:40,900 42,200 37,000
AiEH |[RRCHE)| JTA JAL 40,600 58% 441,300, £:41,200, H:43,300 40,600 36,400
& = &l EEF  [EECHHE)| JAL JAL 38,800 53% | 7:39,000, %:41,800, £:41,000, H:36,200 38,800 31,000
AIRFFR) | JAL JAL 30,100 61% |4 +:31,700 30,100 29,600
ZERR [RECHE)| JAL JAL 39,800 52% | A:40,200, #:41,400, £:38,200, H:40,400 39,800 31,800
ARUFRFD[  JAL JAL 30,000 60% | H:31,600 30,000 27,600
AIRFFR) |  JAL JAL 28,500 63% | H:30,100 28,500 28,000
&R =) fEEF  [RECHE)| JAL JAL 36,600 55% | A 1:37,400, £:37,900, H:36,500 37,800 29,500
BINFE  [RECHE)| JAL JAL 37,100 54% 441,500, £:35,700, H:39,800 37,100 29,800
KBR (RFH)|  JAL JAL 30,400 58% 34,400 29,600
12 = B EEFE  [RECHE)| JAL JAL 36,000 55% | /:36,200, %:37,800, £:37,000, H:37,400 36,600 29,000
Sz [RREHE)| JAL JAL 35,400 56% | 7<:35,800, #:37,000. H:37.300 35,800 29,000
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[N fEEFE  [RECHE)| JAL JAL 38,700 51% |7:38,900, %:39,000, £:36,800, H:38,200 39,300 31,300
HIEFE  |[RERECHE| JAL JAL 38,100 52% | H:38,500, £:41,300, £:37,300 38,100 30,800
[T wmEH [RRCHE)| JAL JAL 35,100 52% | A:35,300, £:38,900, 1:37,600, H:35,600 35,100 28,200
RBR (RFH)|  JAL JAL 30,000 54% |4 +:31,200 30,000 28,400
HEER [RECHE)| JAL JAL 35,000 52% | A:35,400, £:35,800, 1:34,200, H:37,400 35,000 27,800
ABRFRFD[  JAL JAL 28,900 56% %30, 28,900 27,300
BE=F% BEF  [EECHHE)| JAL JAL 31,200 56% | £:32,100, £:30.400. H:33.600 33,600 27,600
RBR (RFH|  JAL JAL 26,200 58% | +:26,600 26,200 25,400
HHRFE [EERGH)| JAL JAL 31,300 56% |7 ,800. £:34,400. H:30,700 32,500 28,900
KB (RFH)|  JAL JAL 26,600 58% |4 26,600 25,800
wmER [RRCHE| JAL JAL 30,000 58% |7 32,400 26,000
KB (RFH) | JAL JAL 26,000 59% 26,000 26,000
ZR%  |[RECHE)| JAL JAL 30,000 58% | A:30,400, £:30,800, £:29,200, H:29,500 31,200 26,400
RBR (RFH) | JAL JAL 24,800 61% 24,800 24,800
1B =1 @EF | RKRAEFFD| JAL JAL 28,600 53% 28,600 28,600
EEFK | KRUEFFD| JAL JAL 27,400 55% H:28,200 27,400 27,400
2R =FE BEF  [EECHHE)| JAL JAL 30,400 54% 600, %:31,000, H:32,600 30,600 27,000
KB (RFH|  JAL JAL 24,600 59% :25,000 24,600 23,800
MERE ([RREH)| JAL JAL 30,700 53% :31,200, %:33,400, H:29,300 30,700 28,300
KBR (RFH)|  JAL JAL 24,800 58% 125,200, H:24,400 25,400 24,000
&= wmEH [RRERCHE)| JAL JAL 29,300 51% 430,200, £:27,700 31,200 24,700
ABRFRFD[  JAL JAL 27,900 52% |%::30,400, £:29,600, H:30,300 27,900 27,900
W% |[mRECHHE)| JAL JAL 30,300 49% | A% +£:30,800, H:27,200 31,000 27,600
KBR (RFH | JAL JAL 27,900 52% 27,900 27,900
1BRE=%8 EEFE [ KBRUFFD| JAL JAL 24,000 57% | +:24,400, H:23,200 24,000 24,000
i AR (R | JAL JAL 25,600 54% 25,600 24,800
&=/ % |HECRHA)| JAL JAL 30,600 51% |#:31,800, +:29,200, H:32,700 31,600 27,200
% [RFCHE)| JAL JAL 28,800 54% | 7:29,600, %:33,700, £:30,400, H:30,000 28,800 26,100
EE==5 [ hH8(IBF) | JTA |JTA/RAC 24,800 49%  |%:25400, 1:24,500, H:24,200 24,800 22,900
Ea% |48 (%) [UTA/RAC]  JTA 24,600 49% [£:26,000, H:25,600 24,600 23,000
B =R [ B (IBF) | JTA |JTA/RAC 26,000 52% |£:26,600, +:25700, H:25,400 26,000 24,100
AIEH AR [JTA/RAC]  JTA 25,800 52% |%:27,200, H:26,200 25,800 24,200
iRl =75 SRR IR TR | JAL JAL 27,800 45% 27,800 27,800
EEH IEFHTFE) | JAL JAL 27,800 45% 27,800 27,800
Ziwhl =& SRR IR TR | JAL JAL 26,200 52% |£:26,900, +:25400, H:27,900 26,200 26,200
(=3 IR TR | JAL JAL 25,200 53% |4 1:26,600, H:24,400 25,200 25,200
ESEEE ) SRR IR TR | JAL JAL 26,700 52% | H:29,100 26,700 25,100
HinFk IEFHTFE) | JAL JAL 26,400 52% 427,500, £:28,300, H:25,200 26,400 24,800
ESTENIN N ZimplF |[RECHH)| JAL JAL 34,800 48%  |%:35,200, 1:34,000, H:37,500 34,800 30,800
R CHED | JAL JAL 32,800 51% |4 32,800 28,800
Xl = FA L B SI=P: FRECRA) | JAL JAL 36,800 51% |4 40,800 32,800
iRl = R L ZiR% |RECHE)| JAL JAL 33,000 56% 33,000 29,000
fEL%E  |[RFCHE)| JAL JAL 32,200 57% |4 +:35200, H:31,600 32,200 28,200
SR N ZimplF [RECEH)| JAL JAL 34,200 55% |+:33,400, H:36,600 34,200 30,200
AIRFFR) | JAL JAL 26,800 62% |4 7,300, H:27,700 26,800 26,800
LE5% [ERGEHE)| JAL JAL 33,300 56% |4 ,100, H:31,800 33,300 29,300
AIRFFR) | JAL JAL 27,200 62% |4 1:28,100 27,200 27,200
il =HE ZimplF |[RECHH)| JAL JAL 38,800 50% |£:40,100, +:38,000, H:42,500 38,800 33,200
ARFRFD[  JAL JAC 28,000 61% | H:29,600 28,000 25,600
R CHED | JAL JAL 38,500 50% |4::42,900, £:42,700, H:36,400 38,500 31,400
iRl =l RECHHE) | JAL JAL 39,900 48%  |%:40,700, 1:38,800, H:42,800 39,900 33,500
R CHED | JAL JAL 38,200 51% |4 +:41,000, H:39,000 39,000 31,800
iR =R FERECRA) | JAL JTA 47,800 54% |4 H:50,200, 1:49,400 47,800 40,600
HRCHE | JTA JAL 43,000 50% |%:44,200, 1:43,400, H:46,600 43,000 38,200
B =M R CHED | JAL JAL 33,500 49% | £:34,200, £:32,700, H:36.400 33,500 29,500
R CHED | JAL JAL 32,000 51% |4:35200, 1:34,800, H:32,800 32,000 28,000
BI=rmtHE RECHHE) | JAL JAL 34,800 52% | H:40,100 39,100 31,600
R CHED | JAL JAL 35,200 52% 437,700, £:35,100, H:37,100 41,000 31,200
B =Rl FRECRA) | JAL JAL 32,700 56% 433,100, £:32,300, H:35,100 32,700 28,700
R CHED | JAL JAL 30,600 59% |4 +:32,600, H:30,500 30,800 26,600
BIN=HE RECHHE) | JAL JAL 38,200 49% |£:40,200, H:42,200 38,200 32,600
KBR (RFH)|  JAL JAC 28,400 58% 32,400 27,600
HEX [HRCHAE)| JAL JAL 36,900 51% |4 1:39,800, H:36,100 36,900 29,800
BN =211 BINFE  [RECHE)| JAL JAL 39,600 48% |%::40,800, 1:39,300, H:42,500 39,600 33,200
KBR (RFH)|  JAL JAL 29,400 56% 33,000 28,200
L% [RERCHE)| JAL JAL 38,500 49% % +:40,900, H:39,000 38,500 32,900
BII=F1E BIN%E  [RECHE| JAL JTA 44,500 57% |4 1:46,900, H:45,600 44,500 38,200
AIEH |[RRCHE)| JTA JAL 44,600 57% |4:45100, £:44,500, H:46,900 44,600 37,400
TSN HIpRFE [HFECHHE)| JAL JAL 31,600 52% |£:32,000, ,200, H:33,900 32,000 28,400
RFE  [RRCHE)| JAL JAL 30,800 53% | 4:32,900, +:31,600, H:33,700 30,800 28,400
g =raft HIpRFE [HFECHHE)| JAL JAL 34,800 52% |4 +:35,600, H:36,000 38,400 32,400
FfCEUER [RECHA)| JAL JAL 34,000 53% 437,200, £:35,600, H:38,000 39,800 31,600
g ="F1L HIpRFE [RFECHHE)| JAL JAL 30,200 59% |:30,600, H:32,600 30,600 27,000
fELFE [RFECHE)| JAL JAL 29,400 60% |4 +:31,200, H:30,800 29,600 26,400
HR=15% HIpRFE [HFECHHE)| JAL JAL 29,800 60% |£:31,000, +:30,600, H:33,000 30,200 27,400
L% |[HERRCHE)| JAL JAL 30,500 59% | +:32,100, H:31,700 30,500 27,300
HR=H=E BRFE |RECHHE)| JAL JAL 35,700 52% |£:37,700, +:36,100, H:39,700 36,100 30,900
R CHED | JAL JAL 35,700 52% |4 1:38,900, H:37,000 35,700 29,800
g =#r1L RECHHE) | JAL JAL 37,100 51% |£:38,300, +:37,200, H:40,000 37,500 31,500
R CHED | JAL JAL 35,800 52% 437,400, £:37,000, H:39,900 36,200 30,600
HIE=F1E R CHED | JAL JTA 43,400 58% |4 1:46,600, H:43,800 43,800 37,800
HRCHE | JTA JAL 43,400 58% 444,600, 1:43,800, H:47,800 43,400 37,800
BIL=/MR FRECRA) | JAL JAL 34,300 47% 33,500, H:35,100 34,300 31,100
RECHEA)| JAL JAL 33,500 48% 33,500 30,300
wh=mfaE HIEFE |[RRCHE| JAL JAL 37,500 48% 40,700 34,300
BfCEER [RRCHE)| JAL JAL 36,700 49% 42,500 32,700
wIL=FEW whFE  [HEECHHE)| JAL JAL 32,900 55% |+:32,500, H:33,800 32,900 29,700
FELFE  [RFECHE)| JAL JAL 32,100 56% |4::32,300, £:31,500, H:31,600 32,300 28,300
wh=HE whFE  [HEECHE)| JAL JAL 38,400 48%  |£:40,000, H:40,900 38,400 33,600
HE R CHED | JAL JAL 38,400 48% |%:40,000, H:37,700 38,400 31,300
wIL=H wmhFE  [REECHE)| JAL JAL 39,800 47%  |%:40,600, 1:39,500, H:41,200 39,800 34,200
L% [RECHE)| JAL JAL 39,000 48% | +:38,100, H:40,700 39,000 33,400
wh=HiE wmhFE  [HEECHHE)| JAL JTA 46,100 55% | < +:48,500 46,100 38,900
RIEH |[RRCHE)| JTA JAL 46,100 55% ,500, H:48,500 46,100 38,900
EEIRA BEER |[RRCHE)| JAL JAL 30,500 47% | #£:30,400, 1:30,000, H:33,600 30,500 27,400
% [RRCHE)| JAL JAL 29,100 50% | 4:32,700, £:32,200, H:31,900 29,100 26,400
EfE=mfcHE | MfCEER [RE(CHAE)| JAL JAL 33,100 49%  |£:36,700, 1 H:36,200 37,700 30,000
EEE=RL BEfEF [HECHHE)| JAL JAL 28,300 57% |4:27,800, £:28,200, H:31,900 28,300 25,200
fELFE  |[RFECHE)| JAL JAL 28,500 57% 432,300, £:31,800, H:29,000 28,500 25,400
HE=LS BEEF [HECHHE)| JAL JAL 29,400 56% | H:33,100 29,400 26,200
L% [ERGH)]| JAL JAL 29,600 56% |4:33,200, £:32,700, H:29,900 29,600 26,500
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HE=HE EEEFK [RECHH)| JAL JAL 34,600 49%  |%:35700, 1:34,500, H:39,800 34,600 29,900
ABRFRFD[  JAL JAC 26,100 57% |4:27,300, £:26,800, H:27,700 26,100 24,500
HEX [EZECHHE)| JAL JAL 34,800 48% | £:40,000, 1:39,500, H:35,200 34,800 28,600
ARRFD|  JAC JAL 27,200 56% |4 +:28,800 27,200 25,600
EEE=L BHEEH [RECHE)| JAL JAL 36,000 47% |%:36,300, 1:35,600, H:40,100 36,000 30,500
ABRFRFD[  JAL JAL 27,900 54% 429,100, £:28,600, H:28,700 27,500 25,900
WilF  [RERCHE)| JAL JAL 34,500 49% £ H:38,100, £:37,600 35,300 29,000
ABRRFD[  JAL JAL 29,000 52% |4 1:30,200 28,600 27,000
EEE=dL AL BEAEF [HECHHE)| JAL JAL 33,200 54% |£:33,500, +:33,100, H:36,800 33,500 30,100
dEhMFE |[RECEH)| JAL JAL 33,400 54% |£:37,000, +:36,500, H:32,800 37,700 30,300
HE=X% EEEFK [EECHH)| JAL JAL 35,600 50% |%+:36,800, H:37,700 35,600 29,200
ABRFRFD[  JAL JAL 31,500 50% |4:33,500, 1:32,200, H:33,000 31,500 28,300
An% |[ERCHE)| JAL JAL 35,900 50% |4:39,900, £:39,400, H:37,800 36,300 30,200
HE=RIK EEEF [EECHH)| JAL JAL 36,800 51% |%+:38,000, H:39,900 36,800 29,400
KBR (RFH|  JAL JAL 32,100 53% |4 H:34,300, 1:32,800 32,100 28,900
K% [RERCHE)| JAL JAL 36,100 52% 438,100, £:37,600, H:38,500 36,500 29,400
ABRFRFD[  JAL JAL 33,200 52% |4 +:34,400 33,200 30,000
HEE=REX EEEFK [EECHH)| JAL JAL 35,600 51% | H:38,500 35,600 30,000
ABRFRFD[  JAL JAL 29,900 55% 431,700, £:30,600, H:31,300 29,900 28,300
A% [EERCHHE)| JAL JAL 33,700 54% 437,500, 1:36,800, H:36,600 35,100 27,600
ABRFRFD[  JAL JAL 31,500 53% % 1:32,800, H:31,000 31,500 29,900
HE==IK EEEFK [EECHH)| JAL JAL 34,500 52% |£:36,200, +:34,900, H:37,800 34,500 29,000
ABRFRFD[  JAL JAL 32,000 52% |4:35600, £:32,700, H:34,500 32,000 30,400
BIEFE |[RZECHE)| JAL JAL 35,000 52% |4:37,700, £:37,200, H:38,100 35,500 29,000
ABRFRFD[  JAL JAL 32,200 52% |4:33,800, +:34,600, H:33,100 33,000 30,600
HE=ERS EEEFK [EECHH)| JAL JAL 35,300 53% | +:35,600, H:38,900 35,300 29,400
RBR (RFH)|  JAL JAL 29,700 58% |4 H:31,300, 1:30,400 29,700 28,100
BREX |[HZCRA)| JAL JAL 35,500 52% |%:39,100, £:38,600, H:37,000 35,900 28,000
ARUFRFD[  JAL JAL 30,400 57% |%:31,600, £:32,400 30,800 28,800
HEE=F1E BEER |[RECHE)| JAL JTA 43,000 55% |4 1:45400 43,000 36,600
AIEH |[RRCHE)| JTA JAL 41,300 57% 442,600, H:46,000 41,300 35,800
BEH=/MR BA¥E  [HEECHH)| JAL JAL 26,600 53% | £:27,400, +:26,400, H:27,300 28,000 26,600
NRFE [RRCHE)| JAL JAL 25,800 54% |4 H:27,500 27,800 25,800
EHR=EiBE BA¥E [EECHH)| JAL JAL 34,900 45% € +:35,500 35,500 34,900
FftEEFR |RECHE)|  JAL JAL 34,900 45% € H:35,500 35,500 34,900
BEH=ML BA¥E  [HEECHH)| JAL JAL 25,200 61% |< H:26,000, 1:24,800 27,200 25,200
FELFE  [RFECHE)| JAL JAL 24,600 62% |4 H:25,600 26,600 24,600
EHR=L5 BA¥E  [HEECHH)| JAL JAL 26,300 60% < H:27,200 27,600 26,300
L% |[HRCHE)| JAL JAL 26,400 60% |%:27,000, £:25,500, H:27,400 27,600 26,400
BEHA=WLOFH BA¥E [HEECHH)| JAL JAL 28,000 59% |£:28,800, H:28,900 29,200 28,000
WOFEHE |RECHAHE) | JAL JAL 27,600 60% | H:28,800 29,200 27,400
EHR=HE BA¥E  [EECHH)| JAL JAL 31,100 53% < H:33,100 32,300 29,500
ABRFRFD[  JAL JAC 24,600 58% |4 1:25,000 24,600 23,800
HE HECHED [ JAL JAL 31,200 53% 432,400, £:32,300, H:32,800 33,200 29,600
KRRFD|  JAC JAL 25,000 58% |4 H:25,400 25,000 24,200
EHR=ES BA¥E  [HEECHH)| JAL JAL 29,300 54% < H:30,100 31,300 26,900
mEH |[HRCHE| JAL JAL 28,800 55% |4:29,400, H:30,000 30,800 26,400
EHx=mik BA¥E  [HEECHH)| JAL JAL 29,700 54% <& H:31,200 31,700 28,100
=% [RRCHE)| JAL JAL 29,400 54% |4 H:30,400 31,000 27,800
AR=m4 BA¥E  [HEECHH)| JAL JAL 30,400 54% |4 +:32,100, H:32,300 31,600 27,200
= |[EECHE)| JAL JAL 31,200 53% 434,500, £:32,100, H:33,300 33,200 26,400
BEHx=l BA¥E  [EECHH)| JAL JAL 32,100 52% |£:33,700, +:32,000, H:33,400 34,100 29,700
ARFRFD[  JAL JAL 25,600 56% |4 1:26,000 25,200 24,400
wilF  [ERERCHE)| JAL JAL 31,300 53% |4::32,000, H:34,200 33,300 29,700
ARFRFD[  JAL JAL 25,600 56% | H:26,000 25,200 24,400
HFH=dAMm BA¥E  [HEECHH)| JAL JAL 29,300 59% |:30,900, H:30,100 30,900 29,300
AT |[RECEH)| JAL JAL 29,300 59% |:30,500, H:29,700 35,100 29,300
BEHR=X% BA¥E  [EECHH)| JAL JAL 31,800 55% | H:33,000, 1:32,200 33,800 28,600
ARFRFD[  JAL JAL 28,800 52% 429,600, H:29,900 28,800 26,400
Xo% |[RERCHE)| JAL JAL 32,600 53% |4 H:33,400, 1:32,200 35,000 29,400
ARFRFD[  JAL JAL 28,400 53% 429,200, H:30,000 28,400 26,000
EHR=RIK BA¥E  [EECHH)| JAL JAL 32,600 56% |+ H:33,400 34,200 28,400
ARFRFD[  JAL JAL 29,400 56% |4::30,400, £:29,800, H:31,200 29,400 27,000
K% [RRCHE)| JAL JAL 33,200 55% |4:34,000, H:34,100 35,600 28,800
RBR (RFH)|  JAL JAL 29,400 56% 29,800, H:30,200 29,400 27,000
BEHR=EX BA¥E  [EECHH)| JAL JAL 32,000 55% |£:32,600, H:31,800 33,200 28,600
ABRFRFD[  JAL JAL 27,600 57% 428,600, £:28,000, H:28,200 27,600 26,800
HECHE) | JAL JAL 31,400 56% |4:32,600, £:29,800, H:32,200 34,200 29,000
KB (RFH|  JAL JAL 28,000 57% % 1:28200. H:28.600 28,000 27,200
EHR=EK FRECRA)| JAL JAL 30,300 57% |4 . £:31,100, H:31,500 32,300 27,600
KB (RFH | JAL JAL 29,700 54% |4 0,400, H:31,400 29,700 28,900
HECHE) | JAL JAL 32,100 55% |4 ,800, H:33,700 34,600 28,400
KB (RFH)|  JAL JAL 30,400 53% |4 0,800, H:32,000 31,200 29,600
EH=ERS RECHHE) | JAL JAL 31,400 57% | %:32,600, £:31,000, H:32,200 33,000 28,800
KB (RFH | JAL JAL 27,400 60% |4 H:28,200, :27,800 27,400 26,600
HECHE) | JAL JAL 31,800 57% 432,600, £:31,400, H:33,400 34,600 28,800
KB (RFH)|  JAL JAL 28,200 58% |1:28,600, H:29,800 28,600 27,400
BA=RE RECHHE) | JAL JTA 38,400 59% |<+:40,800 40,400 35,200
HRCHE | JTA JAL 38,400 59% | H:41,600 39,600 35,200
ZIR=/MR HACRE)| JAL JAL 26,200 53% | 1:25400, H:26,100 27,400 26,200
RECHEA)| JAL JAL 25,400 54% 26,600 25,400
ZIR=miaE RECHEA)| JAL JAL 33,100 47% 35,500 33,100
R CHED | JAL JAL 32,200 49% % 35,500 32,200
ZR=FW R CHED | JAL JAL 24,800 61% |4 26,000 24,800
R CHED | JAL JAL 24,000 63% |4 +:24,200, H:23,400 25,400 24,000
ZR=L5 FRECRA) | JAL JAL 24,400 62% |4 H:25,200 25,600 24,400
R CHED | JAL JAL 23,800 63% 425600, 1:24,400, H:24,300 25,600 23,800
ZiR=1LAFA FRECRA) | JAL JAL 27,600 60% |+:26,000, H:27,700 28,800 27,600
R CHED | JAL JAL 27,200 60% | H:27,600 28,800 27,000
ZR=HE FRECRA)| JAL JAL 30,300 54% |4 H:31,900 31,500 28,700
KBR (RFH)|  JAL JAC 22,000 64% 122,800 22,000 22,000
HE FRECRA)| JAL JAL 28,800 56% £:29,200, H:29,600 31,000 26,800
ARRFD|  JAC JAL 23,200 62% :23,600 23,200 23,200
ZR=15 R CHED | JAL JAL 28,900 54% 30,100 26,500
R CHED | JAL JAL 28,400 55% | H:28,200 29,600 26,000
ZIR==#n R CHED | JAL JAL 28,000 56% 428,300, £:27,400, H:28,800 29,200 26,400
R CHED | JAL JAL 27,800 56% 428,400 29,800 26,200
ZIR=="H R CHED | JAL JAL 31,200 52% |4 H:32,000 32,400 28,000
R CHED | JAL JAL 30,000 54% |%::33,300, H:31,700 32,000 25,200
ZiR=# FRECRA)| JAL JAL 31,700 52% |%::32,500, £:31,400, H:32,200 32,900 29,300
KBR (RFH)|  JAL JAL 23,800 60% 23,400 23,400
HRCHED | JAL JAL 30,000 54% | H:30,800 32,000 27,600
RBR (BFH]|  JAL JAL 25,000 58% 24,600 24,600
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ZR=dc M =R% |EmCEE)| JAL JAL 28,900 59% 429,700 29,700 28,900
AT |[RECEH)| JAL JAL 27,600 61% 32,200 27,600
ZR=K% SR |[RECHE)| JAL JAL 31,400 55% |4+ H:31,800 32,600 28,200
RBR (RFH)|  JAL JAL 27,400 55% | %:28,200, H:28,100 27,400 25,800
AH% |[ERCHE)| JAL JAL 31,800 54% |4 H:32,200 33,800 28,800
ZR=FI& =R% [mmCEE)| JAL JAL 31,800 56% |4+ H:33,000 33,000 27,600
ABRFRFD[  JAL JAL 28,000 50% |4:29,000, H:29,400 28,000 26,400
K% [RERCHE)| JAL JAL 30,900 58% | H:31,900 32,900 26,400
RBR (RFH)|  JAL JAL 29,200 57% 29,200 27,600
ZIR=REX =ZR% [mmCEE)| JAL JAL 30,600 57% 431,400 31,800 28,200
KB (RFH|  JAL JAL 25,800 61% |4 H:26,400 25,800 25,800
AR ([RERH)| JAL JAL 30,200 57% |+:29,600, H:31,000 32,600 26,600
RBR (RFH|  JAL JAL 27,500 58% |4 1:27,600, H:27,000 27,500 27,500
ZR=El& =R% [mmCEE)| JAL JAL 29,900 58% |4::32,400 31,100 27,200
KBR (RFH|  JAL JAL 27,900 58% |4::30,300, H:29,600 27,900 27,900
BEE |RRERCHHE)| JAL JAL 31,700 55% 31,400, H:32,500 33,400 28,000
KB (RFH)|  JAL JAL 28,200 57% 428,600, £:29,400, H:29,100 29,000 28,200
ZR=ERS =ZR% [mmCEE)| JAL JAL 31,000 57% 431,400, £:30,600 32,200 28,200
ABRFRFD[  JAL JAL 25,600 63% | H:26,400 25,600 25,600
BRSH% |EECHH)| JAL JAL 31,000 57% | H:31,400 33,000 26,800
KB (RFH)|  JAL JAL 26,800 61% | +:27,600 27,200 26,800
ZR=R1E =R% |[mmCEE)| JAL JTA 38,000 59% |4 1:40,400 39,200 34,800
AIEH |[RRCHE)| JTA JAL 38,000 59% | H:40,400 39,200 34,800
BEA=/ML FOEF  [RFECHHE)| JAL JAL 24,800 51% |:26,100, H:25,900 24,800 24,800
MRFE [RRCHE)| JAL JAL 24,800 51% |4 H:26,500, 1:25,200 24,800 24,800
MHE=FiaE FUEF [RFECHHE)| JAL JAL 30,400 48% € +:31,200, H:29,900 31,500 30,400
FaftEES |RECHE)|  JAL JAL 28,400 51% |4 +:29,200, H:29,700 31,500 28,400
FE=MRL FOEF  [RFECHHE)| JAL JAL 24,200 59% |:25,000, H:24,600 24,200 24,200
fELFE  [RFCHE)| JAL JAL 23,800 60% |4 H:24,600, 1:24,800 23,800 23,800
ME=L5 FOEF  [RFECHHE)| JAL JAL 25,700 57% |%:26,200, H:25,800 25,700 25,700
L% |[HERCHE)| JAL JAL 24,900 58% |4:25400, £:25,700, H:25,900 24,900 24,900
ME=LOFEH FOEF  [RFECHHE)| JAL JAL 27,400 57% |£:27,800, H:27,500 27,400 26,200
WOFEHE |RECHAHE) |  JAL JAL 25,600 60% |% +:25,800, H:26,700 26,200 25,600
ME=HE BEF [EZECHH)| JAL JAL 28,900 52% |< H:31,500 29,700 27,300
ARRFRFD[  JAL JAC 26,800 52% 427,200, £:26,600, H:24,000 27,400 26,000
HEX [EZRCHHE)| JAL JAL 30,200 50% |4+ H:31,500 30,200 28,600
ARRFD|  JAC JAL 23,200 58% |4:24,200, H:23,600 23,200 22,400
ME=ES FUEF  [RFECHHE)| JAL JAL 28,700 51% |£:29,100 28,700 26,300
mEH |[HRCHE| JAL JAL 27,600 53% |4:28,400, £:28,200, H:29,000 27,800 25,200
ME=Fh FOEF  [RECHHE)| JAL JAL 27,900 52% |£:30,200, H:29,800 27,900 26,300
=% [RRCHE| JAL JAL 27,600 53% 428,900, £:29,300, H:28,600 28,000 26,000
ME=" FOEF  [RECHHE)| JAL JAL 29,800 51% |%:32,200, H:31,800 29,800 26,600
=AM |[ERCHE)| JAL JAL 30,600 49% |%:33500, + H:32,300 30,600 25,800
FE=#L BEF [EECHH)| JAL JAL 30,300 50% |£:32,700, +:30,000, H:32,000 30,300 27,900
KB (RFH|  JAL JAL 23,800 56% |4 1:24,200, H:25,000 24,000 22,600
Wil [RRERCHE)| JAL JAL 30,700 50% |%:31,600, £:31,500, H:33,200 30,700 29,100
RBR (RFH|  JAL JAL 23,800 56% |4:24,400, £:24,000, H:24,200 23,400 22,600
FE =L FOEF  [RFECHHE)| JAL JAL 27,500 58% |£:29,100, H:28,700 28,300 27,500
JEhmFE |[RECEH)| JAL JAL 28,700 56% |4 +:29,500 33,000 28,700
ME=X% BEF  [EZECHH)| JAL JAL 30,400 53% |£:32,000, + H:31,600 30,400 27,200
KB (RFH) | JAL JAL 26,200 54% |4 +:27,000 26,800 23,800
Xo% |[RERCHE)| JAL JAL 31,600 51% |4 H:32,400, £:31,200 32,000 28,400
RBR (RFH)|  JAL JAL 26,600 53% 428,000, H:28,200 26,600 24,200
MHE=RIE BEF [EECHH)| JAL JAL 31,600 53% |4 +:32,800, H:32,300 31,600 27,400
KB (RFH) | JAL JAL 27,200 57% % 1:28,000, H:27,900 27,800 24,800
K% [RRCHE)| JAL JAL 32,200 53% |%::33,000, £:31,400, H:33,100 32,600 27,800
RBR (RFH)|  JAL JAL 27,800 56% |4 1:28200. H:28400 27,800 25,400
ME=FX FUEF  [RFECHHE)| JAL JAL 30,400 54% |£:31,200, H:30,000 30,400 28,000
A% [ERCHHE)| JAL JAL 30,400 54% 431,600, £:30,800, H:31,200 31,200 28,000
RBR (RFH)|  JAL JAL 26,200 57% |%:27,000, £:26,600, H:26,800 26,200 25,400
ME==I BEF [EECHH)| JAL JAL 29,700 55% |£:32,600, H:30,500 30,500 27,000
KBR (RFH)|  JAL JAL 28,600 53% | 4:30,700, £:30,400. H:30,300 29,200 27,800
BIEFE |[EZECHE)| JAL JAL 31,500 52% |4:32,100, £:30,200, H:32,700 32,100 27,400
RBR (RFH)|  JAL JAL 28,600 53% |4::30,000, £:29,000, H:30,200 29,400 27,800
MHE=FERS BEF [EECHH)| JAL JAL 30,400 55% | £:31,200 30,400 28,200
RBR (RFH)|  JAL JAL 26,400 59% |4:27,200, £:26,000, H:28,400 27,000 25,600
BREX [HZECRA)| JAL JAL 30,800 55% | 4:31,600, £:31,200, H:32,400 31,600 27,800
RBR (RFH)|  JAL JAL 26,400 59% |%:27,000, £:26,800, H:28,000 26,800 25,600
MEH=R1E FOEF  [RFECHHE)| JAL JTA 37,800 57% |%+:40,200, H:37,300 37,800 34,600
AiEH |[RRCHE)| JTA JAL 36,600 59% | H:39,500 36,600 33,400
EE=HE EEFE [ KBRUFFD| JAL JAC 28,600 50% |4 28,600 28,600
HE KRUFRFD[  JAC JAL 31,800 45% |3 31,800 31,800
e =l EEFK [ KERUFFD| JAL JAL 32,600 42% |3 32,100 32,100
Mg [ RKERAEFFD| JAL JAL 32,900 42% % H:34,100 32,500 32,500
EE=X% EEFE [ KRUFFD| JAL JAL 32,400 45% |&+ H:33,800 32,400 30,600
An% | RRUEFFD| JAL JAL 32,800 44% |%:33,800, 1:33,300, H:34,200 32,800 31,000
EE=RIA | fEEH% | KERUFFD| JAL JAL 36,700 44% € +:38,500, H:38,000 36,700 34,900
RIEF | KIREEFD|  JAL JAL 33,500 49%  |£:34,000, H:34,400 34,000 31,700
TEE=REX EEFE [ KERUEFFD| JAL JAL 31,900 49% € H:33,500, 1:32,800 31,900 31,900
REARFE [ KBRUFFD| JAL JAL 32,300 49% £ H:32,600 32,300 32,300
EE=2Ik EEFK [ KBRUFFD| JAL JAL 36,100 43% |%:41,500, H:40,200 36,100 36,100
=] JAL JAC 34,200 51% 34,200 34,200
EER | KREEFD|  JAL JAL 35,000 45%  |%:36,000, 1:36,600, H:36,500 35,900 35,000
=] JAC JAL 34,200 51% 34,200 34,200
EE=ERS EEFK [ KERUFFD| JAL JAL 34,800 48%  |%:36,300, 1:35,800, H:36,800 34,800 34,800
BREH¥ | KRR JAL JAL 35,300 47% | H:35:800 35,800 35,300
IR Wifz%  |RECHE)| JAL JAL 23,600 47% |%:24,100, H:24,000 24,300 23,600
% [RRCHE)|  JAL JAL 24,100 46% £ H:25,000 24,800 24,100
Wi =Ha Wifiz%  |[RRECHE)| JAL JAL 22,900 57% 23,600 22,900
RS |RRCHE)| JAL JAL 21,800 59% 23,400 21,800
IR =155 | W%  [EECHE)| JAL JAL 24,600 54% | H:23,700 25,300 24,600
L% |[RRCHE)| JAL JAL 22,300 58% 424,100, £:23,000, H:22,800 23,700 22,300
Wz=A=Fa | kR  |BEECHHE)| JAL JAL 26,600 53% 27,300 23,800
WOFEHE |RECHAHE) | JAL JAL 25,900 55% |4 1:26,100, H:26,600 27,300 25,900
W =HZE W% |[RECHHE)| JAL JAL 28,100 48% 28,800 26,300
KB (RFH|  JAL JAC 25,700 53% 25,700 25,700
HEX [EZRCHHE)| JAL JAL 27,800 49% |2 +:28,300, H:28,700 29,700 25,600
ARURFD|[  JAC JAL 26,100 52% |%::30,000, £:27,700, H:26,800 26,100 26,100
Wk =#5 W% |BRECHHE)| JAL JAL 28,000 46% | H:27,600 28,700 25,300
mEH |[RRCHE)| JAL JAL 27,200 48% | H:27,800 28,200 24,500
== W% |BRECHHE)| JAL JAL 26,300 50% |+ H:26,800 27,000 24,500
=% |[ERCHAE)| JAL JAL 26,800 49% |%:27,400 28,400 25,000
Wik ==40 W% |BRECHHE)| JAL JAL 29,300 46% |£:30,200, H:29,900 30,000 24,600
maE  [ERGIHE)| JAL JAL 29,300 46% |%:32,500, H:31,200 30,900 23,900
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LAz =HA1l W% |[RECHHE)| JAL JAL 27,500 50% |4 H:28,400 28,200 25,700
RBR (RFH|  JAL JAL 26,800 50% 26,400 26,400
Wil [RRERCHE)| JAL JAL 29,700 46% |%:30,200, 1:29,300, H:32,100 30,900 26,600
ABRFRFD[  JAL JAL 26,800 50% |4:30,200, £:29,300, H:29,100 26,400 26,400
Wiz =4t W% |[RRECHE)| JAL JAL 26,100 56% 28,300 26,100
AT |[RECEH)| JAL JAL 26,100 56% |+ 31,100 26,100
Wik =X%5 W% |["RECHHE)| JAL JAL 29,900 49% |4 30,600 26,300
RBR (RFH|  JAL JAL 30,900 44% |3 30,900 29,100
KoF [HEECHH)| JAL JAL 31,300 46% |3 , 32,900 25,600
ABRRFD[  JAL JAL 29,900 46% |%:33,400, +:32,900, H:31,100 29,900 28,100
Lz = R W% |[RECHHE)| JAL JAL 31,300 49% £+ H:32,600 32,000 26,500
ABRFRFD[  JAL JAL 31,500 49% |%:32,700, H:33,100 31,500 29,700
K% [RERCHE)| JAL JAL 32,300 47% | H:32,500 33,500 27,400
ABRRFD[  JAL JAL 31,500 49% |%:34,500, 1:33,600, H:34,300 31,500 29,700
LAz =REA W% |[mRECHHE)| JAL JAL 29,900 50% | H:28,700 30,600 27,200
ABRFRFD[  JAL JAL 29,000 52% |4 H:29,700 29,000 29,000
AR ([RRERH)| JAL JAL 29,500 50% 28,700, H:30,400 31,500 25,400
ABRURFD[  JAL JAL 29,600 51% |#:33,100, £:32,200, H:31,500 29,600 29,600
L =25 W% |[mRECHHE)| JAL JAL 28,600 52% |4 +:29,100 29,300 26,100
KRR FRFD[  JAL JAL 32,200 46% |%:36,100, :33,800, H:34,600 32,200 32,200
BEE |RERCHHE)| JAL JAL 31,200 47% 30,800, H:32,100 32,400 26,900
ABRFRFD[  JAL JAL 32,100 46% |%:36,500, 1:34,300, H:34,200 33,000 32,100
W =ERS W% |[RECHHE)| JAL JAL 29,900 51% | H:29,200 30,600 27,400
ABRFRFD[  JAL JAL 29,700 53% 432,100, £:29,900, H:31,300 29,700 29,700
BREH |[HECHH)| JAL JAL 29,900 51% 29,600, H:30,800 32,000 25,600
ABRFRFD[  JAL JAL 29,700 53% |%:33,100, £:32,200, H:31,300 30,200 29,700
I =Fh1E W% |[RRECHE)| JAL JTA 38,300 53% |4 1:41,000 39,000 34,700
AIEH |[RRCHE)| JTA JAL 38,200 53% | H:41,000 39,000 34,700
E=HZE EFK [ KERUEFFD| JAL JAC 25,900 51% |£:28,300, +:27,200, H:24,400 25,900 24,900
HE KB (RFH) | JAC JAL 25,600 52% |< H:27,300, 1:26,000 25,600 24,800
s =#xl EFK [ KERUEFFD| JAL JAL 24,800 52% |% +:26,500, H:25,400 24,400 23,600
NLFE [ KBR(RFD|  JAL JAL 23,800 54% |4 H:25500, 1:24,400 23,400 22,600
E=xX% EFE [ KERUFFD| JAL JAL 27,100 50% | H:29,700, 1:28,900 27,100 24,700
KaF |[KERUFFD| JAL JAL 27,000 50% |£:29,500, 1 27,800 24,600
s =Rix EFK [KERUEFFD| JAL JAL 28,100 54% |£:30,500. 28,100 25,700
R | RKRAFFD| JAL JAL 27,200 55% | 4:29,700, +:28,600, H:30,300 27,600 24,800
s =r=X EFE [ KERUFFD| JAL JAL 26,500 55% |4 +:27,900, H:28,000 26,500 25,700
AR | KRUEFFD| JAL JAL 27,200 54% |%::28,600, £:27,000, H:28,900 27,200 26,400
E==i hEFK [KERUEFFD| JAL JAL 29,600 50% |£:33,000, +:32,700, H:31,800 29,600 28,800
EiEF | KRAERFD|  JAL JAL 29,300 50% | H:31,500, 1:30,300 30,100 28,500
WE=ERS iEF [ KERUFFD| JAL JAL 28,600 54% | +:29,500, H:29,900 28,600 27,800
BREH |KRURFD| JAL JAL 26,800 57% |£:29,200, +:28,000, H:30,100 26,800 26,000
FR=HE #FinFE [ KBRUFFD| JAL JAC 24,600 52% | %:25,100, £:26,300, H:23.600 24,600 24,600
HE KRUFRFD|  JAC JAL 25,600 50% |4:26,000, 1:24,800, H:25,100 25,600 25,600
Fim=Hl FEFE | RKRUEFFD| JAL JAL 23,800 53% 23,400 23,400
MLFE [ RKERAEFFD| JAL JAL 23,800 53% |4:24,200, 1:23,400, H:24,700 23,400 23,400
FR=X% #FinFE [ KBRUFFD| JAL JAL 25,400 52% | £:26,600, £:26,800. H:27.300 25,400 23,800
AaF |[KERUFFD| JAL JAL 27,000 49% | £:28200, 1:26,200, H:29,000 27,800 25,400
FiR=RIK #FinFE [ KBRUFFD| JAL JAL 27,200 54% |&+:27,600, H:28,600 27,200 25,600
R | RKRUFFD| JAL JAL 27,200 54% 428,400, £:27,600, H:29,500 27,600 25,600
FiR=REX #FimFE [ KBRUFFD| JAL JAL 23,800 58% | £:24,800, +:25200, H:25,600 23,800 23,800
REARFE [ KBRUFFD| JAL JAL 25,500 55% |4 1:26,000, H:25,200 25,500 25,500
FR== #FinFE [ KBRUFFD| JAL JAL 28,600 50% |£+:30,000, H:28,800 28,600 28,600
=IE%E | RBERUFFD|  JAL JAL 29,300 49% |%:30,200, 1:28,500, H:30,700 30,100 29,300
FR=ERS #FinFE [ KBRUFFD| JAL JAL 25,600 57% | < H:26,000 25,600 25,600
BREH | KRR JAL JAL 28,400 53% | £:28,800, +:27,200, H:28,900 28,400 28,400
A= % [RRCHE)| JAL JAL 24,400 57% |4 H:25,300, 1:23,600 24,400 24,400
FELF [RFECHE)| JAL JAL 24,600 56% |4:24,800, 1:23,400, H:24,700 24,600 24,600
INR=IEE MAFE [HRFECHE)|  JAL JAL 24,700 57% |% H:25,700, 1:24,900 24,700 24,700
LES% |[HRRCHE)| JAL JAL 25,800 55% 426,700, 1:24,300, H:26,500 25,800 25,800
MR=ILAFER MAF  [HRFECHE)| JAL JAL 27,200 55% |:28,900, H:28,100 27,200 24,800
WOFEHE |RECHHE) |  JAL JAL 26,400 57% |£:26,800, H:27,100 26,800 26,200
IMA=HE MAFE [RFECHE)| JAL JAL 29,900 48% £ H:31,000 29,900 28,300
HE R CHED | JAL JAL 30,600 47% %+ H:31,000 30,600 29,000
IMNA=TES MAFE [ERFECHE)|  JAL JAL 28,500 49% € H:29,000 28,500 26,100
BmER |[RR(EH)| JAL JAL 28,600 49% | +:27,800. H:29,000 28,800 26,200
M= % [RRCHE)| JAL JAL 28,900 48% & 28,900 27,300
=% [RRCHE)| JAL JAL 28,800 48% |&H: 29,000 27,200
IMA=TF MaFE  [RRCHE)| JAL JAL 29,600 49% % H:31,000. 1 29,600 25,500
=A% |[ERCHE)| JAL JAL 30,800 47% %+ H:31,000 30,800 26,000
IMR=HL MAFE [ERFECHE)|  JAL JAL 31,300 46% | € H:31,500, 1:31,000 31,300 28,900
MlF  [RERCHE)| JAL JAL 30,800 47% % H:31,500, £:31,100 31,200 28,800
AN =L T % [RRCHE)| JAL JAL 28,500 55% |4:30,200, H:29,400 27,300 28,500
AT [RECEH)| JAL JAL 28,100 55% |:29,400, H:28,800 32,500 28,100
IMNR=K5 % [RRCHE)| JAL JAL 29,400 53% 431,200, £:30,800, H:30,500 29,400 26,400
An% |[ERCHE)| JAL JAL 32,000 48% |%:32,300, 1:31,000, H:32,500 32,400 28,800
IMR=RIG MAFE [ERFECHE)| JAL JAL 30,600 53% | H:32,500, :32,000 30,600 26,400
Rig% [RR(EH)| JAL JAL 33,200 49% | +:32,400 33,600 28,800
INR=FER % [RECHE)| JAL JAL 29,400 53% |4:31,900, £:30,600, H:31,100 29,400 27,000
BEA% |[FRCHE| JAL JAL 31,400 50% |%:31,800 9,600, H:31,300 32,200 29,000
INR=TEIE % [RRCHE)| JAL JAL 30,700 51% 433,300, £:29,500, H:31,600 30,700 28,400
BIE%E |RRECHAE)| JAL JAL 31,900 49% |%:32,000, 1:30,600, H:32,800 32,500 27,800
IME=ERS MAF  [RFECHE) | JAL JAL 29,400 55% | H:31,100, 1:29,600 29,400 26,000
BREX |[RECHAH)| JAL JAL 31,800 51% | 32,600 28,800
IMA=EH | /aze  [EBERER)| JTA |JTA/RAC 25,300 59% |4 26,100 24,500
Ea% P48 (%) [UTA/RAC]  JTA 29,200 53% |4 29,200 27,600
IMA=F1E MAFE [mRmECRE)| JAL JTA 36,800 57% |4 36,800 33,600
SR (R®B) | JTA [JTA/RAC 26,300 61% |4 27,100 25,500
RiEH [RRGH)| JTA JAL 37,200 57% |%:37,600, H:39,900 37,200 34,000
48 (%) [JTA/RAC]  JTA 27,100 60% |4+ H:26,300 27,100 25,500
== ] L 5 hHB(IF) | JTA |JTA/RAC 27,500 50% |4 ,900 27,500 25,900
Ea% |48 (%) [JTA/RAC]  JTA 27,500 50% | H:29,900 27,500 25,900
[ITEE=EE ] L 5 hHB(IBF) | JTA |JTA/RAC 28,700 53% |&+:31,100 28,700 27,100
AiEH |8 GEE) [JTA/RAC]  JTA 28,700 53% | H:31,100 28,700 27,100
BAH== EEFE [l JAC JAC 21,600 55% 21,600 21,600
EGE [l JAC JAC 21,600 55% 21,600 21,600
BEEXRE=5# |EEXES | HKkBEH | JAC JAC 19,150 29% 19,150 19,150
Sim% Ak EE | JAC JAC 19,150 29% 19,150 19,150
BEERB=TKRE| EEXER 55 JAC JAC 17,400 41% 17,400 17,400
ok RERF 55 JAC JAC 17,400 41% 17,400 17,400
PR (RER) =FFHF PR ENE) R BRE CHE) [JAL/JTA]  JAL 35,600 53% | < H:36,400 37,600 32,400
KBR (RFH)|  JAL JAL 30,700 59% 30,300, H:33,100 30,700 29,100
EHRE [EE@HE)| AL [JAL/JTA 35,600 53% | 4:38,000, H:34,600 36,800 32,400
KRFFD[  JAL JAL 32,600 57% |4 +:35400, H:32,200 32,600 31,000

JAL/JTA/JAC/RAC
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RED | RE@ i
s (RE) ==IR R CREA) [JAL/JTA]  JAL 34,600 54% 35,800 31,500
R¥E [RRCRAE)| JAL [JAL/JTA 31,400 58% | H:31,800 32,600 30,000
PR (BRER) =FNE |48 (INER) F | R CRE) [JAL/JTA[  JAL 34,600 50% | H:35,400, 1:33,800 34,600 31,400
RBR (RFH)|  JAL JAL 28,900 60% |%:29,500, F:28,500, H:31,300 28,900 27,300
WHEE [RRCAE)| JAL [JAL/JTA 35,000 50% |#:37,000, H:33,300 35,000 31,800
KBR (RFH) | JAL JAL 30,800 57% |4 +:33,600, H:30,400 31,400 29,200
PR (RER) =1E% PR (VB | KR (BFD | JAL JAL 31,500 57% | H:33,500 31,500 30,700
=] JTA JAL 37,200 52% |4 1:38,200 37,200 37,200
EEFK [ KBRUFFD| JAL JAL 36,200 51% |4 +:39,800 36,200 35,400
12 JAL JTA 37,400 51% |4 H:38,600, 1:37,000 37,400 37,400
PR (BRER) =1L |48 (IRER) F | B CRIE) [JAL/JTA[  JAL 30,600 52% 31,200 27,500
KB (RFH) | JAL JAL 28,900 59% |%::31,900, H:35,100 28,900 28,100
W%  ["RERGIE)| JAL [JAL/JTA 31,200 51% | H:30,000 31,800 28,000
RBR (RFH) | JAL JAL 30,800 56% |4 1:33,200, H:30,200 30,800 30,000
PR (ERER) =LA | (B | KR (BFD | JAL JAL 22,600 67% | H:26,600 22,600 22,600
=] JTA JAL 23,100 69% | H:25,800 23,100 23,100
EFK  [KBRUFFD| JAL JAL 21,800 69% |4 +:25800 21,800 21,800
12 JAL JTA 23,100 69% % 1:25800, H:22,700 23,100 23,100
SRR (BRER) =/ |h$8 GIRER) 5| B CRIE) [JAL/JTA[  JAL 35,600 47% | +:34,800, H:35,500 35,600 32,400
NAFE [RECRE)| JAL [JAL/JTA 32,800 51% 437,300, £:34,200, H:33,900 32,800 29,600
RS == PGB R EE JTA JAC 29,800 46% |%:30,600, H:30,800 29,800 29,800
EEFE e JAC JTA 28,600 48% % H:29,800, £:29,000 28,600 28,600
SRR (ERE) =L PEGRE) | BE JTA JAC 27,400 48% 27,400 27,400
[ANTIES [ JAC JTA 27,400 48% 27,400 27,400
R (HE) =[R2 |RRCHAA) | XREFFD| JAL JAL 24,900 47% | A% £:25700 24,900 23,000
HE JAL JAC 24,400 47% |%:24,900, 1:24,800 24,400 22,800
fRukF [ KBRUFFD| JAL JAL 24,100 49% | H:24,500 24,900 22,200
] JAC JAL 24,600 46% |2 1:25000, H:25400 25,600 22,600
R (HE) =&8ZXE|RRACHE)%| ERS JAL JAC 33,100 50% |4+ H:33,300 33,100 30,300
KBR (RFH)|  JAL JAL 40,600 36% |t:41,100, H:39,700 40,600 40,600
BEXER | ERE JAC JAL 34,900 47% | +:34,000, H:35,800 35,400 31,100
KBR (BFH)|  JAL JAL 40,600 36% 441,800, H:41,500 41,100 40,600
RRCPAR) =ERS|RR(FE)%| BRE JAL JAC 39,400 40% | H:38,700 39,400 36,900
EEXS [ JAL JAC 43,450 25% — 43,450
ERER BRS JAC JAL 40,300 38%  |+:39,400, H:41,200 40,800 36,500
EEXE [ JAC JAL 43,450 25% — 43,450
RRCPAR) =BzB8|RRCAE)%| BRE JAL JAC 41,400 41% € +:42,300, H:42,000 41,400 39,200
EEXS [ JAL JAC 45,400 26% — 45,400
BeBER BRS JAC JAL 43,200 38% |+:42,800, H:44,100 43,700 39,400
EEXE [ JAC JAL 45,400 26% — 45,400
R (CHE) =Kk RHM|RACHR #| BRS JAL JAC 42,100 40% |%:42,800, 1:43,000, H:43,400 42,100 40,600
MKREE | BREE JAC JAL 44,600 37% |+:44,200, H:45,500 45,500 41,200
EEXE [ JAC JAL 46,450 29% 46,450 46,450
RROHE) =5 [RECRR)%| BRS JAL JAC 43,000 40% € +:43,900, H:42,500 43,000 41,700
Bim% BRS JAC JAL 45,700 37% |+:44,800, H:46,600 46,600 42,300
EEXE [ JAC JAL 46,800 31% 46,800 46,800
KRR =&ZXE|XBRUFDHE| BERS JAL JAC 28,100 48% | H:27,700 28,100 28,100
BEEAEX | BERE JAC JAL 28,300 48% | +:28,100, H:28,200 28,600 28,300
KR (R =ER5| KRG E|_EBES JAL JAC 31,300 41% £ H:31,800 31,300 31,300
EEXS | JAL JAC 37,200 22% 37,200 37,200
ERER BRS JAC JAL 34,500 35% |+ H:34,000 34,500 34,500
EEXE [ JAC JAL 37,200 22% 37,200 37,200
KR () =@z 8| KR(FFDE|_EBES JAL JAC 34,200 41% € +:34,700, H:35,100 34,200 34,200
EEXS | JAL JAC 40,300 22% 40,300 40,300
BeBER BRS JAC JAL 35,100 39% |£:35,700, +:36,000, H:36,500 35,600 35,100
EEXE [ JAC JAL 40,300 22% 40,300 40,300
KIR (7 =ik RER | KBR (FFD | ERE JAL JAC 35,600 39% |4 +:36,100, H:36,500 35,600 35,600
MKREE | BRE JAC JAL 38,800 34% |+ H:38,300 38,800 38,800
EEXE [ JAC JAL 41,150 25% 41,150 41,150
KR () =5 [ ABR(B%| BERS JAL JAC 39,400 34% | H:39,000 39,400 39,400
Bim% BERS JAC JAL 39,900 34% |+ H:39,400 39,900 39,900
EEXE [ JAC JAL 41,550 28% 41,550 41,550
[ SEPNE] 128 7 BREE JAC JAC 22,600 51% |+ H:20,000 22,600 22,600
BEBEAER | BERE JAC JAC 23,100 50% |+ H:20,500 23,100 23,100
RBE=ERS [EEES BRE JAC JAC 28,500 37% |+ H:25900 28,500 28,500
EEXE [ JAC JAC 31,750 28% 31,750 31,750
ERER BRS JAC JAC 28,500 37% |+ H:25900 28,500 28,500
EEXE [ JAC JAC 31,750 28% 31,750 31,750
BE=1E28 [EEES BRE JAC JAC 31,400 37% |+ H:28,800 31,400 31,400
EEXE | JAC JAC 31,850 33% 31,850 31,850
BEeBER BRS JAC JAC 31,400 37% |+ H:28,800 31,400 31,400
EEXE | JAC JAC 31,850 33% 31,850 31,850
12 =k RAR [EEES BREE JAC JAC 32,800 35% |+ H:30,200 32,800 32,800
HKREE | BRE JAC JAC 32,800 35% |+ H:30,200 32,800 32,800
EEXE | JAC JAC 33,400 35% 33,400 33,400
1B =5 [ BREE JAC JAC 33,800 35% |+ H:31,300 33,800 33,800
Bim% BERE JAC JAC 33,800 35% |+ H:31,300 33,800 33,800
EEXE | JAC JAC 33,800 37% 33,800 33,800
RRCPABR) =5E|RRCHAE)%| #HIE JTA RAC 33,700 54% | +:36,700 36,700 29,300
EMEH [F#EGEH)| RAC [JAL/JTA 36,200 53% 36,200 31,300
AiE RAC JTA 33,300 55% | H:36,300 33,300 29,300
AP =5RE| EMEFE [H#FBH)| RAC JAL 32,400 54% | H:35,600 32,400 29,800
A (B#E) =530 | ABr (BIFE) |  FiE JTA RAC 27,500 56% |&1:29,700, H:27,300 27,500 25,900
EMER [H#GH)| RAC JTA 32,400 54% | H:35,600 32,400 29,800
RiE RAC JTA 27,500 56% | H:30,500 27,500 25,900
£HE(RE=5ME| SIMEF [HEEH)| RAC JTA 36,800 50% |4:36,000, £:35,200, H:38,000 36,800 33,400
120 = 5 ARE S5MEFR | 4#EGRHEH) | RAC JTA 28,400 55% |£:29,200, H:29,400 28,400 26,600
HHE () =5 ME h#E (RIS FIE [ITA/RAC| RAC 18,000 51% 18,000 15,700
E5BER | FHiE RAC _[JTA/RAC 18,000 51% 18,000 15,700
RRCRR) =AXE|RECHE) %4 JAL/JTA[JTA/RAC 29,500 47% | H:28,300 29,500 26,300
AKEH JTA/RAC|JAL/JTA 29,500 47% 29,500 26,700
KB () = AKX B | KPR (RFD) % JAL _|JTA/RAG 25,100 48% £ +:27,900 25,100 24,300
AXEFH JTA/RAC| JAL 25,100 48% | H:28,300 25,100 24,300
KBx (BA7E) = AX 5| APk (BFE) % JTA _|JTA/RAG 25,100 48% & +:27,900 25,100 24,300
AKEH JTA/RAC| JTA 25,100 48% | H:28,300 25,100 24,300
ZEHE (D) =AXB|£EE(PE) % JTA _|JTA/RAG 27,900 47% [£:30,700, £:29,300 27,900 26,300
AKEHE JTA/RAC| JTA 29,200 45% |%:28,700, :27,900, H:30,700 29,200 27,200
BE=AXE BE%E [EERH)| JTA [JTA/RAC 21,300 49% € +:21,900, H:20,700 21,300 21,300
AXEH [ FE;) [JTA/RAC] JTA 21,100 50% | %:22,500, H:22,100 21,100 21,100
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